¢

—]

WeChat

PO1.

arachl
Machine Tools Price

Linkedin

E-mail:eva@mzgtool.cn

CkaHepney, bannaHbicy

Scanning, Contact Us

Kap6uaTik dppesepnbl keckil
Carbide Milling Cutter

nT—

P 1 6 ChIpTkbl LUAUHAPNIK / lWwki TecikTepai 6ypan Tecy kypan
* External Cylindrical/Inner Hole TyTkaHbl 6ypy kypani3m

P O 2 LlemeHTTenreH kapbuaTik KeckiLl E

Cemented Carbide Cutter

Kbicy / kecyni 6ypay kypansl
P 1 7 * Grooving/Cut-Off Turning Tool ’

P O BKCTpyuuns GypaHaachl TYiMECiH TYpTiHi3 i e — P 1 8AF|KTaJ'IFaH 6eT / lwki Tecik TinikTepai 6ypay kypansl #
. Extrusion Screw Tap * EndFace/lnner Hole TyTkaHbl 6ypy kypanbl

P04 AnNeKcTi TYpTiHi3 o P 1 9 CNC 6ypay kypanbl 7.
. e * CNC Turning Tool ;

Apex Tap

P 0 5 Cnupanbgi rpaButaumnsinaHFaH kpaH
= Spiral Grooved Tap

CNC THOHUHT Kypanbl 6enikTepd # s
PZO CNC Turning Tool Parts Ff; /V

P0G.

KonmeH TypTy / WeHOEPAIH oNiMi e

Hand Tap/Circular Die

P2 1 BAP OH xakK OypbILTbIK KECKill KeCKiLl ﬁa é
BAP oH aK OYpbILTbIK KECKilLll KeCKi L —

PO7.

s ccwmT.

CNMG..

_—
P2 2’IaL|.|V|HameH KanTanfaH AeHrenek MypbiH KeCKilll Ke Gyl <
* Machine-Clamped Round Nose Milling Cutter s

P08.

, DCMT..

DNMG..

P23 !(MQ.. SEHT.. &:39.. P3200..

P09.

u SCMT..

SNMG..

P24 TicTi ycTaywbl Kypansl ¥ Kelnaam enxei-Terkeiin KipicT]
" Locking Tooth Type Cutte Insert Type Quick Drill

P10.

TNMG..

TericTey Kypansi o7 H& 'i
P25 Boring Tool 4 T ﬁf'f‘e\r

DY

P11.

VNMG..

P26 Teckiw Kypan yctayubl $
* Boring Tool Holder

P12.

WNMG..

P27. ER. . @ ‘FMA/B.. l

P13.

TyTkaHbl Bypay Kypansl
Thread Turning Tool

&

P14.

KiwkeHe GenikTepai kecy / kecy g “I
Cut-Off/Grooving/Back Turning Of Small Parts

- ¥ e
P 2 9 CNC Kypanbl MeCiHiH akceccyapnaphbl % g
* CNC Tool HolderAccessories E

P15.

ChbIpTKbl LUNUHAPNIK OMbIKTapAbl 6ypfbinay Kyparnbl
External Uunuuapnik onbik Turning Tool

LlaHbiWwKak akceccyapnapbl ;..“.-
P30 Lathe Chuck Accessories nb @ w

Kacibu bypay, dbpesepney, Terictey xaHe bypfbinay TeCiKTepPiH eHAeY Kypanbl KOHPUTrypauuscol.
P rofessional Turnin

Milling, Threadingiand.Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

KapbuaTik ppeseprnbl Keckill

Carbide Milling Cutter

Kapa xabbiHgbinap kecinegi | Mw c x a w s nlJeicw k e cineai Hawo-[lapaxaGoHaaps kecineal Hawo mecre xa 6ylla6onaau | Nano BluexabbiHaapbl MyMKiH
Bonat TemeH 45HRC Bonart Temen 55HRC Bonart Temen 58HRC Bonat TemeH 60HRC Kecertin 6onat Temenae 65HRC
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
L1 L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R ~R R R R
ess—— G A WALA
Pt EN N | f ; h & 5
‘ A A
Vounans spmvpn Gametum !
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
1. 5x4xD4x50  |RO. 75x3xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 S| 5.7 5.7
2. 5x8xD4x50  |R1. 25x5xD4x50 201256 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
3. 0x8xD3x50  |R1. 5x6xD3x50 20| 2.6 2.7 | 3.1 4.6 5.1 5.1 57|57
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 139 441 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 | 4.4 50( 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 20 2.6 2.7 3.1 4.6 5.1 5.1 5.7 5.7
3. 5x10xD4x50 |R1. 75x7xD4x50 20126 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.712.6]1 341273114944 46] 6.0 6 6.7 5161|5651 [61]57]|57]|76
4. 0x20xD4x75 |R2. 0x8xD4x75 22913.6|50[44]51] 61 711 7.9 66816781 7.7|7.7]8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.3141)164]150)5.4]|77 7.6 1 9.0 7.8 19.117.9(19.1]18.7]8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 147 6947|5677 8.1(9.3 9.5 [11.6( 9.6 [11.6[10.7]10.7(12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5361 7.7(7.4(81(91 11.3113.5 13.0113.0]14.7
5. 0x13xD5x100 [R2. 5x10xD5x100 | 6.6 | 7.6 [ 11.0[ 8.9 | 9.6 | 11.1 13.0(15.7 15.3116.3|17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143)6.4]|147)157]|8.4 8.1[19.3 9.5 111.6] 9.6 111.6[10.7]10.7]12.3
6. 0x15xD6x50 |R3. 0x12xDéx50 3.1 4.3 (6.4 47 (57|84 7.4]8.1 9.3]19.4110.5( 9.5 [11.6] 9.6 |11.6]10.7[10.7(12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 4.9 (56| 7.1(7.4(8.1([10.0 11.1(12.4 11.4(13.6(11.4(13.6[13.0|13.0(14.7
6. 0x30xD6x100 |R3. 0x12xD6x100 | 6.0 | 7.0 | 10.3| 8.9 | 9.6 | 11.4 13.6(15.0 13.4116.3]113.4116.3(15.3|15.3|17.3
6. 0x30xD6x150 [R3. 0x12xD6x150 | 12.3 | 14.3[18.7[18.7[19.9]23.4 27.6 26.5 26. 6 26.3126.3]129.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5.9 7.6 [10.4( 8.4 [10.0(13.3| 13 [13.9(15. 15.3(16.5(15.3(18.4(15.3(18.4[17.6|17.6(20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.1 9.4 [11.6[11.0(12.4[15.3 17.6119.3 17.7121.1117.7121.1(20.0[20.0|22.6
8. 0x35xD8x100 [R4. 0x16xD8x100 | 9.6 | 11.1[14.0[14.0[15.4|19.6 21.4123.8 22.1126.6122.1|26.6125.0]25.0|28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19.0|22.129.0|25.9|27.3|32.3 35.4 37.1 37.1 41.0141.0]45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 | 12.7|16.6]115.1]|16.6|21.6|21.4123.3|25.7(24.3|26.2(24.7]30.3(24.7|30.3(27.7(27.7{32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3|21.3 | 29.1 30.3(33.1[32.5|34.8(31.3|37.4(31.3|37.4(31.7(31.7(37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7]39.4|41.7148.3 56.1 54.4 54.4 54.7154.7]163.0
12x30xD12x75 |R6. 0x24xD12x75 | 14.9|17.4122.0121.1|23.3|28.7|28.3]33.1|36.4(32.9|35.5(32.6|39.4(32.7|39.4(37.0(37.0(42.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1(27.7|28.7|37.0 40.4144.5(48.6(52.4143.5|47.3143.6|47.3(47.0147.0153.0
12x50xD12x150 |Ré. 0x24xD12x150| 34. 3 | 40.0 | 50.7]49.3|52.160.3 72.9 70.7 70.7 77.6177.6]85.6
14x35xD14x80 |R7.0x28xD14x80 | 25. 6| 29.7 32.3]34.1 49.3 54.3| 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57. 9 64.6] 68.3 95.4 91.2 91.1 100. 6|100. 6
16x40xD16x100 R8. 0x32xD16x100| 35. 7 | 38. 9 51.0153.0 63.6174.0 67.4) 73 [72.8 72.9 78.7(78.7(91.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0/91.0 129.0 116.3 116.3 127.6|127. 6[143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1165.1 89.7 82.3]|87.9188.4 88.4 96.7196.7(111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3]101. 3 148. 1 153.1 153. 1
20x40xD20x100 [R10x40xD20x100 | 52. 7 | 57. 6 73.1175.9 95.3(106.7 93.51102.9|105. 5 105. 4] 115.7|115.7(133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3|1196. 3(220.0
e e i SR o e b P S L L e 7 PP e
e Small Diameter Long Neck Flat-End Milling Cutter Small Diameter Long Neck Ball-End Milling Cutter
mE m ‘ Can Cut Steel Below 60 HRC , Can Cut Steel Below 60 HRC
_ o1} pe————|p-4mm R e lbo4mm
e r—) e —
D1. 1-D3. 9xD4x50 4.3 RO. 6-R1. 9xD4x50 4.7
DA. 1-D5. 9xD6x50 6.9 yorsouas epconmranspoppssusnitfepsans 0 1~ AL emevend DI - B
D6. 1-D7. 9xD8x60 12.4 "RO. 5-R1. 5xD4x75 69 0.3 |2/3/4 4.6 53 03 |2/3/4 4.6 | 53
D8. 1-D9. 9xD10x75 204 RO 5-R1. 5xDAx100 76 0.4 |2/3/4/5/6 4.6 | 53 0.4 |2/3/4/5/6 4.6 | 53
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 46 | 5.3 0.5 | 2/3/4/6/8 4.6 5.3
JKorapbiaa kepceTinreH ap6ip epekweniri ukfepsans! 0. 1m RO. 5-R2. 5xDéx75 10.7 0.6 2/3/4/6/8 4.6 5.3 0.6 2/3/4/6/8 4.6 5.3
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12.6 0.7 | 3/4/6/8/10 4.6 | 5.3 0.7 | 3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 orapuaa wepcerinren opbip spexwenri wnfepsansi Ro. 25m 0. 8 | 3/4/6/8/10 4.6 | 5.3 0.8 | 3/4/6/8/10 4.6 | 5.3
D1. 0-D4. 0xD6x50 6.4 "Rax120 20.7 0.9 | 3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1. 0-D5. 0xD6x75 9.6 R4x200 43 6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
D1. 0-D5. 0xD6x100 1.9 R5x120 254 1.5 |6/8/10/12/15/20| 3.9 | 4.6 1.5 | 6/8/10/12/15/20| 4.6 | 5.3
DDl S RBX200 40.3 2.0 | 8/10/12/15/20 3.9 | 46 2.0 |8/10/12/15/20 | 4.6 | 5.3
AT 40 R6x120 4 6 2.5 10/12/15/20 3.9 | 4.6 2.5 10/12/15/20 4.6 | 53
D6x20xDbx50 6.9 R6x200 86.9 gn:a:m;e,:ssHaRg e v p nlwapukrl kecki keckiwxeoKiL) KiluKeHTait AMamMeTpi yabiH MOVibiH ABHTeneK MypbiH Teric KoHFbInay sl Keckiw
D8x30xD8x60 12. 4 R8x200 154.7 Micro-Diameter Ball-End Milling Cutter Can Cut Small Diameter Long Neck Round Nose Flat End ""””‘f Cutter
D8x40xD8x120 20.7 R10x200 222.9 Steel Below 60 HRC T To-
D8x200 43. 6 go;a:r:n:éu“ﬁsH}é e T p niTeric KOHFBINAY KECKIWTi Kecin TACTaHbI3 n 0*1 POV E;SOrﬁm \ﬂmm
D10x30xD10x75 20.4  Micro-Diameter Flat-End Milling Cutter Can Cut R‘I- - ‘D=4mm = =
D10x35xD10x75 20.4  SteelBelow 60 HRC N Vsl somm i D1 R L1 Kantamana
D10x50xD10x100 26.1 D1 T i) D=4mm ‘ ‘ D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 A L=50mm [ D1RO. 2 4/6/8/10 10.3
D10x200 64.3 F - D1.5R0. 1| 6/8/10/12 10.3
D12x35xD12x75 27.4 Epekwenikrep Epekweniktep D1.5R0. 2| 6/8/10/12 10.3
D12x50xD12x100 34.7 DXL [Rx(DXE D2RO.1 | 8/10/12/16 | 10.3
D12x45xD12x120 42.9 0. 3xD4x50 4.6 5.3 RO. 15xD4x50 5.3 5.4 D2RO. 2 8/10/12/16 | 10.3
D12x200 86.9 0. 4xD4x50 4.6 5.3 RO. 2xD4x50 5.3 5.4 D3RO. 2 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.3 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.3 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63.1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.3 5.4 D4RO. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.3 5.4 D4RO. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.3 5.4 D4R0. 5 26/30 24. 6

Xyk TacbimangayaaH, canblKTaH XXaHe anbiMHaH XXofapbl 0arafra Kipmenai.
KbeiTangasbl gonnapnbelk mamine 6aracel KeiTanga.
ci3ge cypakrap TyblHOaca, afiekTpoHAbIK nowTa: eva@mzgtool.cn

Erep http://www.mzg.tw


http://www.mzg.tw

LlemeHTTenreH kapbuaTik KeckiLw

Cemented Carbide Cutter

Bonsdpawuanulloonart T-Groove Karkl ppesepnsi
KeckiwTiy TemeHri xarbl 55HRC TemeHaenai

Tungsten steel T-Groove Side Milling

Cutter Can Cut Steel Below 55 HRC

mm”w%Dz 2
Jﬂp I E—

BonwdpawllaapHanilaH 3-kecinredKoHrbinaylsl keckiw eBu;I

B ip xakTbl akpun / anioMuHui niK Keckiw
P XaKTbl akpusi / anio ®bpesep ec Bonart 6onart 55HRCTeMeHr Gonar 0% D2

Single-Edge Acrylic / Aluminium Milling Cutter 0 e : _ID
1 |

3-Edged Taper Milling Cutter For Tungsten
Steel is steel 55HRC Temenri 6onat

D1fm e D 5 , i ) I
| § nwemaepi laracH Onwempaepi bBaracy
L1 L D1 o® L1D2D L 3F UsD D1 a° L1 D2D L 3F UsD e Barace
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 DIR D L usD
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0.5HxD1. 5xD6x50 | 6. 4
enwemaepi AL D1x1.5°x4LxD1. 21xD4x50Lx3F | 6.9 D4x1.5°x15LxD4. 79xD6x50Lx3F |11.9 D4x1HxD1. 5xD6x50 6.4
PRI D1 x2°xA4LxD 1. 28xD4x50Lx3F 6.9 DAx2°x15LxD5. 04xD6x50Lx3F  |11.9 Dax1.5HxD1. 5xD6x50 | 6. 4
D1 L1 DL D1x3°x4LxD1. 42xD4x50Lx3F 6.9  D4x3°x15LxD5. 57xD6x50Lx3F 11.9  D4x2HxD1. 5xD6x50 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9  D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 6. 9 D4x8°x14. 93LxD8xD8x60Lx3F  [18. 1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1. 5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F [28.9 D6x1HxD2. 5xD8x50 | 10. 4
D2x10xD3. 175x50 2.0 D1.5x1. 5°x5LxD1. 76xD4x50Lx3F| 6.9 D4x15°x14. 93LxD12xD12x75Lx3F 39. 6 Déx1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1T D6x2HxD2. 5xD8x50 10.4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 Déx1°x20LxD6. 7xD8x60Lx3F 18.1 D6x3HxD2. 5xD8x50 10. 4
D2. 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9 D6x1.5°x20LxD7. 05xD8x60Lx3F |18. 1 D8x0. 5HxD3. 5xD8x60 | 16. 9
D2. 5x15xD3. 175x50 2.0 D2x0. 5°x6LxD2. 1xD4x50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F 18.1 D8x1HxD3.5xD8x60 | 16 9
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3. 5xD8x60 | 16. 9
D3. 175x12xD3. 175x50 | 2.0 4.0 4.3 D2x1. 5°x6LxD2. 31xD4x50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F 26.9 D8x2HxD3. 5xD8x60 16.9
D3 175x15xD3. 175x80 | 20 | 4.0 | 45 D2x27x6LxD2. 41xD4x50Lx3F 6.9 D6x8°x20LxD11. 62xD12x75Lx3F [39. 6 D8x3HxD3.5xD8x60 | 16.9
- 175x15xD3. 175x : : : D2x3°x6LxD2. 62xD4x50Lx3F 6.9 D6x10°x17LxD12xD12x75Lx3F  139. 6 D10x0. 5HxD4xD10x75 | 24. 6
D3.175x17xD3.175x50 | 2.0 | 4.0 | 43 po 50,6l yD3. 05xD4x50Lx3F 6.9 D8x0. 5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxDAxD10x75 | 24. 6
D3.175x22xD3. 175x50 | 3.1 | 4.3 | 4.7 D340 5°%10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxD4xD10x75 | 24. 6
D3. 175x25xD3.175x50 | 3.4 | 4.3 | 4.7  D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1 D3x1.5°x10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24.6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 D8x3°x25LxD10. 62xD12x75Lx3F [39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7  D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F  |11.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 | 5.4 | 6.1 D3x10°x10LxD6. 53xD8x60Lx3F |18. 1 D12x2HxD5xD12x75 | 31.9
D4x15xD4x50 4.7 | 5.4 | 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. O D12x3HxD5xD12x75 | 31.9
D4x17xD4x50 4.7 | 5.4 | 6.1 Bnte dhauauml6onar R apssepi o o wuy“nwwueﬁo nedbpaw c T_wgiTericrpyB .
D4x22xD4x50 4.7 5 4 6.1 Qapoonar TeMEHAeY MYMKIH amTep xeciuGonartelkecyre Gonaae
D4x25xD4x50 5.3 | 5.7 | 6.4 Tunesten steel InnerR Milling Cutter Tungaten,sshfDovetall Groove Milling  TIRNM A © SBHRG (607/80%/1265
D4x28xD4x50 6.0 7.1 7.9 Can Cut Steel Below 55 HRC o Tungsten steel Straight Groove
D4x32xD4x50 6.4 | 8693 By D AU D2 Chaifer Cutter Can Cut et
D4x42xD4x60 10.3 [12.1 [ 12.9 D@%—-T“—-"@ o1} ‘%‘—ID
D4x52xD4x70 13.3 [17.1 |17.9 —t— eI L I ) ‘
Déx12xD6x50 9.3 [10.0 [11.4 : : 30" > T— 1 D
D6x15xD6x50 9.3 10.0 | 11.4 Onwempepi Barach| Bnwemaepi Barachl | L |
D6x17xD6x50 9.3 [10.0 | 11.4 D1R D L USD § D1a° D2L1D.L USD ‘
D6x22xDéx50 9.3 (10.0 | 11.4 D4R0. 5xD4x50 D4x90°xD1. 5x6xD4x50 Snwempepi AL Kanramans
D6x25xD6x50 9.3 110.0 [11.4 D4RO0. 75xD4x50 6.7  D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7 D8x90°xD3x6xD8X50 16.9 D1xD4x50L 4.6 5.0
D6x32xDéx50 11.1112.9 (14.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 (17.7 | 19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 46150
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 4.6 5.0
D6x62xD6x80 25.0 |132.1 133.6 D8R2. 0xD8x50 20.0 D5x50L 8.6]9.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6X50L 8.69.3
D8x20xD8x50 19.7133.3 | 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6(14.3
D8x32xD8x50 19.7 133.3 [42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
D10x20xD10x50 35.3135.7 [49.3 D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
D10x32xD10x50 35.3(35.7 |49.3 Bono®p am LB bockpMdond M 4 B 6 0 1
D12X20XD1 2X50 46 9 50 0 53 6 BonaT koHBepCcHuanaHl[]al WPRKDLIHHYKTEGEH XKOHE NaxTaHblH KONAaHbINybl KeCine
D12x32xD12x50 46.9 | 50.0 | 53.6 Bonart 6onat 55HRC TemeHaeyi mymkin ~ bonat TemeH 58HRC

Bonos pamacs[]6o0n
D@ﬂe&f Fﬁ(ep: t And Chamfer Can Cut

Steel Below 58 HRC

Sl o o p

Can Cut Steel Below 55 HRC

Special Millin
Spiral-Edged Bonbdpam Gonat peiikepi Bonos (b pawm -U-BHOD [e3 Ghl'paa ™ @E'p E&ba‘harl
BonarT 60 narT1 55HRC TemeHaeyi MyMKiH

Spiral-Edged Bonbthpamasik 6onat Reamer Tungsten Steel Drills Tungsten Steel Bar

Can Cut Steel Below 55 HRC D1IWID ————T
| g e T
D] L1 L | s ‘HAJED | 3y | ; | k .
enwemgepi Onwewmpaepi Barach 9‘”@;'3
D1 L1 DLT R D1 L1 DL \ L \
D3x50xD3x100Lx4T | 7.6 ) i\ |parac-yi Oniiemasp
DAXB0XDAXT00LXAT | & 1 MR uso DL usd__uso ESLEPES Y e e !
D5x50xD5x100Lx6T 1.1 D1.0-D1.5 1.9 D3x100L 2.41 3.6 D8x30xD8x60 12.1 ©nuwemaepi AL Kantamand
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3.9 6.0 D10x30xD10x75 20. 4 EXE
D8x50xD8x100Lx6T 21.1 D2.1-D2.5 2.6 D5x100L 6.1 7.4 D10x45xD10x100 26.1 D1xD4x50L 3.3[3.9
D10x50xD10x100Lx6T | 30. 7 D2. 6-D3. 0 3.3 Dé6x100L 7.4 8.6 D12x35xD12x75 27.1 D1.5xD4x50L 3.3 3.9
D12x50xD12x100Lx6T | 40.7 ~ D3.1-D3.5 4.0 D8x100L 1431211 D12x50xD12x100 34.7 D2xD4x50L 3.3|3.9
orreparroDbERd 10 MR |50 s oo pmte |52 0
Bonart 60naT55HRCTeMeHneyiMVM|5iz:6_D5:0 6:9 ’ ’ DO_ .C ap J‘| aH[]laH D4)(5m3,paMHb.Dé:%nag:qub‘DﬁeKm
Can Gt Stenr Bolowss HRC oo gg l :gg- g ; Z 5056;32298ﬂ:l?:%ﬁ:iﬁ“ﬁ?&ilKé’gﬁﬁggigm 2 (1) 2 Z
TEE——=siD D61D65 |11.1 Doutlotent 8 1 o o x 306 ofokfdgesmant | 6 C 154
D'”‘—" L1 L ‘ D6. 6-D7.0 12.9 Chamfer Can Cut Steel Below 58 HRC D6x50L 6.0 6.4
. . D7.1-D7.5 16.9 D6x100L 12.1(12.9
©nwemaepi D7.6-D8.0 18.9 D8x60L 1M.1112.1
D1 L1 DL T D8. 1-D8. 5 22.4 D8x100L 19.0(20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9.0 24.7 . D10x75L 18.9(19.3
D4x50xD4x100Lx4T 6.4 D9.1-D9.5 28.3 Onwemaepi yYreresve®  D10x100L 27.1(28.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D L D12x75L 25.4(27.1
D6x50xD6Xx100LXx6T 9.6 D10. 1-D10. 5 35.7 D3x100L-DB 7.4 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T 14. 6 D10.6-D11.0 | 37.4 D4x100L-DB 7.4 8.1 D14x100L 51.4|52.6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 | 46.0 D5x100L-DB 14.3115.0 D16x100L 64.0]65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6|96.9

XKyk TacbimangayfaH, canblKkTaH XXaHe anblMHaH Xofapbl 6arafa Kipmenai.
KblTangarbl gonnapnbik Mamine 6aracbl Keitanga.
ci3ge cypakTtap TyblHAAca, aNekTpoHAbIK nowTa: eva@mzgtool.cn

Erep http://www.mzg.tw


http://www.mzg.tw

QKCTpyumns bypaHgacbl TYMMECIH TYPTiHi3
Extrusion Screw Tap

GKCprLWlﬂ 6¥paH,ElaCbl Tvﬁ MECiH TypTiHi3 aKbIpbin X Pitch x ¥3bIHAbIFbI el | e aKbIpbin X Pitch X ¥abiHAbIFhI

g (/ Tictepai kepi kanTapy)
Extrusion Screw Tap

>
=
=
5

fangaik dopma

(/ Tictepai kepi kanTapy)

M3. 0x0. 35 RH6 | B 71 17.9  Max1.0 RH8 | B 26.1 | 28.9
M3. 0x0. 5 RH4 | P 4.7 | 5.4 M14x1.25 RH8 | B 26.1 | 28.9
RH4 | B 47 |54  M4x1.5 RH8 | B 26.1 289
RH5 | P 47 |54 M4x2.0 RH8 | B 26.1 |28.9
RH5 | B 4.7 |54 "MI6x1.0 RH8 | B 34.0 [ 37.1
5 1 RH6 | P 4.7 | 5.4 Mi6x1.25 RH8 | B 34.0 | 37.1
RH6 | B 47 |54  Mé6x1.5 RH8 | B 34.0 | 37.1
Tin RH7 | P 4.7 | 5.4  MI6x2.0 RH8 | B 34.0 | 37.1
aKbIPbII‘IXP.iﬁCh.X\‘S«bIH[:[bIFI)I enaik coTH A Tin RH7 B 4.7 5.4
(/ Ticteppi kepi kaiiTapy) . : | RH8 | B 4.7 | 5.4 UNFO-80 RH4 | P 5.7 | 6.1
RH9 | B 4.7 | 54 RH4 | B 57 | 61
mg 2"8- ]§5 Y 191 -30 ]g) g M3. 0x0. 5-80L 8.9 UNC1—-64 RA4 | B 57 61
o O o Qg8 231109 m3.0x0.5-100L 9.7 [10.4 UNF1-72 RH4 | B 7.4 | 7.9
0o e 23 1100 M3 0x0.5-150L 17.6 | 18.3  TUNC2-56 RH4 | P 57 161
mo- 2 il &7 1 19 MB.0X0. LrersmnairRHO | B 67 |74 RH4 | B 57 | 61
0. 91025 — 61 124 35x0.6-T00L 9.7 [10.4 RH5 | P 57 | 61
- 0x0. : : M3. 50, bLricreps rep sabranRHE | B 6.7 | 7.4 RH5 | B 57 | 61
Eng E g g 2- 8 M4. 0x0. 35 RH6 | B 71 7.9 UNG2-56-100L 10.0 | 10.7
N o 23100 moxs RH6 | B 71 | 7.9 UNF2-64 RH5 | B 6.7 1 7.9
o — 22 100 w.0x0.7 RH5 | P 4.7 | 5.4 TUNC3-48 RH5 | B 57 | 61
M1. 1x0. il I Y RH5 | B 4.7 | 5.4  UNF3-56 RH5 | B 7.4 |79
T 7075 Ru: 8 Ll RH6 | P 4.7 | 5.4 UNC4-40 RH5 | P 4.7 |54
- 2x0. : : RH6 | B 4.7 |54 RH5 | B 4.7 | 5.4
En“ B 53160 RH7 | P 4.7 | 54 RH6 | P 4.7 | 5.4
S|P 53 160 RH7 | B 4.7 |54 RH6 | B 4.7 | 5.4
O RHS | B 5.3 160 RHS | P 4.7 | 5.4 RH7 | B 4.7 | 5.4
M1'4X0'3 Eﬂj E 7-; Z-g RHS | B 4.7 | 5.4 UNC4-40-100L 10.0 | 10.7
- 4x0. R 2-3 44 RH9 | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
: : M4. 0x0. 7-80L 8.9 | 9.7 RH5 | B 7.4 | 7.9
EHS g 5. g 2- 8 M4. 0x0. 7-100L 9.7 |10.4 TUNC5-40 RH5 | P 5.3 | 6.0
W1 4x0. 3-80L 5 oo | 5% maoxo. 71500 17.6 | 18.3 RH5 | B 53 | 6.0
W-0.3 Sy 2T 100 WA 0x0. 7Lrcrsm nabrRHO | B 6.7 | 7.4 UNG5-40-100L 10.0 | 10.7
- 5x0. e P11 Te wasxos RH7 | B 74 183  UNF5-44 RH6 | B 7.4 | 7.9
i 02 Rue -2 Ll b Lo W4.5x0.75 RH7 | B 57 | 69 TUNC6-32 RH5 | P 47 | 5.4
- 6x0. : : M5. 0x0. 35 RH6 | B 7.4 183 RH5 | B 47 |54
W1 6x0. 35 Enj E 7-; Z-g M5. 0x0. 5 RH6 | B 7.4 | 8.3 RH6 | P 4.7 | 5.4
- 6x0. iR 2-3 80 Wso0x0.8 RH6 | P 53 | 61 RH6 | B 4.7 | 5.4
: : RH6 | B 53 | 61 RH7 | B 47 |54
Eng g 2 g 2- 8 RH7 | P 5.3 | 6.1 UNC6-32-100L 10.0 | 10.7
W1 640, 35-80L >3 155 RH7 | B 53 |61  UNF6-40 RH6 | P 6.7 | 7.4
1.6x0.3 cie s U RHS | B 53 | 61 RH6 | B 6.7 | 7.4
m1- 2 il 31 L0 wsox0.8-80L 9.3 |10.3 TUNC8-32 RH6 | P 50 |57
- 7x0. R 2-3 £9  W5.0x0.8-100L 10.0 | 11.0 RH6 | B 50 |57
: : M5. 0x0. 8-150L 18.3 | 19.3 RH7 | P 50 |57
Eng g 2 g 2 8 M5. 0x0. 8L ricreps rep sabnenRH6 | B 7.1 | 8.1 RH7 | B 50 |57
i 802 B2 oSS0 We0x05 RH7 | B 74 183  UNG8-32-100L 10.0 | 10.7
- 8x0. : : M6. 0x0. 75 RH7 | B 7.4 |83  UNF8-36 RH7 | B 7.4 | 81
1. 8x0. 35 Enj g 5. ; 2- ; M6. Ox1. 0 RH6 | P 53 | 6.1  UNS8-40 RHG6 | B 7.4 | 8.1
S — ?-1 — RH6 | B 53 |61 TUNC10-24 RH6 | P 53160
- 0x0. - : RH7 | P 53 | 61 RH7 | B 53 |60
W2, 0x0. 4 Enj E Z; 7-3 RH7 | B 5.3 | 6.1 UNC10-24-100L 10.0 | 11.0
- 0x0. iR I o g : RH8 | B 53 | 61  UNCI0- 24LT.CTEPH.Kep.mMTapRH7 B 7.1 | 8.1
e 20120 me.oxt.o-goL 9.3 [10.3  UNF10-32 RH7 | P 67 | 7.4
a2 E 20129 me.oxt.0-100L 10.0 | 11.0 RH7 | B 67 | 7.4
R B S0 24 me.oxt 050 18.3 | 19.3  UNF10-32-100L 10.0 | 11.0
o E S 2 M6.0x. OlrwremmalrRHO | B 7.1 | 8.1 UNF10-32LrirpmisepisamapRH7 | B 7.1 | 8.1
il YT Wox05 RH7 | B 9.3 [10.4 UNF12-24 RH7 | B 54 67
AN IS SI T wox0.75 RH7 | B 9.3 [10.4  UNF12-28 RH7 | B 67 | 7.6
: : M7.0x1.0 RH7 | B 9.3 [10.4  UNS12-32 RH7 | B 6.7 | 7.6
12, 0x0. 4-80L RHB & S0y me0x5 RH7 | B 9.3 [10.4  UNCI/4-20 RH7 | P 54167
. AL SO, Me.0x0.75 RH7 | B 9.3 [10.4 RH7 | B 54 |67
200, : 4 Mg.ox1.0 RH7 | B 9.3 [10.4  UNC1/4-20-100L 10.0 | 11.0
mg gxg. j'g“mwepimpﬁni E 7-; Z-g M8. Ox1. 25 RH7 | B 9.3 |10.4  UNC1/4- ZOLWSM.WWPRH7 B 7.1 | 8.1
- 2x0. S 2-3 o0 RH9 | B 9.3 [10.4  UNF1/4-28 RH7 | P 67 | 7.6
TG d Rui 8 o300 me.ox1.25-100L 13.1 | 14.6 RH7 | B 67 |76
M2. 3x0. i I 20120 me.ox1.25-1500 18.9 | 20.3  UNF1/4-28LreemenimrenRH7 | B 7.1 | 81
W2, 340, 4L R 27158 MBOX1. 5LremuunencRH7 | B 11.0 | 12.4  UNEF1/4-32 RH7 | B 67 |76
- 3x0. AL ricropi i rainapR : : M9. 0x0. 5 RH7 | B 0.4 [12.1  _UNS1/4-36 RH7 | B 6.7 | 7.6
mg gxg. gg Eng g ; ] ; g M9. 0x0. 75 RH7 | B 10.4 |12.1  UNC5/16-18 RH7 | B 9.3 [10.4
. 3x0. 32 RHe B SL T oo RH7 | B 10.4 | 121 UNG5/16-18LrerommemoniH7 | B 1.1 12,6
- 9x0. : : M9. Ox1. 25 RH7 | B 10.4 | 12.1  UNC5/6-18-100L 13.6 | 15.0
Eng E j-; g-j M10x0. 5 RH7 | B 10.4 [12.1  UNF5/16-24 RH7 10.0 | 11.1
i I SO T m0x0.75 RH7 | B 10.4 | 12.1 TUNC3/8-16 RH7 1.0 | 13.1
: : M10x1. 0 RH7 | B 10.4 | 12.1  UNC3/8-16-100L 15.3 | 16.7
Eng g j- ; g j M10x1. 25 RH7 | B 10.4 | 121 UNC3/816LrecremirenomepRH7 | B 13.1 | 14.7
e B DT moxts RH7 | B 10.4 | 12.1 _UNC3/8-24 RH7 | B 11.9 [ 13.9
: : RH9 | B 10.4 | 12.1  TUNC7/16-14 RH7 | B 14.6 | 16.4
EH; g j- ; g j M10x1. 5-100L 15.3 | 16.7 _UNF7/16-20 RH7 | B 15.7 117.9
12, 540, 45-80L a0 154 moxt 51500 20.3 | 21.7  UNG1/2-12 RH7 | B 17.1]19.7
290, : - M10x1. 5L ricrepm cepisainboy RH7 | B 12.6 | 14.0  UNF1/2-20 RH7 | B 17.1 | 19.7
mg gxg. g?oo'- AN ‘;- Z 170-94 M11x1.0 RH7 | B 11.9 [13.9
M2 5x0. 22 “mwev‘mw’;Hs 4 L Mi2x0.5 RH7 | B 1.9 |13.9  Wi/8-40 RH6 | P 53|60
- 6x0. : : M12x0. 75 RH7 | B 11.9 [ 13.9 RH6 | B 53 |60
Eng E j- ; g j M12x1. 0 RH7 | B 11.9 [13.9  W5/32-32 RH7 | B 53|60
o R SO EY x5 RH7 | B 11.9 [13.9  W3/16-24 RH7 | B 53|60
- : M12x1.5 RH7 | B 1.9 113.9  W1/4-20 RH7 | B 54 |67
v I Sl m2x1Ts RH7 | B 1.9 1139 W5/16-18 RH7 | B 9.3 [10.4
- 6x0. : : RH8 | B 1.9 (13,9 w3/8-16 RH7 | B 11.9 | 13.9
M12x1. 75-100L 19.7 |21.7  W7/16-14 RH7 | B 14.6 | 16. 4
M12x1. 75-150L 22.9 |25.0  W1/2-12 RH7 | B 17.1 | 19.7
M12x1. 75Lricrops cop satnanRH7 | B 14.0 | 16.1

YK TacbiMangaygnaH, calnblKTaH XXoHe anbIMHaH Xofapbl 6arara kipmengi.
KbiTangafbl gonnapnblk Memine 6aracol KeiTanga.
e p cisgecypaktap TyblHAaca, aNnekTPOHAbIK nowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

ANEeKCTI TYPTIHI3

AnekcTi TVpTiH,iS akblpbin x Pitch x ¥3bIHAbIFb!
Apex Tap

akblpbin X Pitch X ¥3bIHAbIFLI

Oangik ®opma

>
=
=
5

Hanpik dopma

>
£
=
5

(/ Tictepai kepi kanTapy)

(/ Tictepai kepi kanTapy)

= 22 ———-—-—;} M7.0x0. 5 P2 6.7 | 7.9 UNC1/2-12 P3 13.1 [15.3
bt | M7. 0x0. 75 P2 6.7 | 7.9 UNF1/2-20 P3 14.6 | 16.4
M7.0x1. 0 P2 6.0 | 7.4
AK M8. 0x0. 5 P2 6.7 7.9 W1/8-40 P1 4.7 | 5.4
M8. 0x0. 75 P3 6.7 | 7.9  W5/32-32 P2 4.7 | 5.4
RET— @ s 0x1.0 P3 6.7 | 7.9 W3/16-24 P2 4.7 | 5.4
: e M8. 0x1. 25 P3 6.0 | 7.4 W7/32-24 P2 4.7 | 5.7
Tin P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
akbIpbin X Pitch X ¥3bIHAbIFL! . AT A T M8. 0x1. 25—1 0oL 12.6 W5/16-18 P2 6.0 7.4
(I Tictepai kepi kaiTapy) =~ A97AN . . 0 M8.0x1.25-150L 18.3 W3/8-16 P2 7.9 1 9.6
M8. 0x1. 25 conue P4 433 W7/16-14 P3 11.9 13.9
M1. 0x0. 25 P1 53160 “y9 0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1. OXO. 25 Carbide P2 27. 6
M9. 0x0. 75 P3 8.3 | 10
M. 2x0. 25 P1 5.3 | 6.0
o o Jiy We.0xt0 P3 8.3 | 10
T 4X0- a— o o5, M9.0x1.25 P3 7.9 | 9.6 PS1/8-28 cane P4 56. 4
M1-4X0- e o 25y wioxos P2 8.3 | 10 PS1/4-19 carsice P4 91.7
2 Q%L o 25 oo Mox0.75 P3 8.3 | 10 PT1/8-28 carice P4 62.9
e e e M10x1. 0 P3 8.3 | 10 PT1/4-19 canie P4 95.7
- ax. : M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 cabice P2 22.4
M10x1.5 P3 7.9 | 9.6
M1.5x0. 3 P2 5.7 6.7 P4 7.9 9.6 NPS1/8-27 carie P4 56. 4
M1. 6x0. 2 P2 6.7 | 7.4 _ NPS1/4-18 caniue
M10x1. 5-100L 14.6 P4 91.7
M1. 6x0. 35 P2 5.3 | 6.0 g NPT1/8-27 cane
M10x1. 5-150L 19.7 P4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 51.1  NPT1/4-18 casice P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 - - :
M11x1. 0 P3 10.4 [12.6
M1. 7x0. 35 P2 53 [ 60 “Mi2x05 5 o131
M1. 7x0. 35 canice P2 21.0 : : '
M12x0. 75 P3 11.0 | 13.1
M1.8x0. 2 ) 6.7 | 7.4
M12x1. 0 P4 11.0 | 13.1
M1.8x0. 35 P2 5.7 | 6.7
M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 6.7 | 7.4
e o5 JhlEy mxts P3 11.0 | 13.1
- UXE. P3 A7 e, M2x1.75 P4 10.4 | 12.6
51 2o |2y m2x1.75-100L 18.9
: : M12x1. 75-150L 22.4
M2. 0x0. 4-80L 8.3 Wi2x1. 75 pa 62.9
. Carbide 4
M2. 0x0. 4-100L 9.3 W1 0 53 7T 107
M2. 0x0. 4 canice P3 19.7 : : '
M14x1. 25 P3 17.1 119.7
M2. 2x0. 25 P2 6.7 | 7.4
M14x1.5 P3 17.1 119.7
M2. 2x0. 45 P2 4.7 | 5.4
M14x2. 0 P2 15.7 | 18.3
M2.3x0.4 P2 4.7 |54
M16x1. 0 P3 19.7 |22.4
M2. 5x0. 35 P2 6.7 | 7.4
e - ool b mex1.2s P3 19.7 | 22.4
e P3 27 |2, Mmoext5 P3 19.7 | 22.4
o) Lol an mex2.0 P4 18.3 | 21
M2. 5x0. 45-80L 8.3 N
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 67 | 7.4 Uncase 5 533
M2. 6x0. 45 P2 4.7 | 5.4 pa 53 | e
M2. 6x0. 45-100L 9.3 e :
M3.0x0. 35 ) 47 | 5.4 ﬂngg_gﬁ (il P2 Z? 74
M3.0x0.5 P2 4.0 | 47 “Nca-48 ) £ 3 T &
5 S0 13 uNeasse P2 6.7 | 7.4
: : UNC4-40 P2 47 | 5.4
+0.1 4.7 | 5.4 P3 47 | 54
M3. 0x0. 5-80L 8.3 pa 47 |54
M3. 0x0. 5-100L 9.3 UNGA—40-100L 06 |
M3. 0x0. 5-150L 17.1 UNFA—48 P2 67174
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3.5x0. 6-100L 9.3 UNG5-40-100L 06 |
M4. 0x0. 35 P2 67 | 74 UNce=32 5 77 57
M4. 0x0. 5 P2 4.7 | 5.4 P3 47 |54
M4. 0x0. 7 P2 4.0 | 4.7 Pa 47 |54
o S0 |40 unce-32-100L 9.6
o 2o e, UNEe=do P2 6.7 | 7.4
: : : UNC8-32 P2 4.7 | 5.4
M4. 0x0. 7-80L 8.3 P3 47 | 54
M4. 0x0. 7-100L 9.3 pa 47 |54
M4. 0x0. 7-150L 17.1 UNGB=32-100L 06 |
M4. 0x0. 7 canice P3 197 UNF8-36 P2 67 | 74
mg 8"8- g ﬁ; j- g g g UNC10-24 P2 47 |57
> ik o 2o | 2o  UNcto-24-100L 9.6
o) 2o | 2o UNF10-32 P2 4.7 | 5.7
o 2525 UNE10-32-100L 9.6
S i, L - ao |7 UNC12-24 ) 4.7 | 5.7
M5 oxo' 8-100L 96 UNF12-28 P2 6.7 1 7.6
- X : UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 P3 47 |57
M5. 0x0. 8 caice P3 21.0 P4 47 | 57
mg- 8"8- ?5 ﬁ; j- ; g ; UNG1/4-20~100L 9.6
MG, OX1- 0 P2 40 |2 UNcl/a-28 P2 6.7 | 7.6
aL2lle P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
51 2o |2 _UNEF1/4-36 P2 6.7 | 7.6
o 47 |25 UNcs/16-18 P3 6.0 | 7.4
T : S UNC5/6-18-100L 13.1
M6, 0xl. 0-100L 94 UNF5/16-24 P2 7.4 186
e - UNC3/8-16 P3 7.9 [9.6
M6. 0x1. 0-150L 17.9 e
M6, Ox1. 0 carne P3 27 4 UNG3/8-16-100L “
> WSlo Y @niztn : UNF3/8-24 P2 9.3 110.7
UNC7/16-14 P3 1.9 113.9
UNF7/16-20 P3 12.6 | 14.7
XKyk TacbimangayaaH, canblKTaH XXaHe anbiMHaH Xofapbl 6arara Kipmenai.
KbiTangafbl gonnapnblk MamMine 6aracol KeiTanga.
http://www.mzg.tw

E r e p ci3gecypakrap TyblHAaca, 3MeKTpoHAbIK nowTa: eva@mzgtool.cn


http://www.mzg.tw

Cnupanbai rpaButTaumnsnaHfaH KkpaH

Spiral Grooved Tap
Cl'lleaJ'lb,Eli rpaBUTaAUUATIAHFAH K{g ST R e = N1 o SR A -
Spiral Grooved Tap (/Tictepaixepi kairapy) AR AT

akbipbin X Pitch X ¥3bIHAbIFbI akblpbIn X Pitch X ¥3bIHAbIFI!

Ak

=
5

(/ Tictepai kepi kanTapy) Renaik (/ Tictepai kepi kanTapy) Ronaik

M4. 0x0. 7 +0. 1 5.4 M12x0.5 P2 |11.0[13.1 UNF1/4-28 P2]6.7]7.6
mw-m_‘ P2 | 4 |47 MI2x0.75 P2 [11.0[13.1 P4l 67|76
S P3| 4 | 4.7 M2x1.0 P2 |11.0|13.1 UNF1/4-28-HT e 1B 7.4
AK P4 | 4 |47 P4 |11.0|13.1 UNF1/4~28Lrcrepm vepivaransP2 | 7.4 | 8.3
B M4. 0x0. 7-100L 9.3 M12x1 . OLricrepsiepiseirdpy P2 | 12. 6| 14. 7 UNEF1/4-32 P21 6.7]7.6
m M4. 0x0. 7-150L 17.1 M12x1. 25 P2 [11.0]13.1 UNS1/4-36 P2 | 6.717.6
M4. 0x0. 7-AL P2 | 4 | 4 P4 |11.0/13.1 UNC5/16-18 P2[60]7.4
Tin M4. 0x0. 7-HT s | 1B | 4.7 | 6.1 M12x1. 25Lrcrepuivep afrapP? | 12. 6| 14.7 P3| 6.0 7.4
S T L2 U 4. 0x0. 7L reonicepsapocP? | 4.7 | 5.7 M12x1.5 P2 |11.0(13.1 PA| 60|74
(I TicTepai kepi kaiitapy) ~AoTAlK § S M5.0x0.5 P2 | 4.7]5.4 P4 111.013.17 UNC5/16-18-100L 13.1
W1 0x0. 25 p1 1,553 o P3| 4.7 | 5.4 M12x1. 5lricrepmicepiaimbey P2 | 12. 6| 14.7  UNG5/16~18-AL P2 | 6.7
- Lk . 5- 3 6' 0 P4 | 4.7 154 M2x1.75 0. 11110131 UNC5/16=18-HT kasax 1B|7.918.3
P2L 23180 M5 0x0. Sl upiiatsP? | 5.7 | 6.9 P2 |10.4112.6  UNC5/16~18LricropsioppinaBl2 | 7.4 | 8.6
pal53leo M5. 0x0. 8 +0.11 4.7 | 5.4 P3 110.4112.6 UNF5/16-24 P2|7.4]8.6
W X075 P53 60 P2 4 147 P4 110.4112.6 P4| 7.4]8.6
o 240 pla3leo P3 4 | 4.7 M12x1.75-100L 18.9 UNF5/16-24-HT iaoar 1B 10.0
P3| 53|60 W5 0x0.8-100L P4 946 4.7 m%q-;g-gm o 22.4 1B UNF5/16-24L verepsivepi iR | 9.3 | 10. 4
: : - 0x0. 8- . x1.75= -4 "UNC3/8-16 P2 7.919.6
T E? 23 gg M5. 0x0. 8-150L 17.9 M12x1. 75-HT cous 1B |11.9]12.6 P3| 79096
- 4x0. . 4 M5.0x0. 8-AL P2 | 4 | 4 M12x1. 75LucrescesisatraoP? | 12.1]14.7 P2l 79196
M1.4x0.3 P1 153160 M5.0x0.8-HTweee | 1B | 4.7 ] 6.1 M4x1.0 P2 [17.1119.7 UNC3/8-16-100L 14.7
E% gg 2-3 M5. 0x0. 8L ricrepn wepinaapP? | 4.7 | 5.7 M14x1.25 P2 |17.1119.7 UNC3/8~16-AL P2 |83
. . M6. 0x0. 5 P2 1 4.7]5 4 M4x1.5 P2 (17.1]19.7 UNG3/8-16-HT ran 1B 9.6 110.4
Pa1o.3 60 P3 | 4.715.7 M4x2.0 2 1571183 \NG3/BAG 2 | 96 | 1.0
MT.5x0.3 PT 6774 PA | 4.7 | 5.7 "M16x1.0 P2 [19.7(22.9 yNFa/g-24 P2 103107
M1. 6x0. 2 PT 6774 M6.0x0. Slrcrepmrepiafresf? | 5.7 | 6.9 M16x1.25 P2 |19.7|22.9 palo 3107
M1. 6x0. 35 P1| 53|60 M6 0x0.75 P2 | 4.7 5.7 M6x1.5 P2 |19.7(22.9  UNF3/8-24-HT Bl 119
P2 53|60 P3| 4.7 |57 M6x2.0 P2 118.3|21.4 UNF3/824Loeme | 5o 111 0119 6
P315.316.0 P4 | 4.7 157 UNS3/8-32 | P2 193|107
P4 | 5.3 |60 M6.0x0. 75Lrcrepmceiind? | 5.7 | 6.9 _UNFO-80 PL1531 6 UNT/16-14 5o 11101139
M1. 6x0. 35-HT e | 1B 6.9 M6.0x1.0 +0.1| 4.7 | 5.7 UNC1-64 P53 6 UNFTA6-20 P2 112 6114 7
M. 7x0. 2 P1167 |74 P2 | 4 | 5 UNF1-72 Pl |6.7]7.4 2 : :
M1. 7x0. 35 P1|5.3]|6.0 P3 | 4 | 5 "UNC2-56 Pl [6.3]| 6 ﬂ“g%_;g E% ]i'é ]Z'Z
P2|5.3|6.0 P4 | 4 | 5 P2 |5.3| 6 : :
P3| 53| 6.0 M6 0x1.0-100L 9.6 P3 |5.3| 6 _
P4| 53|60 M6 Ox1.0-150L 17.9 P4 | 53| 6 %gzigz S A
M1. 8x0. 2 Pl | 6.7 7.4 M6.0x1.0-AL P2 | 4 | 4  UNC2-56-100L 9.6 : !
M1 8x0. 35 PI 157167 M6 OxT.0-HTws | 1B | 4.7 | 6.1  UNG2-56-HT o 1B 61609 wgggjgj Bl o3
M2. 0x0. 25 P11 6.7 7.4 M6 Ox1. OlricrepmiepiatresP? | 4.7 | 5.7 UNF2-64 P1 | 6.7]7.4 a0 ohT7 |27
M2. 0x0. 4 +0.1/ 5.3 | 6.0 M7.0x0.5 P2 | 6.7 7.9 TUNC3-48 PI [ 53] 6 Werets P leolaa
P1|4.7|5.4 PA | 6.7 7.9 UNF3-56 P1 6.7 7.4 yo0om 079l 0s
p2 | 4.7 | 5.4 M7.0x0.75 P2 | 6.7 | 7.9 UNC4—40 Pl | 4.7 5.4 - :
W7/16-14 P2 [11.9]13.9
P3| 4.7 |5.4 P4 | 6.7|7.9 P2 | 4.7 | 5.4 w00 b2 1131112 4
P4 | 4.7 | 5.4 M7.0x0. 75Lricrepaivepieliranf2 | 7.9 | 9.3 P3 | 4.7 |54 : ;
M2. 0x0. 4-100L 9.3 M7.0x1.0 P2| 6 |74 e P I V- - 7.9
M2. 0x0. 4-AL P114.7| 4.7 P4 6 7.4 UNC4-40-100L 9.6 PS1/4—14 224
M2. 0x0. 4—HT iasa 1B |5 4| 6.7 _M7.0x1. OLricrepnivepiajrapt’2 | 7.4 | 8.6  UNC4—-40-AL P2 | 4.7 PS1/4—18AM€WM‘WW " - ‘9
M2. 0x0. AL ricrepicepiabranP1 | 5.7 | 6.7 M8.0x0.5 P2 1 6.7 7.9 UNC4—40-HT waear 1B | 5.4 6.7 PS1/4—19AMEMM~WM~1~“ 9' 3
M2. 2x0. 25 P1|6.7]7 4 PA | 6.7 | 7.9 _UNF4-48 P1 | 6.7 (7.4 R EERE T :
M2. 2x0. 45 p1| 47|54 M8.0x0.75 P2 | 6.7 | 7.9 "UNC5-40 P2 [ 4.7 | 5.4 PS3/8-18 ruepmonsncrancatr 13.1
M2, 3x0 4 Pl 247 54 P4 | 6.7 | 7.9  UNC5-40-100L 9.6 Eg%g:}z ]‘71 <1‘J
M2. 30, AL teronncomiabuaP] | 5.7 | 6.7 MB.OX0. T5Lrcsmmeninal? | 7.9 | 9.3 UNF5-44 P2 | 6.7 | 7.4 EO12T S ey A
M2 5035 51T 6717 4 M8.0x1.0 P2 | 6.7 7.9 TUNC6-32 P2 | 4.7 | 5.4 .
M2, 50, 45 +0.153160 P4 67179 p3 | 4.7 |5 4 PS3/4-14c.m. 25.0
Pi | 47|54 M8 OXI. OlvcepycpiataoP? | 7.9 | 9.3 P4 | 4.7 |5 4 PSI=1 soramsscanan 41.9
P2 | 47|54 M8.Ox1.25 +0.1| 6.7 | 7.9 UNC6-32-100L 9.6 PS1-11.1-2 s 4.9
‘ ' P2 | 6 | 7.4 UNC6-32-AL P2 | 4.7
Ei 3' ; 2 i P3| 6 | 7.4 UNC6=32-HT ks 1B | 5.4 |67 PT1/16-2800 7.9
M2. 5x0. 45-100L 9- 3 ' P4 6 7.4  UNC6—32L ticrepaixepivaiirdoy P2 | 5.7 | 6.7 PT1/8-28 spuras 7.9
M2, 5x0. 45-AL pi| 47|47 M8 Ox1. 25-100L 12.6 UNF6-40 P2 | 6.7|7.4 PT1/419 0 10.4
M2 5x0. 45-HT o | 18 | 5.4 | 6.7 M8.0x1.25-150L 18.3 UNC8-32 P2 | 4.7 | 5.4 PT3/8-19spummmcraven 15.7
M2, 5x0. 45LremmemebP | | 5.7 | 6.7 M8.0x1.25-AL P2 6 P3| 47| 5.4 PT/2-14mmcn 19.7
2. 8x0. 45 icrepa kepi WapP1 20T W8 0x1. 25-HT s B 174709 P4 | 4.7 |5 4 E¥?/?;14spmwh —_— 4212 g
ey : M8 Ox1. 25 ricrepswepiur2? | 7.4 | 8.6 UNC8-32-100L 9.6 L — :
W2 6x0.45 512 3'; g'i M9. 0x0. 5 P2 | 791 9.6 UNG8B-32-AL P2 | 4.7 NPT1/8=27 oo cranfor
P3| 47|54 M9.0x0.75 P2 | 7.9 9.6 UNG8—32-HT kaca 1B | 5.4 |67 NPT1/4-18pmm ™ 7.9
: o NM9.0x1.0 P2 | 7.9 9.6 UNCB=32Lricrepu cepiairiey P2 | 5.7 | 6.7 L T 10. 4
P4 | 4.7 | 5.4 NPT3/8-18 rucpmanan s
. M9. Ox1. OLricrepsiepisarasP? | 10 | 11.4 _UNF8-36 P2 | 6.7 7.4 — 15.7
M2. 6x0. 45-100L 9.3 NPT1/2-14 s cranhasn
XL : M9. 0x1. 25 P2 | 7.9 1 9.6 "UNC10-24 P2 | 4.7 5.7 Wy 19.7
M2. 6x0. 4L rerem P 1 | 5.7 | 6.7 it B 55T 00 e A e L e P
AL B La DT moxo 75 P2 |83 10 pa | 47|57 NPTIRM1-2 ok 46.0
P3| 47|54 P4 | 8.3 | 10  UNC10-24-100L 9.6
pala s 2 s MOXO. 75Lrcromieninayo2 | 10 |11.4  UNC10-24-AL P2 | 4.7
. : 2 Mox1.0 P2 [ 8.3 | 10 UNC10-24-HTwe | 1B | 5.4 | 6.7
3. 0X0. 35Lrcrens iopranP2 | 5.7 | 6.7 Pe | 83| 10 |UNCIO=24L~ odep2 | 5.7 ] 6.9
M3. 0x0. 5 +0.1 4.7 | 5.4 i g : '
o | S 135 MOX1. Obroromiciminge P2 | 10| 11,4 UNF10-32 P2 | 4.7 |5.7
oy | a |y Miox1.25 P2 | 8.3| 10 P3 | 4.7 |5.7
: P4 | 8.3 | 10 P4 | 4.7 |5.7
E?x j j-; M10x1. 25Lcropmiveoi a2 | 10 | 11,4 UNF10-32-100L 9.6
-/ M0x1.5 +0.1]8.3 ] 10  UNF10-32-HTwes | 1B 7.4
M3. 0x0. 5-100L 9.3 P2 | 7.9 1 9.6 UNF10-32Lricrepmiepiaracl? | 7.4 | 8.3
M3. 0x0. 5-150L 17.1 P3 | 7.9 9.6 UNCI12-24 P2 | 4.7 5.7
M3. 0x0. 5-AL P2\ 4 140 P4 | 7.9 9.6 UNF12-28 P2 | 67|76
M3.0x0. 5=HTieees | 1B | 4.7 1 6.1 Myox1. 5-100L 14.6 UNEF12-32 P2 67|76
M3. O0x0. SLrireppiveptapren2 | 4. 7 | 5.4 M10x1. 5-150L 19.7 UNS12-36 P2 16776
M3. 5x0. 6-100L 9.3 M10x1. 5-AL ) 7.9 TUNC1/4-20 P2 | 4.7 | 5.7
M4.0x0. 35 P2 A7 54 M10x1. 5-HT casa 1B ]9.3| 10 P3 | 4.7 | 5.7
M4.0x0.5 P21 A7 154 MOx1. SLrcresmenisaimdy P2 | 9.6 | 11 UNG1/4-20 P4 | 4.7 | 5.7
P3| 47154 "M1x0.5 P2 | 11 |13.1 UNC1/4-20-100L 9.6
PA 147154 M1x0.75 P2 | 11 |13.1 UNC1/4-20-AL P2 | 4.7
M4. 0x0. SLicrepai epinapman2 | 5.7 | 6.7 M11x1.0 P2 | 11 |13.1 UNC1/4-20-HT s | 1B | 5.4 | 6.7
M11x1.5 P2 [10.4/12.6 UNG1/4~20Lricropmiwepisesid | 5.7 | 6.9

KbiTangafbl gonnapnblk MemMine 6aracol KeiTanga.

- Xyk TacbiMangaynaH, canblKTaH XeHe anbiMHaH Xofapbl barafa Kipmena,i.
E r e p cismecypakTap TyblHAaca, aNekTpoHAblK nowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

KonmeH TypTy / WwweHOepaiH enimi

Hand Tap/Circular Die

HT Straight Wire 6acy

akbIpbin x Pitch x ¥abiHAbIFbI Donaix A AR-D pETTeJ'IeTiH anHanmansbl [S2aE = «1ipLin x Pitch x ¥abiHabiFb External n
HT Straight Wire Tap U iETEral el ) ° Ml AR-D Adjustable Circular Die (/ TicTepaikepiKaiitapy) = Diameter :

UNFO-80 P1 4.3 UNFO-80 20 | 11.9
e UNC1—64 P1 .3 UNC1-64 20 | 10.4
UNF1-72 P1 5.0 UNF1-72 20 | 11.9
UNC2-56 P1 4.3 UNC2-56 20 | 10.4
UNF2-64 P1 5.0 UNC3-48 20 | 10.4
UNC3-48 P1 4.3 UNF3-56 20 | 11.9
UNF3-56 P1 5.0 UNC4—40 20 | 10.4
UNC4—40 P2 4.0 - UNF4-48 20 | 11.9
aKblpbin X Pitch x ¥3biHAbIFbI DNonaik Ak P3 4.0 aKbipbin X Pitch X ¥abiHabIFk External Ak UNC5-40 20 10.4
(/ TicTepai kepi kanTapy) UNF4-48 P2 4.7 (/ Tictepai kepi kanTapy) Diameter UNC6-32 20 10. 4
M1. 0x0. 25 P1 TR s 9 1. ox0.25 20 | 331 UNRGT40 200119
o0 5e o . UNF5-44 P2 4.7 -OX0- 22 1 UNos-32 20 | 10.4
W o0 5 5 4-§ UNC6-32 P2 2.0 W-2x0-2 20 13-1 UNF8-36 20 11.9
M1 7x0.35 P | 4.3 P40 Wisa3 20 | 131 Ueto-24 200 1%
TR o by UNF6-40 P2 4.7 g 20 15 UNF10-32 20 11.9
R S UNC8-32 2| 40 -0 2001757 uncr2-24 20 | 10.4
s : P3 | 4.0 - D 20 1 UNF12-28 20 | 1.9
M2. 0x0. 4 P2 2.0 |EEE— o 47 M.8x0.35 20 13,1 |iNe1 /420 % | 104
P3 4.0 8 : M2. 0x0. 25 20 1.9 - :
3 ) UNcto-24 P2 2.0 Wo-0x0.2 lo 4 UNF1/4-28 20 | 11.9
— S UNF10-32 P2 | 47 g Xea 2001075 uNs1/a-32 20 | 11.9
- 240, : UNC12-24 P2 2.0 - 0x0. AL ricrop rop sainapy 20 - UNEF1/4-36 20 | 11.9
M2. 2x0. 45 P2 4.0 - M2. 2x0. 25 20 1.9 -
P = S0 — UNF12-28 P2 4.7  Wo-2x0.%3 104 UNC5/16-18 25 | 11.9
R o 4o UNe1/4-20 P2 4.0 =K 20 - UNF5/16-24 25 13.1
ne ol -~ S0 — UNF1/4-28 P2 4.7 WAL 20 15— UNC3/8-16 25 | 11.9
o 0, : UNF1/4-32 P2 4.7 - 9x0. 20 5 UNF3/8-24 25 13.1
M2. 5x0. 45 R2 40" "UNC5/16-18 P3 53 M2.5x0.45 20| 104 gNG7/16-14 25 | 11.9
P3 4.0  |UNFa/16-24 o o1 M2.5x0. 45Lrcemiopi faran20 1.9 UNF7/16-20 % | 131
P4 4.0 : M2. 6x0. 35 20 1.9 :
T 50 35 — ) UNEF5/16-32 P3 6.7  Wo-ox0.92 1o 4 UNG1/2-12 25 | 11.9
» @, : UNC3/8-16 P3 6.9 - 0xY. 20 . UNF1/2-20 25 13.1
M2. 6x0. 45 P2 40 |UNF3/e=24 o o M3.0x0.35 20 1.9
ol 3o uners/s32 Ps | 81 M&D3 200 )s wmea 20 | 10.4
: UNC7/16-14 P3 9.3 - 0. 5L ricrepai e satrapy 2 W5/32-32 20 | 10.4
M3. 0x0. 35 P2 47 | UNEr/lem20 by | 104 MA0x0.35 20 1.9 R % | 104
M3. 0x0. 5 P2 3.3 o ' M4. 0x0. 5 20 1.9 ° :
UNC1/2-13 P3 9.3 W1/4-20 20 | 10.4
Pl 32 uNF1/2-20 P3 | 10.4 M4.0x0.7 2001 192 ws/16-18 25 | 11.9
P4 3.3 : M. 0XO. 7L rioropa cepisafrapy 20 1.9 REEen o | 4p%e
M3. 5x0. 35 P2 47" Tube Tapping MZ. 5x0. 5 20 1.9 Hefapi et N o
M3. 5x0. 6 P2 3.3 M4. 5x0. 75 20 10. 4 °
PS1/16-28 e 6.7 W1/2-12 25 | 11.9
P3 3.3 [ o5 M5.0x0.35 20 11.9
TEAE S PS1/8-28. 67  N-OXD 2G| s
o V7 7 P — 22.4 30X G '
M4. 0x0. 5 P2 47 Ry 7’9 _M5.0x0. Blriromiiepisabrary 20 11.9
M4. 0x0. 7 P2 3.3 : M6. 0x0. 5 20 1.9
PS1/4-19 o 7.9
P3 3.3 57 M6.0x0.75 20 11.9
o A e . e o 0
L 0 45 PS3/B~19 chrmuncaanr 13.1 o e
et = 1 [l .. 171 Sreae | 3 X
M4, 5x0. 75 P2 3.6 PS1/2-14sancanar 171 47 0x0. 75 25 | 131
ey 0"0' 35 B3 T PS3/4-14cmmmcrian 2.4 L 0"1' 0 o 119
M5 0"0' 5 P2 47 P8I~ commcrman 38.1 oxo' < 13-1
X : PS1-11. 1-2 Apeien 38.1 S 2 -
M5. 0x0. 8 P2 3.6 M8. 0x0. 75 25 13.1
bl 3 PTI/16- 28 67 M8.OxI.0 2| 13
: PT1/8-28 oo 6.7 X :
6. 0x0. 35 P2 5.3 [ 6 6 M8 OxX1. 25 reronicon fuiran25 13.1
e O o R T 77 L N — 14.6  Mo-0x0.5 A
- 0x0. P12 18.3 - Ox0. 2 :
M6. Ox1. 0 P2 3.6 - [ 255 M9.Ox1.0 25 13.1
P3 3560\ R 2o M9.0x1.25 25 11.9
P4 3 6 BputanaeiK cranaapt - M1 OXO. 5 25 13 1
M7.0x0.5 P2 6.1 M10x0. 75 25 13.1
NPT1/8-27 o 6.7
oo | | ¢l WNARo—— |l et | B
NIRRT 555 NPT3/B~18 e 146 | Hi0c1 5 % | 119
M8, 0x0. 5 P2 | 61 NPT1/2-4cninn 183 o 8L ke 25 | 13.1
i o 05 1 NPT/ 25.0 - sSTosmllaier ]
o 1 NPTA-11.1-2 AmE 41.9 xl. — :
M8. Ox1. 0 P2 6.1 M12x0. 5 25 13.1
M8. Ox1. 25 P2 5.3 M12x0. 75 25 13.1
P3 5.3 M12x1. 0 25 13.1
M9. 0x0. 5 P3 8.1 M12x1. 25 25 13.1
M9. 0x0. 75 P3 8.1 Mi12x1.5 25 13.1
M9. 0x1. 0 P3 8.1 M12x1. 75 25 11.9
M9. Ox1. 25 P3 6.9 M1 2x 1. 75L riorop cepisabropy 25 13.1
M10x0. 5 P3 8.1 M14x1. 0 38 | 25.0
M10x0. 75 P3 8.1 Mi4x1. 25 38 | 25.0
M10x1. 0 P3 8.1 M14x1.5 38 | 25.0
M10x1. 25 P3 8.1 M14x2. 0 38 | 23.6
M10x1. 5 P3 6.9 M16x1. 0 38 | 25.0
P4 6.9 M16x1. 25 38 | 25.0
MiTx0.5 P3| 10.4 M16x1.5 38 | 25.0
M11x0. 75 P3 | 10.4 M16x2. 0 38 | 23.6
M11x1.0 P3 | 10.4
Mi1x1.5 P3 9.3
M12x0. 5 P3| 10.4
M12x0. 75 P3 | 10.4
M12x1. 0 P3 | 10.4
M12x1. 25 P3 | 10.4
M12x1.5 P3 | 10.4
M12x1. 75 P3 9.3
P4 9.3
M14x2. 0 P3| 10.4
M16x2. 0 P3| 13.1

Kyk TacbiMangayaaH, canbliKTaH XXaHe anblMHaH XXofapbl barafa Kipmengi.

KbiTangarbl gonnapnblk MaMine 6aracbl KeiTanga. ) n
Er e p cisnecypaktap TyblHAaca, 3NeKTPOHAbIK NowTa: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

Turning Inserts
Turning Inserts

OHim cypeTTepi Epekweniktep R OHim cypeTTepi Epekweniktep
CCGT060202 CBN1 0.2 6.9
CCGT060204 GBN1 0.4 | 69 6 CNMG120402 CBN1 0.2 | 6.9
CCGT060208 GCBN1 0.8 6.9 CNMG120404 CBN1 0.4 6.9
CCGTO9T302 CBN1 0.2 | 69 h CNMG120408 CBN1 0.8 | 6.9
CCGT09T304 GBN1 0.4 6.9 WalbiH #aHE KATTH AETOH
ShTe S 0o e
. Woishxane sarr Geron CCGT120404 CBN1 0.4 | 69 .
FTERMAIASPAR ERASMIERATEY 1 66GT120408 CBN1 0.8 6.9 Q CNMG120402 PCD1 0.2 | 6.9
CNMG120404 PCD1 0.4 | 6.9
CCGT060202 PCD1 0.2 | 6.9 h CNMG120408 PCDT 0.8 | 6.9
~ | CCGT060204 PCD1 0.4 6.9 | NS
- CCGT09T302 PCD1 0.2 6.9 :
- CCGT09T304 PCD1 0.4 | 69 Sz ey
CCGT09T308 PCD1 0.8 6.9 Py
CCGT120402 PCD1 0.2 6.9 “‘ CNMG120404-TM ZC25 0.4 | 2.6
Wbt scoms IR CCGT120404 PCD1 0.4 6.9 f& gy CNMG120408-TM ZC25 0.8 | 2.6
Shneyal 2AkTay CCGT120408 PCD1 0.8 6.9 i CNMG120412-TM ZC25 1.2 | 2.6
COCTOR0204AL K01 | 04 | 11
CCGT060208-AL ZKO1 0.8 1.1
CCGT09T302-AL ZKO1 0.2 1.4 CNMG120408R-X ZC25 0.8 2.6
CCGTO9T304-AL ZKO1 0.4 1.4 CNMG120408L-X ZC25 0.8 2.6
CCGT09T308-AL ZKO1 0.8 1.4
CCGT120402-AL ZKO1 0.2 2.3 R-X L-X
MbIC XaHe anomuHmit opTacs! CCGT120404-AL ZKO1 0.4 2.3 BonarTbiH katan engeyi
Onneyal aogtay CCGT120408-AL ZKO1 0.8 2.3
CNMG120404-TM ZC35 0.4 | 2.6
CCMT060204 ZM30 0.4 1.6 CNMG120408-TM ZC35 0.8 | 2.6
CCMT060208 ZM30 0.8 1.6
CCMT09T304 ZM30 0.4 1.7 OpTawa askray
CCMT09T308 ZM30 0.8 1.7 KaTrel Gonarrs etaey
CCMT120404 ZM30 0.4 2.4 =T
CCMT120408 ZM30 0.8 2.4 ( A #
BacnaiiTblH GonaTTaH xxacanfaH eHaeyl } - / (,} CNMG120404—HA ZKO1 0 4 2 0
LS CNMG120408-HA ZKO1 0.8 2.0
iy \-7—7‘5/ Mbic a\(éHE amOMW-;M'VJ opTachl
. OHpeyai askray
)’ < \ CCMT060204-FG ZN60 0.4 1.7
ooy e, CCMT09T304-FG ZN60 0.4 1.9
_ CCMTO9T308-FG ZN60O 0.8 1.9 CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
LlepmeT OpTawa ¥aHe Has ik Bonat
EBNWeKTED XAKoE aAKTaNA 6
LWoMbIHHEIH OTAWE BHARYI
CCMT060202-HQ ZN60 0.2 1.7
CCMT060204-HQ ZN60 | 0.4 | 1.7 8“”8]%8283 %ﬁgg 3¢ 20
CCMT09T302-HQ ZN60 0.2 1.9 ' :
CCMT09T304-HQ ZN60 0.4 1.9
LiepreT OpTawa xsHe Hezik Bonar WoibIHHbIH OpTaWa eHAeyi
EaNWEKTED KAKC Ll 2AKTAN b
/ i CNMG120408-HS ZM30 0.8 | 2.6
= Y CCMT060204-MT ZN60 0.4 1.7 )
_ COMTO9T304-MT ZN60 08 1.9 BacnaiiTeiH GDNaTTan ¥acanFaH eHaey|
CCMT09T308-MT ZN60 0.8 1.9
R orrep wancw ampranans CNMG120404-MA ZM30 | 0.4 | 2.6
CNMG120408-MA ZM30 0.8 | 2.6
; g : CCGT060202EL-U ZN90 | 0.2 4.0
A CCGT060204EL:U ZN90 | 0.4 4.0 IR ARASTS T o.M 24
ﬁ_— CCGTO9T302EL-U ZN9O | 0.2 4.0 -
CCGTO9T304EL-U ZN9O | 0.4 | 4.0 CNMG120408-MS ZM30 | 0.8 | 2.6
Cermet Fine Steel
BenuwekTtep xakcbl askranasbl
CNMG120404-HQ ZN60 0.4 2.3
e CNMG120408-HQ ZN60 0.8 2.3
CCGT060202ER-U ZN9O 0.2 4.0 LlepmeT OpTalla ®aHE Ha3 K Bonat
CCGT060204ER-U ZN9O | 0.4 | 4.0 Pele R e e
s CCGTO9T302ER-U ZN90 | 0.2 4.0 j 2
| — CCGTO9T304ER-U ZN90 | 0.4 | 4.0 Q CNMG120404-TS ZN60 0.4 | 2.3
L-' - —— CNMG120408-TS ZN60 0.8 2.3
Cermet Fine Steel
BenwekTep xakcbl askTanabl LiepmeT OpTalwa xeHe Hazik bonat
Benmek'reu XKaKCbl aaKTanabl

JKyK TacbimangayaaH, canblkTaH XXaHe anbiMHaH XXofapbl 6arara Kipmenai.
KelTangarbl gonnapnbelk mamine 6aracol KeiTanga.
e p cisgecypakTtap TyblHAaca, anekTpoOHAbIK nowTa: eva@mzgtool.cn

http:// www.mzg.tw


http://www.mzg.tw

Turning Inserts

Turning Inserts

OHim cypeTTepi Epekweniktep R uUsbD OHim cypeTTepi Epekweniktep
DCGT070202 CBN1 0.2 6.9 =
) DCGT070204 GCBN1 0.4 6.9 Q
., DCGT070208 CBN1 0.8 6.9 DNMA150404 CBN1 0.4 6.9
. DCGT11T301 CBN1 0.1 6.9 DNMA150408 CBN1 0.8 | 6.9
i DCGT11T302 CBN1 0.2 6.9 '
DCGT11T304 CBN1 0.4 6.9 LUoREIH #aHE KATTH BeToH
LDt o £ §ETTH BETaH DGGT11T308 CBN1 0.8 6.9 MeTEpHATAR AR Srid=vA| aniTay
MAaTEAMANAZ AL BHABYA] 3AKTAY DCGW11T308 CBN1 0.8 6.9 -
2 A DCGT070201 PCD1 0.1 6.9
‘ DCGT070202 PCD1 0.2 6.9 DNMA150404 PCD1 0.4 | 6.9
DCGT070204 PCD1 0.4 6.9 DNMA150408 PCD1 0.8 | 6.9
DCGT070208 PCD1 0.8 6.9 \
DCGT11T301 PCD1 0.1 6.9 WISIE SKEHE A0k il
DCGT117302 PCD1 0.2 | 6.9 AR
Wi oretr DCGT11T304 PCD1 0.4 6.9
GHaEYAl ATKTAY DCGT11T308 PCD1 0.8 6.9 DNMG150404-HA ZKO1 0.4 4.3
-3 DNMG150408-HA ZKO1 0.8 | 4.3
ol DNMG150604-HA ZKO1 0.4 4.9
DCGT070202-AL ZKO1 0.2 1.4
_ DNMG150608—-HA ZKO01 0.8 4.9
- Q ng?z%gg—ﬁt %ﬁg} 8 ‘21 1 2 Meit }KQ@HE ANKMAHAR ORTAL b
N - EWAl aRKTS!
DCGT11T304-AL ZKO1 | 0.4 | 1.6 Ll
DCGT11T308-AL ZKO1 0.8 1.6

MBIC XEHE 2NHOMUHKAR DPTACE
OHAEYLI a8KTS

DNMG110404-FG ZN60 0.4 |26

DCMT070204-MV ZM30 0.4 1.6
DCMT11T304-MV ZM30 0 .7

LiepmeT OpTawa xaHe Hasik Bonat
BenwekTep xakcbl askTanabl

BacnaiTbiH GONATTaH ¥ECANFaH BHAE

DNMG150404-HQ ZN60 0.4
DNMG150408-HQ ZN60 0.8

b
oo

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

LlepMeT OpTalla #sHe He3ik Bonar
BaNWeKTED XakoH aAkTangsl

BacnaiTeiH GONATTAH XECANFaH BHAE

DCMT070204-FG ZN6O DNMG150404L-VF ZN60 | 0.4 | 2.6

0.4 7
DCMT11T302-FA ZN60 0.2 1.9
DCMT11T304-FG ZN60 0.4 9

Cermet MediumAnd Rough Steel
EE!ﬂLUEKTEp WAKCHl 2AKTana bl

LlepmeT Oprawa xaHe Hasik Bonat
BenwekTep xakcbl askTanibl

oy
v il
@’ / DCMT070202-HQ ZN60

=Ty

DNMG150404R-VF ZN60 | 0.4 | 2.6

/ 0.2 1.7
(% DAt 0.4 | 1.7 Saueirep Katon sncrana
DCMT11T304-HQ ZN60 0.4 1.9
UepmeT OpTala keHe Hesik Bonat
BanWekTen ¥akt ol aAkTanabl
‘ . DCGT11T302FL-U ZN90 | 0.2 4.0
— DCGT11T304FL-U ZN90 | 0.4 4.0
Cermet Fine Steel
EBNWEKTEP KaKtbl aAKTaNA bl
DCGT11T302FR-U ZN90 | 0.2 4.0
DCGT11T304FR-U ZN90 | 0.4 4.0

Cermet Fine Steel
BANWEKTED KaKEbl 3AKTaNLE

Kyk TacbimangayfaH, canblkTaH XaHe anblMHaH Xofapbl 6arafa kipmengi.
KbiTangarbl gonnapnblik Mamine 6aracol KoiTanga. htto:
Er e p cisgecypakTap TyblHAaca, anekTpoHabIK NowTa: eva@mzgtool.cn ttp:/lwww.mzg.tw



http://www.mzg.tw

Turning Inserts
Turning Inserts

Py

OHim cypeTTepi Epekweniktep OHim cypeTTepi Epekweniktep

S

LWoiibiH K8H8 KETTbI BeTon
Matepuanaapael eHaeyai asktay

SNMG120404 CBN1
SNMG120408 CBN1

e
© A~

oo
0 0o

Q‘Q
——

Mbic€ 5kéHe anioMiiHni
OHaeyai asakTay

SNMG120404 PCD1
SNMG120408 PCD1

oo

© M

oo
© o

roL

BonatTbiH KaTan eHaeyi

SNMG120408L-S

2025

0

8

2.6

KatTbl GonaTTbl kKaTan eHaey

SNMG120408L-S

2035

0

8

2.6

BonatTbiH KaTan eHaeyi

SNMG120408R-S

2025

0.8

2.6

LWoWbIH )8He KaTTbl 6eToH
MaTePlflaﬂﬂapﬂb\ eHaeyal askTay

TBGT060102 CBN1
TCGT110302 CBN1
TCGT16T302 CBN1
TCGT16T304 CBN1
TCGT16T308 CBN1
TPGT080202 CBN1
TPGT080204 CBN1
TPGT090202 CBN1
TPGT090204 CBN1
TPGT110202 CBN1
TPGT110204 CBN1
TPGT110302 CBN1
TPGT110304 CBN1
TPGT110308 CBN1

Melic xoHe antomMnuHuin
BHaeyai askTay

TBGT060102 PCD1
TCGT110202 PCD1
TCGT110204 PCD1
TCGT110304 PCD1
TCGT16T302 PCD1
TCGT16T304 PCD1
TCGT16T308 PCD1
TPGT080202 PCD1
TPGT080204 PCD1
TPGT090202 PCD1
TPGT090204 PCD1
TPGT110204 PCD1
TPGT110302 PCD1
TPGT110304 PCD1

COOOOCOOO0O0OO0OOO (OO0

ANADRMNANOANDRANNOANBANRANANORANNN

SOOI OOOO
0 "0 "0 ~0 0 *0 0 0 ~0 0 ~0 0 0 O [ 0 0 0 ~0 0 0 0 0 0 0 0 0 0 0

KatTbl GonaTTel kaTan eHaey

SNMG120408R-S

2035

0

8

2.6

SNMG120408-TM

2025

0

8

2.6

A

LiepmeT OpTawa xxaHe Hasik bonat
BenwekTep xakcbl askTanabl

TBGT060102L ZN90
TBGT060104L ZN90
TCGT110202L ZN90
TCGT110204L ZN90
TPGH080202L ZN90
TPGHO080204L ZN90
TPGH090202L ZN90
TPGH090204L ZN90
TPGH110302L ZN90
TPGH110304L ZN90

COoocooo0o00o0oo

ANDBNAEANBANAN

W WWwWwwwwwww

ABRDMAADADDDADN

MbIC XoHE antoMuHuit opTace!
OHxaeyai askray

SNMG120404-HA
SNMG120408-HA

ZKO01
ZKO01

oo

[ooJN>N

Mo
co

y :‘ § Py
LiepmeT OpTawa xoaHe Hasik bonat
BenuwekTep xakchl askranas!

TBGT060102L-W
TBGT060104L-W
TPGT080202L-W
TPGT080204L-W
TPGT090202L-W
TPGT090204L-W
TPGT110302L-W
TPGT110304L-W

ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90
ZN90

cCoocooooo

ANBRANANDAN

W W www www
N N AN NN N

ol

BacnanTbiH 6onaTTaH xacanfaH eHaey|

SNMG120408-MA

ZM30

0

8

2.6

SNMG120404-MS

ZM30

0

4

2.6

LiepmeT OpTawa xoHe Hasik bonat
BenuwekTep xakchbl askranas!

TCMT090202-HQ
TCMT090204-HQ
TCMT110202-HQ
TCMT110204-HQ
TCMT110208-HQ
TCMT16T304-HQ

TPMT110304-HQ
TPMT110308-HQ

ZN60
ZN60
ZN60
ZN60
ZN60
ZN60

ZN60
ZN60

coocooo

o

(o> AOBANAN

N
ANNNNN

N~

SNMG120404-HQ
SNMG120404-HQ

ZN60
ZN60

°F
CEN

NN
w w

Liepmet OpTalwa xaHe Hasik Bonat
ESJ'HJJEKTSP JXKakcbl agkrangbl

SCMTO9T304-MT

ZN60

0

4

1.9

MbIC 3XoHE antoMUHKUA opTach!
OHpaeyai askTay

TCGT090202-AL
TCGT090204-AL
TCGT110202-AL
TCGT110204-AL
TCGT110302-AL
TCGT110304-AL
TCGT16T302-AL
TCGT16T304-AL
TCGT16T308-AL

ZKO1
ZK01
ZKO01
ZKO01
ZK01
ZKO01
ZKO1
ZK01
ZKO01

Ceooooooee
CORANBNENBAN

N~N~NoohRADMPAN

jo.

MbIc KeHe anioMmuHnii opTacs!

OHaeyai askray

SCGTO9T304-AL
SCGT09T308-AL
SCGT120404-AL
SCGT120408-AL

ZKO1
ZKO01
ZKO1
ZKO1

cooco

[o o2 >N N

RGN NN
OO DM D

BacnaiiTbiH 6GaTTaH KacanraH eHaey|

TCMT110204 ZM30
TCMT110208 ZM30
TCMT16T304 ZM30
TCMT16T308 ZM30

e ore
[ NJ NN

NN ==

wwo o

YKyk TacbimangayaaH, canblkTaH XXeHe anbiMHaH Xofapbl 6arara Kipmenai.

Erep

KelTangarbl gonnapnbelik mamine 6aracol KeiTanga.
ci3ge cypaktap TyblHAaca, afiekTpoHAablk nowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Turning Inserts
Turning Inserts

OHim cypeTTepi

Epekweniktep

OHim cypeTTepi

Epekweniktep

® / : \ TNMG160404L-C ZN6O | 0.4 .9
TNMA160402 BN 0.2 | 6.9 - () TNMG160408L-C ZN60 | 0.8 9
TNMA160404 CBN1 0.4 6.9 —_— —
TNMA160408 CBN1 0.8 6.9 TNMG160404R-C ZN60 0.4 .9
MaTLLId!Z‘bIH HBHE KATTbI BETOH LlepMeT:OpTauJa XKaHe HGSTK Bonart TNMG1 60408R_C ZN60 0.8 -9
@RWanAapALl eHaeynl aAKkTay BenwekTep xakchl askrangbl
Q TNMG160404L-S ZN60 | 0.4 .9
TNMA160402 PCD1 0.2 6.9 TNMG160408L-S ZN60 0.8 .9
TNMA160404 PCD1 0.4 6.9
TNMA160408 PCD1 0.8 6.9 TNMG160404R-S ZN60 0.4 .9
MBIE SKaHE aioMaHKi LlepMeR:-O%TauJa KaHe H,e-sTKSEonaT ULJEftalcts st 0.8 -9
Onneyni ankray BaniesTep ¥akcH AAKTANDR
A [} 2 -

s \\_; TNMG160404-CQ ZC25 0.4 2.3 & Yy TNMG160404L-VF ZN60 0.4 .9
/'_{._\ ’ VA TNMG160408-CQ ZC25 0.8 2.3 R B TNMG160408L-VF ZN60 0.8 .9
T SRS 1wyo160404-HQ 2025 | 0.4 | 2.3 ﬁ h TNMG160404R-VF ZN6O | 0. 4 9

cQ HQ TNMG160408-HQ ZC25 0.8 2.3 R-VF L-VF TNMG160408R-VF ZN60 0.8 .9
LlepmeT OpTawa xaHe Hasik Bonat
Bonartaiy opTawe enaeyi BonuwekTep akesl asKTanaLl
4 \"'\ ) TNMG160404L—-S ZC25 0.4 2.3 TNMG160404L-FS ZN60 0.4 .9
/ Q_ TNMG160408L-S ZC25 0.8 2.3 TNMG160408L-FS ZN60 0.8 .9
WL W TNMG160404R-S ZC25 | 0.4 | 2.3 TNMG160404R—FS ZN60 | 0.4 | 1.9
R-S L-S TNMG160408R-S Z(C25 0.8 2.3 R-FS L-F3 TNMG160408R-FS ZN60 0.8 29
LiepmeT OpTawa xaHe Hasik bonat
BonaTtTeiH KaTan eHaeyl BenwekTep xakchl agkranabl
TNMG160404L-S ZC35 0.4 2.3 A ‘
R 08 | 2.3 : TNMG160404-HQ ZN60 | 0.4 | 1.9
TNMG160404R-S 2635 | 0.4 | 2.3 B, 08 | -7
R-S L-s TNMG160408R-S 2635 | 0.8 | 2.3 Liopuier OpTaLIA HetIat R Bona
KaTThl fionatThl kaTan sHaey BenwekTep xakcbl asktanabl
I\
e TNMG160404-TM ZC25 0.4 | 2.3 ~
18 TNHG160408-TH 2625 | 0.8 | 2 3 ® e e 04| 7
SN o~ TNMG160412-TM ZC25 1.2 2.3 _ ’ \
LlepmeT OpTawa #eHe Halik Bonat
BONaTThIH OpTallla BHARYI BenuwekTep xakchl askranabl
TNMG160404-TM ZC35 0.4 2.3 TNMG160404-TS ZN60 0.4 .9
TNMG160408-TM ZC35 0.8 2.3 AW TNMG160408-TS ZN60 0.8 .9
[y
OpTawa anAkTay LlepmeT OpTawWwa KaeHE Hazik Bonat
KatTbl GonatTel eHaey BenwekTep xakcbl askrangbl
A TNMG160402-HA ZKO1 0.2 1.9
Az TNMG160404-HA ZKO1 0.4 1.9
) TNMG160408-HA ZKO1 0.8 1.9
MbIC % &HE anHmAHAA opTacsl
©OHpeyai askray
TNMA160404 ZK50 0.4 2.3
TNMA160408 ZK50 0.8 2.3
TNA g | TNMGTé0404 ZKSO 0.4 ) 2.3 - .| TNGG160402L-P ZN9O | 0.2 | 3.6
TNMG160408 ZK50 0.8 2.3 — =
Medium Rough Oprawa askray O: .) TNGG160404L—P ZN90O 0.4 .6
©HpeyCast Iron OngeyCast Iron .
2 i TNGG160402R-P ZN90 0.2 .6
TNMG160404-HA ZM30 | 0.4 | 2.3 RP | TNGG160404R—P 7N90 | 0 4 V1
TNMG160408-HA ZM30 | 0.8 | 2.3 e
9 BenwekTep xakcbl askTanabl
TNMG160404-MA ZM30 0.4 2.3
HA WA TNMG160408-MA ZM30 0.8 2.3
BacnaiTbiH foNAaTTaH KacanfaH enae
TNMG160404-MQ ZM30 0.4 2.3
TNMG160408-MQ ZM30 0.8 2.3
/A e TNGG160402L-S ZN9O | 0.2 6
BacnaiThiH hONATTaH ¥acanfan enae r @ ; o b TNGE160404L-S ZN90 0.4 -6
A H TNGG160402R-S ZN90 0.2 .6
R-S L-S TNGG160404R-S ZN90 0.4 6
TNMG1 60404_MS ZM3O 0.4 2.3 Cermet Fine Steel
TNMG160408-MS ZM30 0.8 2.3 BenwexTep xaxcel askTanae!
BacnanTbin GonartaH xacanrad eHaey|

Kyk TacbiMangayaaH, canbliKTaH XXaHe anblMHaH XXofapbl barafa Kipmengi.
KelTangarbl gonnapneik Mmamine 6aracol Keitanga.

c i3fe cypakTap TyblHaca, 3NeKTPoHAbIK nowTa: eva@mzgtool.cn http://www.mzg.tw

Erep


http://www.mzg.tw

OHim cypeTTepi

LWoWblIH )X8He KaTTbl 6eToH
Matepuangapabl eHaeyai askray

Epekweniktep

VBMT110302 CBN1
VBMT110304 CBN1
VBMT 160402 CBN1
VBMT160404 CBN1
VBMT160408 CBN1

VCGT110302 CBN1
VCGT110304 GCBN1
VCGT110308 CBN1
VCGT160402 CBN1
VCGT160404 GCBN1
VCGT 160408 CBN1
VCGT160412 CBN1

Py

OPe OO
OANBN

eSS Ll
NoOAN®OAN

o000 0O O

~O 0 0 0 000

O 0 0 00

Turning Inserts
Turning Inserts

OHim cypeTTepi

LUOisIH ®eHe KaTTel GETOH
MATEPMANAZ PA LI BRAEYA] aAKTaY

Epekweniktep

VNMG160404 CBN1
VNMG160408 CBN1

S
0o N

oo

Rele]

w>

MEBIC XSHE 3NHMAHUIA
BHAEYAT aRKTaY

VNMG160402 PCD1
VNMG160404 PCD1
VNMG160408 PCD1

O o
® AN

oo o
000

MbIC oHe anioMuHwii
©OHaeyai askTay

VBGT110301 PCD1
VBGT110302 PCD1
VBGT110304 PCD1
VBGT110308 PCD1
VBGT160402 PCD1
VBGT160404 PCD1
VBGT160408 PCD1

VCGT110301 PCD1
VCGT110302 PCD1
VCGT110304 PCD1
VCGT110308 PCD1
VCGT160401 PCD1
VCGT160402 PCD1
VCGT160404 PCD1
VCGT160408 PCD1
VCGT160412 PCD1

coocooRo
©AN®AN=

g AR
NOAN—=0AN=

o000
<0 "0 0 0 0 0 ©O

o000
<0 ~0 \0 "0 "0 0 0 0 O

E0NaTTEIH OpTAWE BHAEY

VNMG160404-TM ZC25
VNMG160408-TM ZC25

oo

[ooJ=N

o
~N~

OpTawa ankTay
KaTTel GOnaTTel BHARY

VNMG160404-TM ZC35
VNMG160408-TM ZC35

es
NN

NN

MEIC %&HE 31HOMWHIR DpTaCck
SHAEYAI aAKkTay

VBGT110302-AL ZKO1
VBGT110304-AL ZKO1
VBGT160402-AL ZKO1
VBGT160404-AL ZKO1
VBGT160408-AL ZKO1

VCGT110302-AL ZKO1
VCGT110304-AL ZKO1
VCGT160402-AL ZKO1
VCGT160404-AL ZKO1
VCGT160408-AL ZKO1

COoRY e
©OANAN

Coooo
OANAN

NN =2

M ST

OO ==

OO ==

MbIC HSHE ANOMAHME 0PTaC bl
SHaeyal ankTay

VNMG160404-AL ZKO1
VNMG160408-AL ZKO01

oo
[N

NN
ww

EacnaiTaH BONATTaH a0 aNFaH sHIey|

VNMG160404 ZM30
VNMG160408 ZM30

oo
LN

NN

BacnaiTelH GONaTTaH KacanfaH a1 ey|

VBMT160404-MV ZM30
VBMT160408-MV ZM30

o
LN

ww
~~

Lepmer OpTawa kate Hasik Bonat
BaNWEKTED KAKCl 3AKTaNA I

VBMT110304-HQ ZN60
VBMT160404-HQ ZN60

oo

W

LiepmeT OpTawa xoHe Hasik bonat
BenuwekTep xakchl askranas!

VBMT160404-MT ZN60

Cermet Fine Steel
BEBNWEKTED KAKCE 3AKTANALE

VBGT110302L ZN90
VBGT110304L ZN90

oo

AN

Cermet Fine Stee|

EBNWEKTED XAKCH 3AKTANALEI

VBGT110302R-Y ZN90
VBGT110304R-Y ZN90

oce
AN

N~

BacnaidToH GONaTTaH xacanfad BHARY|

VNMG160404-HS ZM30
VNMG160408-HS ZM30

oo

o A

NN

LiepmeT OpTawa xeHe Hesik BonaT
BanWerTep Kako bl aAKTand bl

VNMG160404-MT ZN60
VNMG160408-MT ZN60

oo

©

SN
ww

YKyk TacbiMmangayaaH, canblKkTaH XXaHe anbIMHaH XXofapbl 6arara Kipmenai.

Erep

KbeiTangarbl gonnapnblk maMine 6aracel KeiTanaa.
cizge cypakrap TyblHAaca, afiekTpoHAblK nowTa: eva@mzgtool.cn

http:// www.mzg.tw


http://www.mzg.tw

OHim cypeTTepi

Epekweniktep

Turning Inserts

Turning Inserts

OHim cypeTTepi

Epekweniktep

7 AN
£ ;. L WHNGOB0404 GEN 021 6.9 /f’é;\ A WNMGOB0404-MA ZM30 | 0.4 | 2.6
L R G | MRRERRAR 00
LIoMBIH #&HE KaTThl GeTon
Matepuangapasl eHaeyai askray BacnaiiTeiH GonaTtTaH xacanfaH exaeyl|
HNMA0B0402 PCD1 N | e? WNMGOB0404-MQ ZM30 | 0.4 | 2.6
INWA0BO0404 PCDI 0.4 169 WNMGOB0408-MQ ZM30 | 0.8 | 2.6
WNMA080408 PCD1 0.8 6.9 ) ’
MbIC KOHE aRIOMAHM
©OHpeyni askTay BacnaiiTelH GonaTTaH xacarnfaH eHae
S -
@k \ IR x —m 04 | 206 WNMGOBO404-MS ZM30 | 0.4 | 2.6
/ ; WNMG080408-CQ ZC25 0.8 2.6 WNMGO80408—NS ZM30 08 26
% WNMG080412-CQ ZC25 1.2 2.6 ) ’
BonaTTblH opTawa eHaeyi BacnaiiteiH GonaTtTaH xacanfaH exaey|
f [}
N ~
Q& o (‘) ;& WNMG080404-HQ ZC25 0.4 2.6 A WNMG080404-HS ZN60 0.4 2.3
=) S WNMG080408-HQ ZC25 0.8 2.6 &“ WNMGO80408-HS ZN60 0.8 2.3
LiepmeT OpTalla KaHe Hazik Bonat
Bonattsiy opTawa engeyi BenwekTep xakchbl askranas!
WNMG080404L-S ZC25 0.4 2.6 =
B 0.8 | 2.6 = X WNMGO80404-HQ ZN6O | 0.4 | 2.3
WNMGOBO404R-S 2625 | 0.4 | 2.6 “E e 08 | 2.3
WNNMGO80408R-S 2C25 0.8 2.6 LlepmeT OpTalla KeHe Hasik Bonat
BonatTeiH katan eHaeyi BenwekTep xakchl askranb!
WNMG080404L-S ZC35 0.4 2.6 / \ WNMG080404L-X ZN60 0.4 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 -~ 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMGO80404R-S ZC35 0.4 2.6 WNMGO80404R-X ZN60 0.4 2.3
WNMGOB0408R-S ZC35 | 0.8 | 2.6 R-S L-8 WNMGOBO40BR-X ZN60 | 0.8 | 2.3
Cermet Medium And Rough Steel
BenuwekTep xakcbl agkTanabl
WNMGOBO404:TM 2025 0.4 2.6 G\" WNMGOB0404-MT ZN60 0.4 23
WNMG080408-TM ZC25 0.8 2.6 ;
o WNMGO80408-MT ZN60 0.8 2.3
WNMG080412-TM ZC25 1.2 2.6 [
T™M ZC25 TM ZC35 LlepmeT OpTawa xaHe Hasik bonat
BonaTTelH opTawa eHaeyi BenuwekTep xakcbl askranabl
WNMG080408-CM ZC25 0.8 2.6 WNMG080404-TS ZN60 0.4 2.3
WNMG080412-CM ZC25 1.2 2.6 WNMG080408-TS ZN60 0.8 2.3
Llepmet Oprawa xaHe Hasik Bonat
BenwekTep xakchl askranabl
WNMG080402-HA ZKO1 0.2 2.3
WNMG080404-HA ZKO1 0.4 2.3
WNMGO80408-HA ZKO1 0.8 2.3
MbIC KaHe anioMiuHui opTacs
OHaeyai askTay
WNMGO80404-HA ZM30 0.4 2.6
WNMGO80408-HA ZM30 0.8 2.6
BacnaiTblH 6onaTTaH xacarnfaH eHae
WNMA080404 ZK50 0.4 2.6
WNMA080408 ZK50 0.8 2.6
LLloiibiHHbIH OpTalla eHaeyi
WNMG080404 ZK50 0.4 2.6
WNMG080408 ZK50 0.8 2.6
LLlonbIHHbLIH OpTalwa eHaeyi

JKyk TacbiMangaygaH, canbliKTaH XXaHe anblMHaH XXofapbl barafa kKipmengi.
KbiTangarbl gonnapnbeik Mmamine 6aracbl KeiTanga.

Erep

cizpge cypaktap TyblHAaca, afiekTpoHAblK nowTa: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

TyTKkaHbl Bypay Kypanbl
Thread Turning Tool

OHim cypeTTepi Epekweniktep OHim cypeTTepi Epekweniktep
o 16ER 050180 ZP10 0.50 | 2.0
Machining 16ER 100180 2P10 Yo |20 16ER 2TR ZP10 2.0 | 2.0
ER | ZP 1.00 2.0 . .
16ER 1251S0 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 150180 ZP10 1.50 2.0 30 ° Tpaccara apHanfaH xintep
16ER 1751S0 ZP10 1.75 2.0 DIN103 TpaHcmuccuacel
16ER 2001S0 ZP10 2.00 2.0 CoptHpdllpney TexHONOIFNACH
16ER 250180 ZP10 2.50 2.0
:’ACD1 P . 16ER 3001S0 ZP10 3.00 2.0
Onaeva amtay o 16ER 350150 ZP10 3.5 | 2.0 16IR 2TR ZP10 20 | 2.0
16ER A60 ZP10 0.5-1.5 2.0 16IR 3TR ZP10 3.0 2.0
16ER AG60 PCD1 0.5-3.0 6.9 30 ° Tpaccara apHarnfaH xinTe|
o’ 16ER AGéO ZP10 0.5-3.0 2.0 DIFriHOS TpaECMMCCMﬂCbI b
\ 16ER G60 ZP10 1.5-3.0 2.0 Iwki caHbinaynapasi exaey
s 22ER 350180 ZP10 3.50 53 ZP10
22ER 4001S0 ZP10 4.00 5.1 General
- 22ER 500180 ZP10 5.00 51 Machining 16ER 11W ZP10 Tinch1 1100t 2.0
60 ° METpHKaANLIK ChpTKbI 22ER 6001S0 ZP10 6.00 5.1 16ER 14W ZP10 Tinch14100th 2.0
Tydinpi enney 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 Tinch19700th 2.0
16ER 24W ZP10 Tinch24100tl 2.0
' ' e S 7 Bl T | ISt 20
- . OHpeyai askTay . . 2
SER2525M16 - 9.3 * 16ER AG55 PCD1 0.5-3.0| 6.9
SER2020K22 - 9.6 O 16ER AG55 ZP10 0.5-3.0( 2.0
SER2525M22 - 13.1 4 16ER G55 ZP10 1.5-3.0| 2.0
oo ser | SERS23P2) = | 2 ‘_& 28R N65 P10 [35-5.0| 5
B-SEL1212H16 - 9.6 55 ° poiimaik CEIPTHEI
B-SEL1616H16 - 9.6 Tviilriai enagy
B-SEL2020K16 - 9.6 ZP10
Qutpis ewaey vovonorvron SRR — L I\G/I:x{r?ilng 061R A55 ZP10 0.5-1.25| 4.7
ZP10 061R A60 ZP10 0.5-1.25 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 1501S0 ZP10 1.50 4.1 11IR 19W ZP10 Tinch19T00th 2.0
Machining 08IR A60 ZP10 0.5-1.5 4.1 16IR 11W ZP10 Tinch1 1100ty 2.0
111R 1501S0 ZP10 1.5 2.0 161R 12W ZCO1 Tinch1 2100ty 2.0
111R 2001S0 ZP10 2.0 2.0 12|R 13W ZP}g Tinch14700th 2.0
111R A60 ZP10 0.5-1.5 2.0 PCD1 . IR 19W ZP Tinch19T00th 2.0
HE RNy NEE R
16IR 100150 ZP10 1.00 2.0 16IR AG55 ZP10 0.5-3.0| 2.0
161R 1251S0 ZP10 1.25 2.0 161R G55 ZP10 1.5-3.0| 2.0
e — 16IR 150150 ZP10 1.50 2.0 . 22IR N55 ZP10 3.5-5.0| 5.1
1618 20010 010 | 200 | 2.0 ! e
IR 2 oot 200 20 16ER 120N ZP10 neh 2000t 2.0
' ’ 16ER 14UN ZP10 Tinch14100ty 2.0
161R 3501S0 ZP10 3.50 2.0 16ER 16UN ZP10
= Tinch16Tooth 2.0
161R A60 ZP10 0.5-1.5 2.0 16ER 1
_ 8UN ZP10 1inch18To0th 2.0
161R AG60 PCD1 0.5-3.0 6.9 16ER 20UN ZP10 1120 20
161R AG60 ZP10 0.5-3.0 2.0 60 * BHEDIKANAL K CLpTR fnch£UTooth 2.
161R G60 ZP10 1.5-3.0 2.0 IHAI BHAEY
22IR 350180 ZP10 3.50 5.1
221R 4001S0 ZP10 4.00 5.1 161R 12UN ZP10 Tinch1 2700ty 2.0
22IR 500180 ZP10 5.00 5.1 161R 14UN ZP10 Tinch14t00th 2.0
60 ° MeTpuKanbIK ilki Tecik 221R 6001S0 ZP10 6.00 51 16I1R 16UN ZP10 Tinch16Tooth 2.0
Tyitingi eHaey 221R N60 ZP10 3.5-5.0 5.1 161R 18UN ZP10 1inch18700th 2.0
60° WA Tecik 161R 20UN ZP10 1inch20T00th 2.0
SNROO05K06—-A12 - 7.1 Tywningi engey
SNRO007J08 - 5.1
SNR0008K08 - 5.1 16ER 11BSPT ZP10 Tineh1 1100ty 2.0
16ER 14BSPT ZP10 Tinch14100th 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 4 5.4 16ER 28BSPT ZP10 11nch28100th 2.0
BSPT 6pMTaHﬂblK CTAHAARTTE KOHCTRYKTOPBIK Ky6bip
SNROO1 3N1 6 . 6 1 CHIPTEEL T\EFIEDEII BHOE
SNRO014N16 - 6.7 -
SNRO016Q16 - 6.7
SNROO20R16 - 7.1 161R 11BSPT ZP10 Tineh1 1100ty 2.0
SNR0025S16 S 1.7 161R 14BSPT ZP10 Tinch14700ty 2.0
SNRO032T16 - 20.3 BSPT 6putaHiblk CTAHAAPTTE kOHCepBaTopb!
Twki TYTiK Twki
SNRO020R22 - 10.7 Tecikrepai enaey
SNR0025S22 - 14.3
idyrecik SNR0O032T22 - 22.9
R 16ER 11.5NPT ZP10 Tinen11. Bre| 2.0
16ER 14NPT ZP10 Tinch14t00th| 2.0
TKFT. . o TIP.. 16ER 18NPT ZP10 Tinoh18Tcotn| 2.0
’0 TKFT6001 ZP15 0.5-3.0 | 5.9 NPT ryTiKweci
4 CoptOpd0ney TexHONOT P S Chl
60 METaNIK SHASY TTP6001 ZP15 0.5-3.0 5.9 /g,
LafsiH B8nWeKTED
TP 161R 11.5NPT ZP10 inch11. Btooth 2. 0
o 161R 14NPT ZP10 Tinch14100th| 2.0
pum—=q TTPR12 - 9.3 n—
TTPR16 - 1.7 NPT Tyrikwect ki Tecik
Tyninai eHpey

XKyk TacbimangayaaH, canblKTaH XXaHe anbiMHaH Xofapbl 6arara kKipmenai.
KbiTangafbl gonnapnblk Memine 6aracol KeiTanga.
E r e p cisgecypakTap TyblHOaca, a1IeKTpoHAbIK NowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

KiwkeHe 6eniktepai kecy / kecy
Cut-Off/Grooving/Back Turning Of Small Parts

OHim cypeTTepi Epekweniktep Width USD ©Him cypeTTepi Epekweniktep Width USD
T16E100 ZP15 1.0 3.0 TKF12R100-S ZP15 1.0 5.9
T16E150 ZP15 1.5 3.0 - TKF12R150-S ZP15 1.5 5.9
T16E160 ZP15 1.6 3.0 TKF12R200-S ZP15 2.0 5.9
T16E200 ZP15 2.0 3.0 ( ) TKF16R100-S ZP15 1.0 6.6
T16E250 ZP15 2.5 3.0 \ / TKF16R150-S ZP15 1.5 6.6
T16E300 ZP15 3.0 | 3.0 iuene Sonrepal 1oces| TKF16R200-S ZP15 2.0 | 6.6
Taner TKF12R100-816R ZP15 | 1.0 | 5.9
- TKF12R150-S16R ZP15 1.5 5.9
e ) TKF12R200-S16R ZP15 | 2.0 | 5.9
( ) TKF16R100-S16R ZP15 1.0 6.6
\L / TKF16R150-S16R ZP15 1.5 6.6
SER1616H16 - 7.1 - _ TKF16R200-S16R ZP15 | 2.0 | 6.6
SER2020K1 6 — 7.1 WarbiH GenwekTepai kecin TacTa:
SER2525M16 - 9.3 {
T11N100 ZP15 1.0 | 3.0 ‘ ILGEER] Z21) - %
T11N150 ZP15 1.5 3.0
T11N200 ZP15 2.0 3.0 ) 1
ApTka KiwkeHe GenikTepai Gypy
T16N100 ZP15 1.0 3.0
T16N150 ZP15 1.5 3.0
T16N160 ZP15 1.6 3.0
T16N180 ZP15 1.8 3.0
T16N200 ZP15 2.0 3.0
T16N230 ZP15 2.3 3.0 KTKFSL1010JX12 - 11.9
T16N250 ZP15 2.5 3.0 KTKFSL1212JX12 - 11.9
WHBeHTapb CnoThiHbIK eHi 0.5-3 mm xaHe TepeHairi 1-2.2 mi p N KTKFSL121 2JX16 a 1 1 ) 9
Kanni warepuan xenaenen kecin keryiwyman | T16N300 ZP15 3.0 3.0
5.1
5.4 KTKFSL. .

SNROO10K11 -
SNROO12M11 -
SNROO13N16 -
SNROO14N16 y-
SNR0016Q16 N
SNROO20R16 -
SNR0025S16 -

ZNooo
AR

KTKFRO810JX12 ¥ 1.9
KTKFR1010JX12 - 9.4
1 KTKFR1212JX12 - 9.4
KTKFR1616JX12 - 9.4
16° CTP10FR ZP15 1.0 5.9
Taper 7 CTP15FR ZP15 1.5 5.9 KTKFR1010JX16 9.4
Ve \“ CTP20FR ZP15 2.0 5.9 KTKFR1212JX16 9.4
( ) CTPA10FR ZP15 1.0 6.6 KTKFR1616K16 9.4
) / CTPA15FR ZP15 1.5 6.6 KTKFR.. KTKFR2020JX16 - 10.7
B CTPA20FR ZP15 2.0 6.6
WarblH GenwekTepai kecin Tactay
CTP10FRN ZP15 1.0 5.9
% £ CTP15FRN ZP15 1.5 5.9
Th i e FVC1604R150 ZP15 | 1.5 | 4.3
\ / CTPA15ERN ZP15 15 6.6 FVC1604R200 ZP15 2.0 4.3
i i i ' ' FVV1604R300 ZP15 3.0 4.3
ke = AW EhaITERY - CTPA20FRN ZP15 2.0 | 6.6
GTPSL10 - | 107
CTPSL12 - 119
AsikTayablH 6eT xafblH eHaey
CTPASL10 - 10.7
CTPASL12 - 1.9
CTPSL
CTPASL. . CTPASL16 - 14.3
CTPRO8 - 1.9
CTPR10 o 9.4 SVQCR2020K16-NJ - 1.9
CTPR12 - 9.4
CTPR16 - 9.4
CTPR20 - 10.7
CTPAR10 - 9.4
CTPAR12 3 9.4
CTPAR16 e 9.4
CTPR/CTPAR. . CTPAR20 - 10.7
CTPAR25 - 14.3
VG1604R250 ZP15 2.5 4.3
VG1604R300 ZP15 3.0 4.3
TTB6001 ZP15 - 5.9
AsikTayablH 6eT xafblH eHaey
ApTka KiwkeHe Geniktepai Gypy
TBPR10 - |94
TBPR12 o 9.4 SGIVFR16Q16 - 14.3
gt SGIVFR20Q16 = 14.3
@ TBPAR10 - 9.4 SGIVFR25R16 - 16.7
TBPAR12 - 9.4
TBPAR16 - 9.4

SGIVFR. .

YKyk TacbimangayaaH, canblKkTaH XXaHe anbiMHaH XXofapbl 6arara Kipmenai.
KbeiTangarbl gonnapnbelk mamine 6aracol KeiTanga.
E r e p cisgecypakrap TyblHAaca, 9NeKTpoHAbIK NowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

©OHiM cypeTTepi

WHBeHTapb CNOTbIHbIH eHi 0.3-3.2mm
Tanpaamanbl kecy TepeHairi 0.8-4 mm
Kannbl MmaTepuan MyMmkiH
KenAeHeH KeciHis

CbIpTKbl LUNNHAPAIK ONbIKTapAbl Oypfbifiay kypanol
External Cylindrical TyTkaHbl 6ypy Kypanbl

Epekweniktep

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
TGF32R280 ZP15
TGF32R290 ZP15
TGF32R300 ZP15

Width USD

-

WNNNNNNPONNN = =S =

bl % Lt

O\OCD\IO\(.JWL\)Y\)AOOOO\IO\(.TI#Q)&I\)—\O(DU'!

NINBINRND NN MR N RN R MBI NN NN N
[o Yo NY'e N N Nfe N Yo NYo Yo NY'e N’ N« Ni'e N N N NYe NYe Ni'e Ni'e N NIG N

©HiM cypeTTepi

.
VHBEHTapb CNOTbIHbIH eHi 0.3-3.2mm
Tanaamansl kecy TepeHairi 0.8-4 mm

XKannel matepuan MymkiH
KenaeHeH KeciHi3

Epekweniktep

TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
TGF32L220 ZP15
TGF32L230 ZP15
TGF32L250 ZP15
TGF32L260 ZP15
TGF32L270 ZP15
TGF32L280 ZP15
TGF32L290 ZP15
TGF32L300 ZP15

Width USD

WNNNNPNDONNDN A= =S

NN = Y =)

O\OCO\IO\(ﬂ(AJN—\O\OCO\IO\U'!b(A)EN—\OmU'\

MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F - 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 2 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3

KTGFSL. .

KTGFSR. .

S. . —-KTGFL.

S16N-KTGFL16
S20Q-KTGFL16
S25R-KTGFL16

9.3
1.0
13.1

S. . -KTGFR.

S16N-KTGFR16
S20Q0-KTGFR16
S25R-KTGFR16

9.3
1.0
13.1

-Erep

YKyk TacbiMmangaynaH, canblKkTaH }XoHe anblMHaH Xofapbl 6arara kipmenai.

KbiTangasbl gonnapnblk Mamine 6aracol KeiTanga.
ci3pge cypakTtap TyblHAaca, afieKTpOoHAbIK nowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

CoipTKbl uunuHapnik / lwki Teciktepai Oypan Tecy kypansl

External Cylindrical/lwki Tecik onbikTapbl Turning Tool

Epekweniktep

OHim cypeTTepi

Width USD

GBA43R250 ZP15 2.5 6.1
GBA43R300 ZP15 3.0 6.1
GBA43R350 ZP15 3.5 6.1
GBA43R400 ZP15 4.0 6.1
GBA43R450 ZP15 4.5 6.1
VIHBEHTapb CNOTbIHbIH eHi 1.0-4.8mm
Tanaamansl kecy TepeHairi 2.0-5.0 mm|
XKannsl matepuan MyMmKix
KenaeHeH KeCiHi3
CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0
SGBSL..
SGBSL2020K43 - 10
SGBSL2525M43 - 14
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
GBA43L450 ZP15 4.5 6.1

/-~ .\:‘
-

MNHBeHTapb CNOTbIHbIH eHi 1.0-4.8mm
TaHnaamansl kecy TepeHAiri 2.0-5.0 mm|
XKannel matepnan MyMmKiH
KengeHeH KeciHia

CGBL.
CGBL1616H43 3 9.3
CGBL2020K43 - 13,1
CGBL2525M43 - 16 4
CGBSR. .
4 CGBSR2020K43 \ 12.4
CGBSR2525M43 - 19.0
SGBL.
SGBL1616H43 - 6.7
: SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR.
SGBSR2020K43 - 7
SGBSR2525M43 - 3

©Him cypeTTepi Epekweniktep Width USD

TecikTepal eHaey

GER100-A ZP15
GER150-A ZP15

SI1GER0606A-EH
SI1GERO808A-EH
Kektewmri 6onat

S|1GERO808A-EHT

KekTemri 6onat

RGN
oo

bl
~N~

19.0
1.9

1.9

TecikTepnl aHasy

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

SIGER1010B-EH
SIGER1210B-EH

KekTewmri 6onar

Kekrewri 6onpr S | GERT010B-EHT

SIGER1210B-EHT

DN = =
ocuvwouwo

e
ENENENENEN

TecikTepni sHaey

SI1GER. .

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

SIGER1412C-EH
SIGER1616C—-EH

KekTewmri 6onar

.KeKTeMI’i Gonat SI1GER1412C-EH

WWNN ==

oo ouoo

PRARMN
NN NN NN

TecikTepal aHgey

SIGER. . KekTemri 6on

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
SI1GER2525D-EH

ar

AN~

oo Uouo

goao oo
G RO

o>
~w

L
—

TecikTepAi oHgey

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGR08J0O7
SNGR10K07
Kektewmri 6onat

SNGR10K07

N — —

[@N¢, Ne)

Ho NI
oo o

.
oo

—

TecikTepadl aHaey

SNGR. .

8GR200 ZP15
8GR300 ZP15

SNGR10K08
SNGR12M08
KekTewmri 6onar

SNGR10K08

KekTtewmri 6orjat

wnN

oo

~O O

©
oo

TecikTepai engey

SNGR. .

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
cocoo

AA
w=22
-0 °

XKyk TacbiMmangayaaH, canblKkTaH XXeHe anbiMHaH Xofapbl 6arafa Kipmengi.
KeiTangarel gonnapnelk mamine 6aracbl KeiTanga.

Erep

c i3ge cypakTap TyblHOaca, afeKTpoHAbIK nowTa: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

Kbicy / kecyai bypay kypanbl
Grooving/Cut-Off Turning Tool

OHim cypeTTepi Epekweniktep Width USD OHim cypeTTepi Epekweniktep Width USD
MaTopMa AR SHAYal BaTay mgm;gg ggm ;8 2-3 VRUN200-G. ZP30 I
MGMN250 CBN1 2.5 | 6.9 -,;' MRMN200-M ZP30 RILO | 1.6
MGMN300 CBN1 3.0 | 6.9 MRMN300-M ZP30 R1.5 | 1.6
MGMN400 CBN1 4.0 | 6.9 -G -M MRMN400-M ZP30 R2.0 | 2.0
MGMNSOO CBN1 5 0 6 9 ’—DVTMHFTE AAKTAY
MbIC KoHe anomanni SonaT BenWwekTepiH NPogWUIBLEY
©Haeyai askTay MGMN150 PCD1 1.5 6.9 LLloWbIH xaHe KaTTbl 6eTOH
MGMN200 PCD1 2 0 6 9 MaTepuangapabl eHaeyai askray
MGMN250 PCD1 2.5 | 6.9 ’
MGMN300 PGD1 3.0 | 6.9 MRMN40O CBN1 R2.0 | 6.9
MGMN400 PCD1 4.0 | 6.9
o\
ﬂ‘ || MGEN300 ZP15 3.0 1.6 MGEHR1010-1. 5 1.5 | 9.0
?\I/ MGGN400 ZP15 4.0 | 1.7 MGEHR1010-2 20 Loo
Gt RS
Y MGEHR1212-3 3.0 9.0
[ || MGGN200-Q ZP15 2.0 1.7 MGEHR1616-1. 5 1.5 6.7
" W | MeeN300-Q ZP15 3.0 1.7 MGEHR1616-2 2.0 6.7
8° Taper MGEHR1616-2.5 2.5 6.7
Ketyal sraey MGEHR1616-3 3.0 6.7
) N MGEHR1616-4 4.0 6.7
[ || MGGN200 ZKOt 2.0 1.7 MGEHR2020-1. 5 1.5 6.7
' \ /| MGGN300 ZKO1 3.0 1.9 MGEHR2020-2 2.0 6.7
Cnppmmmh | MeaN400 ZKOT 40 | 23 MGEHR2020-2. 5 25 | 6.7
FICHE T
mggmgg %Eig ;8 H MGEHR2020-5 50 | 6.7
— - . MGEHR2020-6 6.0 8.3
c/ \\ MGGN250 ZP30 2.5 1.7 MGEHR2525-1. 5 1.5 9.0
\ /| MGGN300 ZP30 3.0 1.7 MGEHR2525-2 2.0 9.0
| MGGN400 ZzP30 4.0 | 2.0 MGEHR2525—2. 5 25 |90
HlALIpaY /KECyAl EHaey MGGN500 ZP30 5.0 2.7 MGEHR2525-3 3.0 9.0
MGGN150R-8 ZP30 1.5 | 1.7 R e O
— MGGN200R-8 ZP30 2.0 1.7 8 A -
" A\ MGEHR2525-6 6.0 | 10.7
c | MGGN250R-8 ZP30 2.5 1.9 -
w w MGEHR3232-2 2.0 16.4
J /| MGGN30OR-8 ZP30 3.0 2.0 MGEHR3232-3 50 16 4
8° Taper | MGGN4OOR-8 ZP30 4.0 2.4 RETE e oy
Kecyai swaey MGGNSOOR-8 ZP30 50 |34 Lnnunapnik oiteik / kecy MGEHR3232-5 50 | 16.4
MGEHR3232-6 6.0 17.9
< LSS el LR Kexremri Gonar MGEHR1010-1. 5T12 1.5 | 10.7
“m | MGGN200L-8 ZP30 2.0 1.7 R 0 o 2 )0 0
[ )| MGGN250L-8 ZP30 2.5 1.9 e ] S s o
\ | MGGN300L-8 ZP30 3.0 2.0 : : :
8° Taper MM | MGGNAOOL-8 ZP30 10 2 4 MGEHR1212-2T12 2.0 9.6
' ‘ MGEHR1616-1.5T13 1.5 9.0
Kecyaisnaey MGEHR1616-2T16 2.0 9.0
MGEHR1616-2. 5T18 2.5 9.0
MGMN150-G ZKO1 1.5 1.7 MGEHR1616-3T12 3.0 9.0
MGMN200-G ZKO1 2.0 | 1.7 MGEHR1616-3T720 3.0 | 9.0
MGMN200-M ZKO1 2.0 1.7 MGEHR1616-4T20 4.0 9.0
6 MGMN300-M ZKO1 3.0 1.7 MGEHR2020-1. 5T13 1.5 9.6
- _ 400 1 4.0 2.0 MGEHR2020-2T16 2.0 9.6
g7 N Coppegaraliminum MGNNAOO=M 20 MGEHR2020-3720 3.0 | 9.6
A=t et aluae MGEHR2020-4T20 4.0 | 9.6
- LMAMHApK ofibik K86y MGEHR2525-3T20 3.0 11.0
MGMN200-G ZN60 2.0 1.4 MGEHR2525-4T20 4.0 11.0
MGMN300-M ZN60 3.0 1.7
MGMN400-M ZN60 4.0 2.0 MGEHL1010-1.5 1.5 9.0
MGMN500-M ZN60 5.0 2.7 MGEHL1010-2 2.0 9.0
ODT&MB)K@HE\(C&KTEC\KTQP MGEHL1 212_1 . 5 ‘| 5 9 0
Bonat 6enwekTepiH )XaKcbl asKTaHbl3 MGEHL1 212_2 2.0 9 0
MGMN200-T ZP30 2.0 1.6 MGEHL1616-1. 5 1.5 6.7
MGMN300-T ZP30 3.0 1.6 MGEHL1616-2 2.0 6.7
MGMN400-T ZP30 4.0 2.0 mggngzgﬁ %g 2-;
_TUHTﬁacnalin\H ﬁon_al MGMN300-H ZP30 3.0 1.6 MGEHL1616-4 4.0 6.7
MGMN200-G ZP20 2.0 1.6 MGEHL2020-2. 5 2.5 6.7
MGMN250-G ZP20 2.5 1.6 MGEHL2020-3 3.0 6.7
i MGMN250-M ZP20 2.5 1.6 MGEHL2020-4 4.0 6.7
G MGMN300-M ZP20 3.0 1.6 MGEHL2020-5 5.0 6.7
EonaTTe TErNY MGMN400-M ZP20 4.0 2.0 MGEHL2525-2 2.0 9.0
TKecy oAy MGEHL2525-2. 5 2.5 9.0
MGMN150-G ZP30 1.5 | 1.6 mggntgg%gj 28 3-8
MGMN200-M ZP30 2.0 1.6 VG o A
MGMN200-G ZP30 2.0 1.6 N 0o e
MGMN250-M ZP30 2.5 1.6 e 1y o
MGMN250-G ZP30 2.5 1.6 NG R o
a B MGMN300-M ZP30 3.0 1.6 : :
G M MGEHL3232-5 5.0 16.4
PR MGMN400-M ZP30 4.0 2.0 o e e s
/Kecyni enaey MGMN500-M ZP30 5.0 2.7 Lnnungpnik onbik / kecy . .
Kyk TacbimangayaaH, canblKkTaH XaHe anblMHaH Xofapbl 6arafra Kipmenai.
KbiTangarbl gonnapnblk maMine 6arackl KoiTanaa. http:// ¢
Er e p cisgecypakTap TyblHAaca, anekTpoHAbIK NowTa: eva@mzgtool.cn p-//WWw.mzg.tw


http://www.mzg.tw

AsakTanfaH 6eT/ lwki Tecik TinikTepai bypay kypanbl
End Face/lwki Tecik onblkTapbl Turning Tool

OHim cypeTTepi Epekweniktep Width USD OHim cypeTTepi Epekwenikrep Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 |19.0 SHpey MGIVR3732-6 6.0 26.1
MGHH420R-160/400 4.0 |19.0 Iwki Tecik orbIKTaph!
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 K 6
MGHH425R-100/140 4.0 |28.6 exremrbonar
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
LeHbepai enaey
Coueinina GerinlgTTyu MGIVR2520-3T8 30 | 15.4
KekTewmri Gonar MGIVR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
e MGHH320R18-160/400 3.0 21.9
X MGHH325R18-160/400 | 3.0 | 23.9 __ Supey
| MGHH420R15-30/50 4.0 | 21.9 Ikl Tecypgeykraps
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGI1VL2016-2 2.0 1 9.3
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGI1VL2016-3 3.0 1 9.3
MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
LWeHBepai eHaey MGIVL2520-1.5 1.5 11.0
CoHblHAa GeTiHiH Whifybl MG1VL2520-2 2.0 11.0
Koktemri Gonar MGIVL2520-2. 5 2.5 |11.0
MGIVL2520-3 3.0 1.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 oo o MGI1VL3732-4 4.0 | 26.1
MFH425R08-25/140 4.0 24. 6 P MGIVL3732-5 5.0 26.1
MFH425R10-25/140 4.0 24. 6
LWeKbepai enaey
CoHblHAA GeTiHiH WhIFybI
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
Livnunapnik onblk
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
Lnnunapnik onblk

Kyk TacbimangayaaH, canblKTaH XXaHe anblMHaH XXofapbl 6arafa Kipmenai.
KbiTangarbl gonnapnbelk maMine 6arackl KeiTanaa.
E r e p cisgecypakTap TyblHOaca, 3NeKTpOHAbIK NowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

CNC 6ypay Kypansbl

CNC Turning Tool

OHim cypeTTepi OHim cypeTTepi

OHim cypeTTepi

5.4 1616H 6.4
5.3 2020K 6.4
5.4 2525M 8.9
6.0 SPe 3232P | 16.4
8.3
3232P 14.7 KTGFRIL..
4040R 21.9 ZQ.. K e c y aiewipyKypanb|H eHri3iHi3 IninicTi 6ypay KypanbliH eHri3iHi
1616H 6.7 SPB226, 11.9 KTGFRIL.. 1010 1.9
2020K 6.7 SP.. SPB326 11.9 InivicTi Gypay KypanbiH eHrisiHi3 1212 11.9
2525M 8.6 \ SPB426 11.9 1616 1.9
3232p | 14.7 - SPB232 14.3 - 2020 | 131
4040R 29.0 SPB332 14.3 - 2525 15. 4
SPB432| 14.3
SPB.. K e c y aiewipy kypaniH eHri3iHia KekTewmri 6onat
1616H 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ; 2020 22.6 1212 7.1
2525M | 8.6 [ 2525 | 22.6 1616 7.1
3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSRI/L..
W Lunungpnik Terictey kypans IninicTi Bypay KypanblH eHrisiHi
1616H 9.3 MGEHR/L.. K e c y ai6enrinenid010 7.1 1616 6.7
2020K 9.3 ITyTKaHel Gypy Kyparb! 1212 7.1 2020 6.7
2525M 1.0 1616 6.4 2525 8.9
3232P 14. 6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4
D Uununapnik Terictey Kypanst
S lwki Tecik TeTiriH KypanbiH eHrisiia S06K 5.4 MGEHR/L.. K e c y Al6enr|neH.i:1 010 9.6 1616 9.0
SO07K 4.6 ITyTKaHbI Gypy Kypars! 1212 9.6 2020 9.0
2 S08K 4.6 1616 8.9 ‘ 2525 1.9
=5  S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 11.0
S14N 5.4 SGBSR/L..
S16Q 5.7 KekTemri Gonarl IninicTi 6ypay KypanbiH eHrisiHiB
$18Q 6.4 1616 8.6
SR | 64 2020 | 8.6 2000 | 14
S258 9.7 2525 1.0 '
S327 14. 6 2525 16.4
MGEVR/L.. CGBRI/L..
IninicTi Bypay KypanblH eHri3iHid IninicTi Bypay KypanbiH eHrisiHig
ki Tecik TeHIH Kypanki oug S07 5.4 KekTemri Gona 16 9.3 1616 11.9
' S08 5.4 20 11.0 2020 14.3
S10 5.4 25 13.1 2525 17.9
S12 6.9 32 25.7
S16 8.6 40 54.3
$20 9.7 el KexkTemri Gosjat CGBSRIL..
KekTemri Gonat M?"Q’;E;ILb|T6yyppEle¥pean'1?‘e 20 15.4 IninicTi Gypay KyparnblH eHrisiHi3
H lwiki Tecik TeTiriH KypanbiH eHrisiHia S06 14.6 CGWSRI/L.. K e ¢ y ai6enrineHil616H 9.6 QE..R/L.. K e c y ai6enrineH{s 1616H 9.3
S07 14. 6 /TyTKaHbl 6ypy Kypansl 2020K 10.7 /TyTkaHbl 6ypy kypansi 2020K 11.0
S08 14. 6 2525M 12. 6
S10 16.4 3232P 20.0
S12 18.1 . o
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTR/L.. K e ¢ y ai Genrinexia 1616 15.3
S20 43.6 2020 10. 3 [TyTKakbl 6ypy Kypanel 2020 16.9
525 65.0 GYaMm.. 2525 11.9 s 2525 | 20.4
DGN.
GYHR/L.. K e ¢ y aibenrineHis
Xorapbl xbingamapikTasbl 6onafy /TyTKaHbl 6ypy Kypansi i
C lwiki Tecik TeTiriH KypanbliH eHrisiHia C04G 19.0 KGMRI/L.. K e ¢ y ai6enrinefiz 1010 10. 3 FGHH..R/L. . 1616 28.6
C05G 19.0 ITyTKaHbl Bypy Kyparsl 1212 10.3 : 2020 28.6
C06J 19.0 £ 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
CO8K | 22.6 GMN.. | 2525 12.9 EMNL S
C10K 26. 1 GMG.. 3232 20.0 R Kapa wer A
01 2M 33 3 TecikTepai eHaey
C14N | 52.4 TTER/L.. K e c y ai6enrinedjs 1010 | 10.3 1616 | 35.7
c1eq | 69.0 ITyTKaHb! GYpY kypan 1212 10.3 2020 | 38.1
c18Q | 81.0 1616 9.3 2525 | 42.9
C20R 95.3 2020 11.0
€258 204.7 2525 12.9
LiemeHTTenreH kap6pa B Ty 3232 20.0 End FaCe
Teciktepai enaey
S16Q 8.3 TTIR/L.. TypeInnarHole 16 14.3 " 1616 23.9
S20R 8.6 TyTKaHbl By py Kypans 20 16.7 y 2020 21.9
233? 12-2 25 19.0 o 2525 | 23.9
S40T/U | 28.9 MOMN. 8
S50V 72.1 End FaCe
S..M.. lwki Tecik TeTiriH KypanbiH eHrisjHia KekTemri 6onart Tecikreppi eHaey

Kyk TacbimangayaaH, canblKkTaH XaHe anblMHaH Xofapbl 6arafa Kipmenai.

- KbiTangarbl gonnapnblk Mamine 6aracbl KblTanaa. ]
Er e p cisgecypakTap TyblHAaca, anekTpoHAbIK NowTa: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

CNC TIOHUMHT Kypanbl 6eniktepi
bl Parts

CNC 6ypay kypan

OHim cypeTTepi Size UsD OHim cypeTTepi Size UsSD

MC0903 0.4 MOecOswru 7eplid HL1810 0.4
MC1204 0.6 HL1814 0.4
MC1604 1.1 HL1917 0.4
- MC1904 1.6 | HL2114 0.4
ey w227 | 0
HL2217%% 1.0
C-TOpishim HL2414 0.4
- MD1103 | MQ@Jdcliww 60pa v A a c b o g Li-ML520 0.3
. i MD1504 | 1.0 ML620 0.3
’ MD1506 1.1 ML625 0.3
ML630 0.3
ML830 0.8
D-TOpishim
MS0903 0.6 W-ObicOswte Te WT16 0.4
MS1204 0.6 Wwwos 0.4
MS1504 1.1
MS1904 1.6
S-T Opishim
MT1603 WAJ@Bcsw 60p 2 H A 2 ¢ & tger & pilli4C0525E 0.4
MT1604 1.1 WC0625E 0.4
<« WT2204 | 1 1
T-TDO piShim
MV1603 0.6 D-ObicOuwr T e piddg DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DW08 1.0
V=T OpiShim
! MWO0603 D04 cOww 60panaacen 1e pillibL525 0.7
w. MW0804 0.6 DL625 0.7
W-T i Shim
R STM16R 0.3 DDC12 0.5
. al | STM16L 0.3 DDD15 0.5
- - STM22R 1.0 DDT16 0.5
STM22L 1.0 DDV16 0.5
R L DDWO8 0.5
STM-T [ piShim D-T [ piShim Screw
CTM510 0.2 L-lwki BepTukanbabl TipeyiwTi Tehiisd 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T 0.2 L5.0 0.3
CTM618-W 0.2
(C?%ggg e 8 3 T-lwki BepTukanbabl TipeyiwTi T =¢t§ g } 8
CTM1022 0.3 TL2.5 1.0
CTM1022":5| 0.7 TL3.0 1.0
- TL4.0 1.0
/W TL5.0 1.0
OpTaHfbl 6ypaHaaHbl 6ypay
M2. 0X5 0.1 Tyagel kecinren Sypwag kinti T6 0.2
M2. 2X5 0.1 T7 0.2
M2. 5X5 0.1 - 8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 T20 0.2
M3. 5X10 0.1
mz g§g2 8 1 Ty3abl kecinrex 6ypuwak KinTi ¥(7) 8 g
M4.0X10 | 0.1 T8 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 120 0.8
T-TuATI OpIK KINTi TT6 1.0
17 1.0
T8 1.0
TT10 1.0
TT15 1.0
720 1.0

IpimMwwik xxnaek kypansl 6ypaHaac

Kyk TacbiMmangayaaH, canblKkTaH XXaHe anbIMHaH XXofapbl barara Kipmengi.

KbeiTangarbl gonnapnbelk maMine 6aracel KeiTanaa.

E r e p cisgecypakrap TyblHOaca, anekTpoHablk nowTa: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

Machine-Clamped Right-Angle Milling Cutter

Machine-Clamped Right-Angle Milling Cutter

o . . BekiTyre apHanfaH Tic Typi OH ak 6ypblLITbIK COHblIHAa Beime! b OH XKaK By pbILLNEH KOHFbINay Keckill KyparblHblH YCTafbl LUt
OHim cypeTTepi Epekweniktep R usD Wsep P P e Yo Y P :
Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder

-
| APKT113502 CBN1 0.2 | 69 D) 5 . e
APKT113504 GBN1 0.4 6.9 \ M ‘ L !
o APKT113508 CBN1 0.8 6.9 EpekwenikTep Barach:
OWbIH XX@He KaTThbl 3aTTap
dxDxL usb
Q BAP300R C10-10-120-1T 3.3
APKT160404 GCBN1 0.4 6.9 Epekwenikte b — 127100 .
APKT160408 CBN1 0.8 6.9 R gﬁggggg g}i—}i—}gg—g i-g
Waio e kAT 33772 BAP3-11-1T-M5 239 BAP30OR C14-14-150-2T | 4.6
= ~un A 053 BAPOOR C15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9 : BAP300R C15-15-200-2T 5.4
APKT113504 PCDI 0.4 | 69  BAP3-16-2T-M8 266 BAP30OR C15-16-150-2T 4.6
APKT113508 PCDT 0.8 | 6.9 [BAPSTIZZ2TTHE 8.6 BAP30OR 15-16-200-2T 5.4
Askray BAP3-20-2T-M10 31.0
Copper and Aluminum BAP3-21-2T-M10 31' 0 BAP300R C15. 6-16-150-2T 4.6
- —21-21 Y BAP300R C15.6-16-200-2T | 5.4
: BAP3-25-3T-M12 333 BAP300R C16-16-120-2T 4.6
) APKT160402 PCD1 0.2 6.9  BAP3-25-4T-M12 357 BAP30OR C16-16-150-2T 4.6
APKT160404 PCDT 0.4 | 69  BAP3-26-2T-M12 333 BAP30OR C16-16-200-2T 5.4
APKT160408 PCDT 0.8 | 6.9 [NBAPST2GSTTHIZ 333 BAP3OOR G16-16-250-2T 9.6
Anray BAP3-26-4T-M12 35.7  BAP30OR 016—17—120-2T 26
Copper and Aluminum BAP4-25-2T-M12 33.3 Tled '
ASEEIE S35  BAP3OOR C16-17-150-2T 4.6
k BAP300R C16—-17-200-2T 5.4
APKTI135PDER-AL ZKO1 | 0.8 | 1.4  Dhbi—s07217Mid ) BAPSOOR Gi-17-250-2T | 9.6
APKT1604PDER-G2 ZKO1 | 0.8 1.9 Eﬁgiﬁggigtmg 22-21 BAP300R G16-18-200-2T 6.1
OpTawa eHgey BAP4-35-3T—M16 42' 9 BAP300R C19-20-150-2T 5.4
Copper and Aluminum . BAP300R C19-20-200-2T 6.1
E;AP S!Eel o maDKﬁKwi:IsJiliLuK i BAP300R C20-20-120-2T 5.4
5 O R e BAP300R C20-20-150-2T 5.4
BAP Steel Right-Angle
‘., ’ APKT1604-AL ZKO1 0.2 1.9  End Miling Cutter gﬁggggs g%g_gg_ggg_g g‘})
| a——— '
BAP300R C20-21-120-2T 5.4
Cnppeé;m\)ﬁmmum BAP300R C20-21-150-2T 5.4
BAP300R C20-21-200-2T 6.1
BAP300R C20-21-250-2T 9.6
APITISSTG 2N60 ) 0.8 1.4 BAPGOOR 024 2520031 | 11 5
APMT1604-TG ZN60 0.8 1.9 BAP300R ($24-25-250-3T 14: 3
LiepmeT OpTalla *2He Ha3ik Bonat BAP300R C24-25-300-3T 20.4
BenuekTep xakowl aAkTanAe! BAP300R ($25-25-150-3T 10.3
- BAP300R ($25-25-200-3T 1.9
Epekweniktep FEiE(eld  BAP30OR €25-25-250-3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 DxdxT BAP300R (€25-25-300-3T 20. 4
BAP300R 40-22-4T 11.9 BAP300R €25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP300R 50-22-4T 15.3 BAP300R (C25-25-200-2T 8.9
BAP300R 63-22-6T 20.4 BAP300R (25-25-250-2T 1.9
BAP400R 40-22-3T 10.3 BAP300R €25-25-300-2T 19.0
BAP400R 50-22-4T 10. 3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 gﬁgiggs ggi—gg—;gg—g ;Z
— — 2 . 4 = - =, .
APMT1604PDER-H2 ZP25 | 0.8 1.9 gﬁgiggg ?8OE;ZEZT 3(2)‘ 4 BAP400R (€24-25-250-2T 1.9
BAP400R 125-40-7T 51.0 BAP400R ($24-25-300-2T 19.0
e oo | o (e G ala| 1
BAP400R 200-40-10T 119.0 —20-200~ -
APMT1135PDER-XM ZP25 | 0.8 | 1.1  BAP4OOR 250-40-12T 187.1 N e
” ” - : : BAP400R 300-60-14T 238.1  BAP40OR C25-25-300-2T 19.0
. BAP400R 50-25. 4-4T 1.9 BAP400R (€25-26-150-2T 7.9
| en— CANUET U] 720 | & BAP400R 63-25. 4-4T 15.3  BAP400R C25-26-200-2T 9.6
BAP400R 80-25. 4-6T 23.9 BAP400R (25-26-250-2T 1.9
XKannl watepuAnAapAarsl akaey BAP400R 100-31. 75-6T 35.7  BAP400R (25-26-300-2T 19.0
P e AL-BAP AnoMUHUI OH xaK BypbILUTIK COHbIHAA KeCK\LLIKBAIP400R 025_30_150_2T 10.3
' CRIALSEEE R 0.8 20 AL-BAP Aluminum Right-Angle End Milling Cutter %Aﬂ400R 025-30-200-2T 1.9
BAP4OOR €25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP400R (25-30-300-2T 20. 4
BAP400R (€32-32-150-3T 13.6
HRC 62 °-kaxofaphl KATTEINEIKTH OHAe BAP400R €32-32-200-3T 15.3
BAP400R (€32-32-250-3T 18.9
s . 4 APMT1135PDER ZP20 0.8 1.6 BAP400R (€32-32-300-3T 23.9
— ] BAP400R ($32-32-350-3T 27.1
" T APMT1604PDER ZP20 0.8 2.3 BAP400R (€32-32-400-3T 35.7
 —
B BAP400R (C32-35-150-3T 13.6
)KaﬂﬂblMaTEpVIaﬂ}lap,ClanlBHI:ley D BAP400R 032_35_200_3T 15 3
Epexwenikiep  faracs ISR S LI
APMT1135PDER ZP30 0.8 | 1.6 Ll BB8 BAP40OR €32-35-350-3T | 27. 1
AL-BAP400R 50-22-4T 16.9 " BAP40OR C32-35-400-3T 35.7
APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
XKannkl MaTepManAapaartl sHaey AL-BAP400R 80-22-6T 30.7 BAP400R (C32-40-200-3T 17.6
-~ AL-BAP400R 100-22-6T 54.6 BAP40OR C32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 953 BAP400R C32-40-350-3T 30.7
- APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0  BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 22.1
XKanmbl MaTEpUANAADAEFL BHASY AL-BAP400R 300-32-14T 340.3 BAP400R (C32-50-200-4T 27.1

XKyk TacbiMmangaygaH, canblKTaH XXaHe anbiMHaH xXofapbl 6arara kipmenai.
KbiTangafbl gonnapnblk Mamine 6aracol KeiTanga.

Er e p cisgecypaktap TyblHAaca, anekTpoHabIK nowTa: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

MawwnHameH KanTasifaH geHresiek MypblH KeCKiLl KeCKill

Machine-Clamped Round Nose Milling Cutter

OHim cypeTTepi

Epekweniktep

R

Barachl

RDMW1204MOT-PM ZP30 R6 1.7
RDMW1605MOT-PM ZP30 | RS 2.4

Xannbl MmaTepuanaapaarbl eHaey
ii I i RPGT1003-AL ZKO1 RS 1.9

OpTalla sHaey
Copper and Aluminum

n RPMW1003MO ZN60 RS 1.6
RPMW1003 ZN60non chamfering| RS 1.3
~— RPMT1204MO ZN60O R6 1.9

Liepmet OpTawa xoHe Hasik bonat

BenuwekTep xakchl asktanasl

RPMTO8T2-JS ZP25 R4 1.1
RPMT10T3-JS ZP25 RS 1.4

XXannel maTepuanpapaafsl eHaey
o\. RPMT1204MO0 ZM90 R6 2.0

HRC 62 ° -ka )ofapbl KaTTbINbIKTbl OHAE!

@ RPMT1204MO0 ZP30 R6 1.7

XXannel maTepuanpapaafsl eHaey
a\ ) RPMT1204M0 ZP60 R6 | 1.7

Xannel MaTepuanaapaarbl eHaey
: ” : RPMT1204-XM ZP25 R6 | 1.3

XKannel MmaTepuanaapaarsl eHaey
° RPMI1003MO ZM90 RS | 1.7

HRC 62 ° -ka )ofapbl KaTTbINbIKTbl OHAE!

' . RPMW1003MO ZP20 RS 1.3

XKannbl MaTepuanaapaarbl eHaey
RPMW1003MO ZP30 RS 1.3

XKannbl maTepuangapaafsl eHaey
\ ” RPMW1003MO ZP60 R5 1.3

XKannbl MmaTepuanaapaarsl eHaey
RPMW1003-XM ZP25 RS 1.3

Xannel MmaTepuanaapaarsl enaey

BeKiTyre apHanrak TICTePAIN TYpi [1OHTeNeK MYPLIHAL aRKTaY LI KeCKiL Keckius

Locking Tooth Type Round Nose End Milling Cutter

[NeHrenekTi Keckill KypanabiH KypacThipyLbIChl

Epekweniktep
DxDxLxT

EMR C10-4R10-120-1T
EMR C12-4R12-130-1T
EMR C12-4R13-130-1T
EMR C16-4R16-150-2T
EMR C16-4R16-200-2T
o clem e
E i B —4R17-200~
EMRR4-16-2T-M8 28.6 EMR 620-4R20-150-2T
EMRR4~17-2T-M8 28.6 EMR ©20-4R20-200-2T
EMRR4-20-2T-M10 31.0  EMR C20-4R20-250-2T
EMRR4-21-2T-M10 31.0  EMR C20-4R21-150-2T
EMRR4~25-2T-M12 33.3 Ems 8%8:;‘&%2, :%gg:g
R 2 2115 229 EWR C19-5R20-200-2T
EMRR4—25-3T—-M12 35.7 _SRAV=AUT=
o EMR C20-5R20-150-2T
EMRR4—26-3T—M12 357 ENR C20-3R20-200-2T
EMRR5-21-2T-M10 31.0 EMR C20-5R21-150-2T
EMRR5-25-2T—M12 33.3  EMR C20-5R21-200-2T
EMRR5-26-2T—-M12 33.3  EMR C20-5R21-250-2T
EMRR5-30-2T-M16 38.1  EMR C20-5R25-150-2T
EMRR5-32-2T-M16 38. 1 Ems g%gzggggzgggzg
B T2 500 EMR C20-5R30-110-2T
EMRWR5-32-3T-M16 40. 4 SR U=
e EMR C24-5R25-150-2T
EMRWR5-35-3T-M16 429 EMR G24—BR25-200-2T
EMRWR6—-26-2T-M12 33.3 EMR C24-5R25-300-2T
EMRWR6-30-2T-M16 38.1  EMR G25-5R25-150-2T
EMRWR6-32-2T-M16 38.1  EMR C25-5R25-200-2T
9

EMRWR6—-35-3T-M16

42.

G25-5R25-250-2T
G25-5R25-300-2T

EMR Steel leHrenek MypblHAbI afKTayLbl KECKill KECKiLl EMR

EMR Steel Round Nose End Milling Cutter

barfach|

G25-5R26-150-2T
G25-5R26-200-2T
G25-5R26-250-2T
G25-5R26-300-2T
G25-5R30-150-2T
G25-5R30-200-2T
G25-5R30-250-2T
G25-5R30-300-2T
(32-5R35-150-3T
(32-5R35-200-3T
(32-5R35-250-3T
(32-5R35-300-3T
(32-5R35-350-3T
(32-5R35-400-3T
(32-5R40-150-3T
(32-5R40-200-3T
(32-5R40-250-3T
(32-5R40-300-3T
(32-5R40-350-3T
(32-5R40-400-3T
(32-5R50-150-4T
(32-5R50-200-4T

Epekweniktep EMRW G25-5R25-150-2T
DxxT (LB EMRW C25-5R25-200-2T
il 503 EMRW G25-5R30-200-2T
EMR 5R100-32-6T % 4 EMRW C25-5R30-250-2T
e [ EMRW C32-5R35-150-3T
510" EMRW 632-5R35-200-3T
EMR 5R160-40-8T 611 EMRW C32-5R35-250-3T
EMR 5R50-25. 4-4T 119 EMRW C32-5R35-300-3T
EMR 5R63-25. 4-4T 15.3  EMRW C25-6R32-150-2T
EMR 5R80-25. 4-6T 239 EMRW G25-6R32-200-2T
EMR 5R100-31. 75-6T 357 NESEERS e el
il 100 ENRW C32-6R32-150-2T
97— ", EMRW C32-6R32-200-2T
EHRYCR Ol 204 ENRW C32-6R32-250-2T
EMRW 6R100-32-6T 32. 4 eR37-300—
EMRW C32-6R32-300-2T
EMRW 6R125-40—7T 510 EMRW C32-6R32-350-2T
EMRW 6R160-40-8T 61.1 EMRW C32-6R32-400-2T
EMR 6R200-40-10T 119.0  EMRW C32-6R35-150-2T
EMR 6R250-40-12T 187.1  EMRW C32-6R35-200-2T
EMR 6R300-60-14T 238 | O
B ol 1 EMRW C32-6R32-350-2T
EMRW 6R63-25. 4-4T 15.3
95 4 EMRW C32-6R32-400-2T
EMRW 6R80-25. 4-6T 23.9 |REHTAREa
EMRW 6R100-31. 75-6T 35.7 eRAC—200—
EMRW C32-6R40-200-3T

The Above Epekweniktep Are RP.. Inserts,
RC ../RD .. kipicTepi MeH TyTKachbl, cypaHbi3!

The Above Epekweniktep Are RP.. Inserts

RC.. /RD.. Inserts and handle, please inquire!

YKyk TacbimangayaaH, canblKkTaH XXaHe anbiMHaH XXofapbl barara Kipmenai.
KbiTangarbl gonnapnblk MemMine 6aracbol KbiTanga.

Erep

ci3ge cypakrtap TyblHAaca, afiekTpoHAablK nowTa: eva@mzgtool.cn

(32-6R40-250-3T
(32-6R40-300-3T
(32-6R40-350-3T
(32-6R40-400-3T
(32-6R50-150-4T
032-6R50-200-4T

Discarded Round Nose End Milling Cutter Toolholder

Bbarachl
usD

-

ONINOINONOOO IO OIWWW

Oo~NNI

—_
O W

[N
VwoN

o~

OGN
Wow=owow

L, 0O,V OR O R OWN—VOWOrROVOWVWOrOVOWWTP L O OR VWOV OVOWROROWORrT PPV OTVOV GOV }GR DGR R 202 G002 —2O0_0WwWww

http://www.mzg.tw

N
N



http://www.mzg.tw

Product
Pictures

Epekweniktep

LlobIHHbIH apneyi

Machine-Clamped Milling Cutter

Machine-Clamped Milling Cutter

XaHe kaTTbl MaTepuansap

SEHT1204AFFN CBN1| 7.1

Askray

! | Copper and Aluminum

SEHT1204AFFN PCD1| 7.1

Opralua eHaey
Copper and Aluminum

| | SEHT1204AFFN ZKO1| 1.7

Kypaeni enpey
XXannel maTepuangap

SECA1204AFTN ZP30| 3.1

Product i
Pictures Epekweniktep
P3200-R4 ZP10 7.4
P3200-R5 ZP10 8.3
P3200-Ré6 ZP10 8.3
P3200-R8 ZP10 9.9
P3200-R10 ZP10 1.9
P3200-R12.5 ZP10 20.3
Prafile Fine Willing of | P3200-R15 ZP10 31.1
Xanne matepuanaap| p3200-R16 ZP10 40. 3
Cutting Below HRC55
ZPFG100 ZM55 17.
ZPFG120 ZM55 17.
ZPFG160 ZM55 20.4
ZPFG200 ZM55 23.9
ZPFG250 ZM55 32.4
ZPFG300 ZM55 51.4
Cutting Below HRC55
BNM120 ZM55 17.1
BNM160 ZM55 18.6
BNM200 ZM55 23.9
BNM250 ZM55 32.4
BNM300 ZM55 41.0

OprTalua eHaeyai eHaey
Xannel maTepuan

3.1
|| SEHT1204AFSN ZM90
Oprala eHaeyai eHaey
XKannsl matepuan 3.1

SEKT1204AFTN ZM90

KM Steel 45 ° xy3ai keckiw keckilu

KM Steel 45° Face Milling Cutter

Epekweniktep

DxdxT

KM12-50-22-4T

KM12-63-22-4T

KM12-80-27-5T

KM12-100-32-5T
KM12-125-40-6T
KM12-160-40-6T
KM12-200-40-8T
KM12-250-40-10T
KM12 300-60-12T
KM12-50-25. 4-4T
KM12-63-25. 4-4T
KM12-80-25. 4-5T

KM12-100-31. 75-5T

Epekweniktep
DxM

T2139M-5R-M5

Kynuintay TicTepinix Typi chepantik asikray dpesepnik keckiu

Locking Tooth Type Spherical End Milling Cutter

KM Aluminum 45° Face Milling Cutter
KM Aluminum 45° Face Milling Cutter

oy

Epekweniktep
DxdxT

AL-KM12-50-22-4T
AL-KM12-63-22-4T
AL-KM12-80-22-5T

AL-KM12-100-22-5T
AL-KM12-125-27-6T
AL-KM12-160-27-6T
AL-KM12-200-27-8T
AL-KM12-250-32-10T
AL-KM12 300-32-12T
AL-KM12-50-25. 4-4T
AL-KM12-63-25. 4-4T
AL-KM12-80-25. 4-5T
AL-KM12-100-31. 75-5T

T2139M-6R-M6 31.0
T2139M-8R-M8 33.3
T2139M-10R-M10 35.7
T2139M-12. 5R-M12 38. 1
T2139M-15R-M16 40.4
Cchepansik COHbIHAH Pe3epmbl KypacTbIpyLbl anbiHbIN TACTaNAb!
Discarded Spherical End Milling Toolholder
D { —1d
|
r [
Epekweniktep Barachi
dxDxLxT usbD
C10-4R-100~1T 8.9
012-4R-130-1T 8.9
C16-4R-150-1T 10.7
¢10-5R-120~1T 8.9
C12-5R-150-1T 8.9
€16-5R-150-1T 10.7
. 12139 C12-6R-130-1T 8.9
15.3 72139 €12-6R-150-1T 8.9
25.4 12139 C16-6R-150-1T 10.7
35.7 12139 C16-6R-200-1T 12.6
51.0  T2139 C16-8R-150-1T 10.0
411 T2139 C16-8R-200-1T 1.9
136 0 12139 C20-8R-200-1T 16.7
204 0 T2139 G25-8R-250-1T 19.7
55 o 12139 C20-10R-150-1T 13.9
: 12139 620-10R-200-1T 16.0
136 72139 ¢25-10R-250-1T 19.7
16.9 72139 632-10R-300-1T 22.1
28.9 72139 625-12.5R-150-1T 16.7
39.0  T2139 25-12.5R-200-1T 19.6
12139 025-12. 5R-250-1T 22.1
12139 625-12. 5R-300-1T 25.0
12139 32-12. 5R-300-1T 27.9
12139 €32-15R-150-1T 18.3
12139 €32-15R-200-1T 21.0
12139 €32-15R-250-1T 23.9
12139 €32-15R-300-1T 26.7
12139 €32-15R-350-1T 30. 4
12139 032-16R-150-1T 18.3
12139 €32-16R-200-1T 21.0
12139 €32-16R-250-1T 23.9
12139 €32-16R-300-1T 26.7
12139 £32-16R-350-1T 30.4
Insert:ZPFG..
C16-8R-150 23.9
©16-8R-200 29.7
€20~10R-150 31.7
€20~10R-200 37.6
= 025-12. 5R-150 39.7
barachl 025-12. 5R—200 496
usb 025-12. 5R-250 55. 4
ABPF (32-15R-150 45.7
16,9 ABPF €32-15R-200 51.7
221 ABPF €32-15R-250 59.6
30.7 _ ABPF €32-15R-300 79.3
54. 6 Insert:BNM..
35 0 BNML C12-6R-130-1T 11.9
05 3 BNML C12-6R-150-1T 1.9
204 0 BNML C16-8R-150-1T 15.0
5751 BNML C16-8R-200-1T 17.9
o BNML C20-10R-150-1T 21.0
340.3° BNML G20-10R-200-1T 23.9
19.0° BNML €25-10R-250-1T 29.7
231 BNML €25-12.5R-150-1T 25.0
32.4  BNML 625-12.5R-200-1T 29.7
54.6  BNML G25-12.5R-250-1T 33.3

Product

Product

Pictures

Epexkweniktep

LNMUO303ZER-MJ

uUsSD

Pictures

Epexweniktep

800-08A

usD

PNMUO905GNEN-MJ

800-08T308M-C-G

PNMUO905XNER-GM

800-08T308M-1-G

SNMU130508EN-GM

800-09T308H-P-G

WNMUOBO60OSEN-SM

R390-11T308-PM

3PKT100408R-M
3PKT150508R-M
3PKT190608R-M

SCMTO9T308-MM

XJMG1204

S-R215. 44-15T364M

HNGX0906-FF

DGN3102C

WNMX060312ZNN-MM
WNMXO09T316ZNN-MM

GRIP3003Y
GR1P4004Y

6NGU060408R-M
6NGU090508R-M

LNKX1506-G

CNHX100508T
CNHX131108T

WXCU080612T

&

AXMT060208R-EM

LNKX1005-Y
LNKX1206-Y
LNKT1507

BLMPO603R-M

$§229.0300. 32

BLMPO904R-ML

SOEX090408-13

BLMP1205R-M

HNPJ130720ANSN-HD

BLMP1306R-M

SP1RH5-LT-L

TNGX2207PNTN SPIRH5-LT-D
ZNHU080-08 APMT1003-NN
SNMX1205XTN SEKN1203AFTN-NN

Bapecn|goNil0

SOMT050204-DP
SOMT060204-DP
SOMT070306-DP
SOMT08T306-DP
SOMT09T308-DP
SOMT11T308-DP

|

SEKR1203AFTN-NN

TPUN160308-NN

Q

AXMT123508PEERG

APKT150412-PM

{

4

RPHX1204M6EN-M31

SPMT120408-PM

@
9

XNEX080608-MD15

ONHU060408-PM
ONHUO08T508-PM

XOMX180608TR-M14

Youap

KNX-Q7-3.5

23

Erep

KbiTangafbl gonnapnslk Mamine 6aracol KbiTanga.

cisge cypakTap TyblHAaca, anekTpoHAbIK nowTta: eva@mzgtool.cn

YKyk TacbiMangaynaH, canblKTaH }XoHe anblMHaH Xofapbl 6arara kipmenai.

http://www.mzg.tw


http://www.mzg.tw

XXbingam erxken-ternkeniH Kipi
|

BekiTyre apHanran Tic Typi OH XaK GYPHILITEIK COHBIHAA KeCy Kypans!

Locking Tooth Type Right-Angle End Milling Cutter

Insert Type Quick Drill

KynbinTay TicTe p iHiH Typi clepanbik ankTay (peaepnik Keckil

Locking Tooth Type Spherical End Milling Cutter

OHim cypeTTepi

CTipy

Epekweniktep

@)

WCMX030208 ZP25 0.8 1.4
WCMX040208 ZP25 0.8 1.4
AL WCMX050308 ZP25 0.8 | 1.7
WCMX06T308 ZP25 0.8 1.9
& ),f\‘ﬁ‘b‘ﬁé‘/ﬂb’“ﬂey WCMX080412 ZP25 1.2 2.6
annel MaTepwanpap

© Insert: R390-11T3.. 4 WCMX030208 ZP30 0.8 2.3
Epekweniktep barach| Epekweniktep barach| nggggggg %Egg gg %i
— — xR - —— WCMX06T308 ZP30 0.8 | 2.6
R39011-16-2T-M8 28.6 BNM-10-R5-M5 35.7 Bypreinayabl 8HALY WCMX080412 ZP30 1.2 3.7

R39011-17-2T-M8 28.6 BNM-12-R6-Mé 35.7 HKorapb! KATTLNLIK MaTepUanAape!
R39011-20-2T-M10 31.0 BNM-16-R8-M8 38.1 SPMG050204 ZP25 0.4 1.4
R39011-21-2T-M10 31.0 BNM-20-R10-M10 38. 1 SPMG060204 ZP25 0.4 1.4
R39011-25-2T-M12 33.3 BNM-25-R12. 5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7
R39011-26-2T-M12 33.3 SPMG090408 ZP25 0.8 1.9
R39011-30-2T-M16 35.7 fgﬁ::"ﬁﬂﬂj:ﬁ;gp SPMG110408 ZP25 0.8 2.3

R39011-32-2T-M16 35.7
R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7
R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9
SPMGO7T308 ZP30 0.8 2.9
SPMG090408 ZP30 0.8 3.3
BekiTyre apHanFaH Tic Typi OH XaK 6yphILITLIK COHBIHAA KeCY Kypans! B ) 6 6

Locl\nngooth \;;: Rig:!:Ang\e End M\IT\;; Cutter Tj:;at::“:?:;l::t?—vaabHr::::\ ’:::V:zhmwpanbl Bypruinayasl eHaey SPMG1 10408 ZP3O 0.8 3.6
)Korapb\ KaTTbiNblK Matepuangapbl SPMG140408 ZP3O O 8 5 4

WC Kocy Xbingam Xbingamablk

WC Insert Type Quick Drill

Insert: JDMT0702..
Epekweniktep barach|
DxTxM usb
JDMTO7-11-2T-M5 35.7 8 12 XCMT040104 61.7| 91.4 - -
JDMTO7-12-2T-M5 35.7 10 12 XCMT050204 57.1| 85.0 4 -
JDMTO7-12-2T-Mé6 35.7 12 16 XCMT060204 47.1] 65.3 ” -
JDMTO7-13-2T-M6 35.7 14-14.5 20 WCMX030208 25.3| 32.9 37.6| 67.1
JDMTO7-14-2T-Mé6 35.7 15-20 25 WCMX030208 25.3| 32.9 37.6 | 67.1
JDMTO7-16-3T-M8 42.9 Epekweniktep =l 20.5-24.5] 25 WCMX040208 35.3| 42.6 50.3| 72.9
JDMTO7-17-3T-M8 42.9 dxDxLxM usD 25 32 WCMX050308 35.3| 42.6 50.3| 72.9
_08—100— 25.5-30 32 WCMX050308 42. 6| 45.3 52.9| 80.0
WFLO808~100-M4 70 30.5-31 32 WCMX050308 57.6| 59.6 72.9 1 100.4
—10-100— 31.5-40 32 WCMX06T308 57.6| 59.6 72.9 | 100.4
mgt}g_}g_}gg_mg gg g 41 32 WCMX06T308 69.0| 76.7 96.0| 125.7
BekiTyre apHanfaH Tic Typi OH xak 6ypbILTbIK COHbIHAA KeCY Kypankl ] 42 40 WCMX06T308 69.0 76.7 96.0 125.7
Locking Tooth Type Right-Angle YXoHfbinblK keckiw Keck —12— —| 43-45 40 WCMX080412 69.0 76.7 96.0| 125.7
mgtg_g_}gg_mg 17052'_04 46-50 40 WCMX080412 75.4| 93.3 | 102.9| 137.1
MFL12-12-200-M6 135. 7 51-55 40 WCMX080412 85.0| 109.7| 130.3| 148.6
pLE S5y 40 | WOMOGTSO8 | 9 0| 112 4| (71 4 15
_15-150— - 89. 112.4) 171.4) 165.7
mgt}g_}g_;gg_mg 1:7”8 2 60-63 40 WCMX06T308 93.3| 123.3| 197.9| 201.1
MFL16-16-100-M8 114. 3 64-65 40 WCMX06T308 100.3 137.1| 224.0| 231.0
Q MFL16-16-150-M8 131.0 66-68 40 WCMX06T308 101.7 151.0| 228.6| 240.0
. Insert: AXMIOB0Z MFL16-16-200-M8 178. 6 69-70 40 WCMX06T308 102. 160.0| 240.0/| 262.9
Epekweniktep MFL16-16-250-M8 226.1
DxTxM SP Xbingam XKelngamabiKTel KipicTipy Typi -~
AXMT06-11-2T-M5 35.7 MFL19-19-150-M10 204.7 sp Insert Type Quick Drill
AXMT06—12-2T-M5 35.7 MFL19-19-200-M10 273.9
AXMT06-12-2T-M6 35.7 MFL19-19-250-M10 326.1 d
AXMT06-13-2T-M6 35.7 MFL20-20-100-M10 154.7
AXMT06—16-3T-M8 42.9 MFL20-20-150-M10 204.7
AXMT06-17-3T-M8 42.9 MFL20-20-200-M10 273.9
MFL20-20-250-M10 326.1 1@
Locking Tooth Type Fast XKoHfbinblK KeCKill KecKiLl MFL20-20-300-M10 373.9 13-14.5 20 SPMG050204 30.4 35.7 44. 7 78. 6
BekiTyre apHanfaH TicTepre apHanfaH Xbingam Keckil TEMEE§£_24_150_M12 273.9 12 530 %g ggmgggg%gj gg ‘41 gg ; ji ; ;g 2
MFL24-24-200-W12 3761 20.5-21.5| 25 | SPMG060204 | 41.9| 47.6| 60.7| 833
- MFL24-24-250-M12 450.0 . - - : -
Ay oA ann_ 22-24.5 25 SPMGO7T308 41.9| 47.6 60.7| 83.3
pUE N gl da gt 9357 25-27.5 | 32 | SPMGO7T308 | 50.3| 54.7 | 65.4| 91.4
MFL25-25-150-W12 2759 758-30 | 32 | SPMGO90408 | 50.3| 54.7 | 065 4] 91.4
MFL25-25-200-M12 376.1 ’ ’ : .
N MFL25-25-250-M12 450 0 30.5-33.5| 32 SPMG090408 66.9| 72.9 88.1 | 108.6
’ 34-40 32 SPMG110408 66.9| 72.9 88.1 | 108.6
MFL25-25-300-W12 o501 4 32 | SPMG110408 | 79.0| 83 1| 105 4| 137 1
i MFL25-25-350-M12 750.0 - - - -
EpeK$u$nMIKTep BaUFSaDCb 42-45 40 SPMG140512 | 79.0| 88.1 | 105.4| 137.1
XX 46-50 40 SPMG140512 88.1] 98.9 | 125.7| 148.6
AJX06-16-2T-N8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94.3] 111.0] 144.0] 171.4
AJX06—17-2T-M8 31.0 MFL32-32-300-M16 916- 7 56 40 SPMGO7T308 98.9] 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3 MFL32-32-350-M16 1159' 6 57-59 40 SPMG090408 98.9| 123.9| 208.1| 228.6
AJX08-21-2T-M10 33.3 MFL32-32-400-M16 1428. 6 60-63 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 ) 64-66 40 SPMG090408 111.0 161.9] 280.0| 300.0
AJX09-26-2T-M12 35.7 , Ticris runi eypacTepy Blpanh Gariry Epomusenierep anKrans 67-68 40 SPMG110408 111.0 161.9| 280.0| 300.0
AJX09-28-2T-M12 35.7 A 4 Ti3IMAE XOK OYPAHbIS. 69-70 40 SPMG110408 114.6 173.9| 290.0| 328.6
AJX12-30-2T-M16 40.4 Mntoc WDXT ../ GPMT ... Typi KbickapTeinFaH ceepna 6yiibiMaapsl, kol kenainisaep!
AJX12-32-2T-M16 40.4  x Lockteeth type tool stock Specifi cation are complete verKeierap ] Y Hapen e At
AJX12-35-2T-M16 47.6  Pleaseinquire for Epexweniktep not listed. Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

XKyk TacbimangayaaH, canblKkTaH XaHe anblMHaH Xofapbl 6aFafa Kipmenai.
KblTangarbl gonnapnbik Mamine 6aracol KeiTanga.
cizge cypakTap TyblHAAca, 3NeKTPOHAbIK nowTa: eva@mzgtool.cn

Erep http://www.mzg.tw


http://www.mzg.tw

Terictey Kypanbl

Boring Tool

. : . [ — HBOR Fine-Tuning 6ypreinay
©Him cypeTTepi  Epexwenikrep NO.  Aykeim D Barachl [“T‘iﬂifsy";}l‘g;:'gjgbf\‘spggm’ Keckiw (Fine tuning aanairi 0.002mm)

. hmeeemmeixars | RBH19C |LBKT[ 1925 | 28.6 " .
prmnayus e 1RBH25C  |LBK2| 25-33 | 28.6 aty mmvie RN
Rounr Borma coisr | RBH32G  |LBK3[ 32-42 | 31.0 ‘ W \\ _ \ ny x sz
e RBH40C |LBK4| 40-55 40. 4 NBH2084 Boring Tool HBOR Fine-Tuning Boring T AE \\ .
o RBH52C |LBK5| 52-70 61.9 (TericTey AnanasoHsbl: 8- Cutter (Fine-Tuning EF g
3 RBH68C LBK6 68-92 83.3 Fine-Tuning Accuracy 0.01mm Accuracy 0.002mm) / Ty
RBH90C |LBK6| 90-122 [102.4 Epekweniktep Aykeim D Barachl
RBH120C |LBK&| 120-164 | 119.0 , .
RBH160C | BST | 160-204 | 135. 7 Teckilw Kypan ycTayLbl HBOR25 Boring Cutter
RBH200C | BST | 200-310 |273.9  SBJ2008-32 811 8.6  HBOR25M (29-38) Boring head 29-38 | 666.7
RBH300C | BST | 300-410 |544.0  SBJ2010-40 10-13 8.6  HBOR25M (29-38) Back Boring 29-38 | 666.7
Insert:CCMT RBHA00C | BST | 400-510 |583.3  SBJ2012-53 12-17 | 8.6  BT30-HBOR25P 857.1
RBH500C | BST | 500-610 |681.0  SBJ2016-68 16-21 s 6  BT40-HBOR25P 857. 1
SBJ2016-102 16-21 20.4  SK30-HBOR25P 857.1
sy, |, OBH20 I LBKTY20-26 11357 9B y2020-83 20-130 | 8.6  SK40-HBOR25P 857. 1
Indexable Fine-Tunabid CoH20  |LBK2| 25-33 1154.7  gB2020-125 20-130 | 20.4  HSK63A-HBOR25P 976. 1
ACIn aix Boring Cutief CBH32 —\LBK3 | 32-42 1163. 1 582020-150 20-130 | 23.9  CA0602-09Tcarice soring 2-3.2 | 59.6
CBH40  |LBK4| 40-55 |181.0
CBH52 LBK5 572-75 204 7 SBJ2020-200 20-130 28. 6 CA0603-16Tcarbide Boring 3-4.2 59.6
- — . — Carbide Boring —0. .
CBH100 |LBK6| 100152 273.9  sgy5075-150 25-135 | 23.9  CA0606-32Tcamide oring 6-7.2 | 59.6
CBH150 |LBK&| 150-202 |323.9
o200 | BsT el o140 3 SBJ2025-200 25-135 | 28 6  CB06050-21 ( CC03) 5-6 123.9
CBH300 | BST | 300-410 (821 4 $py5030-173 105G Chocosael  coon | e | 129
- - 23.9 5 = :
CBH400 | BST | 400-510 1919.0  $BJ2030-200 30-140 | 28 6  CB06065-31 ( €C03) | 6.5-7.5 | 123.9
CBH500 BST | 500-610 |1023.9 ggjﬁg%g_h—m 120-280 8 6 ©B06070-31 ( ©C04) 7-8 123.9
EWN20 | CK1 | 20-36 [123.9 - 1207400 | 23.9 'LBOR32 Boring Cutter
s | oG | e 11555 Keoxaprieuw rypanas opnarefess HBOR32M (36-52) corng reas | 36-52 | 800
EWN41 CK4 41-74 163. 1 ggHﬁgﬁggosrzg hsesd 8-280 138.1 HBOR32M (36_52) Back Boring 36-52 800
R Soimm | EWNS3 | CK5 | 53-95 |178.6 : : 8280 | 2333 \1BORA40 Boring Cutter
EWN68 | CK6 | 68-150 |197.6  NI30-NBH2084-8P 8-280 | 233.3
EWNTOO | K6 | 100-203 |214 3 ~ NT40-NBH2084-8P 8-280 | 233.3  HBORAOM (44-68) Boring head 44-68 | 833.3
g;ig—mgngggj—gg 8-280 | 309.6  HBOR4OM (44-68) Back Boring 44-68 | 833.3
TericTey Kypanbl KbiCKblLUbl - o —| - —
E\gm-; %g_g? 1% 1 BT50-NBH2084—-8P g_%gg %;g g HBORS5O0 KbickapTkbiw kypgnabl opHaTbIRbI3
Terictey Kypansl Clamp B 8 : SK40-NBH2084-8P -2 ' HBOR50BM (57-90) Boring head 57-90 | 742.9
CBH1-3 30-36 | 13.1 8-280 | 278.6
CBH2-1 25-33 | 13 1 SK50-NBH2084-8P 8-280 | 309 6  HBOR50BM(57-90) BackBoring | 57-90 | 742.9
CBH2—2 32-40 |13 1 — BT30-HBOR50 (06-90) 6-90 | 857.1
CBH2-3 39-47 13. 1 NBJ16 GypFbinay Kypans BT30-HBOR50 (06-90) —14P 6-90 1190. 4
CBH3-1 39-42 13.1 (TericTey auanasoHsbl:8- 50mm) . BT40-HBOR50 (06—90) 6-90 857.1
CBH3-2 21-51 | 131 BT40-HBOR50 (06-90)-14P | 6-90 | 1190.4
CBHA—1 41-54 | 131  NBJ16Boring Tool \\\ BT50-HBOR50 (06-90) —14P 6-90 | 1273.9
gal | cera2 50-63 | 13 1  (Tericrey auanasoni: 8- 50m SK30-HBOR50 (06-90)-14P | 6-90 [1273.9
A S :;j‘ CBH4-3 61-74 13.1 Fine-Tuning Accuracy 0.01mm SK40_HBOR50 (06_90) -14P 6-90 1273.9
Eaas CBH5-1 53-70 | 13 1 SK50-HBOR50 (06-90) 6-90 | 904.7
CBH5-2 65-82 131 Epekweniktep INTERPEREETIEER  SK50-HBOR5S0 (06-90) —14P 6-90 1273.9
CBH5-3 78-95 | 13 1 TecgidMvpan yorayuwe HSK63A-HBOR50 (6-90) -14P|  6-90 | 1309.6
CBH6-1 16080_110503 lg 1 SBJ1606-24 6-9 8.6 HBORG3 KbickapTkbiw kypgnabl opHaThIRbI3
CBH6-2 94-126 | 131 SBJ1608-32 8-11 8.6 HBOR63BM(70-110) Boring head | 70-110 | 804. 7
126-179 | 13 1 SBJ1610-40 10-13 8.6 HBORG63BM(110~150) soringnees | 110-150 | 804. 7
CBH6-3 118-150 | 13.1 SBJ1612-53 12=18 8.6 HBOR63BM (70—1 10) Back Boring 70-110 804.7
Insert TP 150-203 | 13 1 SBJ1614-60 14-17 8.6 HBOR63BM(110-150) sackeorng | 110-150 | 804. 7
: SBJ1616-68 16-21 8.6 NT40-HBOR63 6-150 |1071.4
BEO9A M5 167 SBJ1620-83 20-26 8.6 NT40-HBOR63 (6-150)-15P | 6-150 | 1381
BE10. 5A M5 167 SBJ1620-150L 20-26 | 23.9  NT50-HBOR&3 6-150 | 1119
Byprainay kypansi BE2A M6 o SBJ1620-200L 20-26 | 28.6  NT50-HBOR63 (6-150)-15P | 6-150 |1428.6
- BE14A M6 16 7 SBJ1625-90 25-31 8.6  BT40-HBOR63 6-150 |1071.4
BE16A M6 167 SBJ1625-150L 25-31 | 23.9  BT40-HBOR63 (6-150) 15P 6-150 | 1381
BE18A W0 167 SBJ1625-200L 25-31 28.6  BT50-HBOR63 6-150 1119
BE20A W0 16 7 SBJ1630-90 30-36 8.6  BT50-HBOR63 (6-150) 15P 6-150 |1428.6
BE22A Wo 167 SBJ1630-150L 30-36 | 23.9  SK40-HBOR63 (6-150) 15P 6-150 | 1381
BE24A 10 167 SBJ1630-200L 30-36 | 28.6  SK50-HBOR63 (6-150) 15P 6-150 |1428.6
BE26A W10 167 SBJ1635-90 35-41 8.6  HSK63A-HBOR63 (6-150) 15P| 6-150 |1452. 4
BE28A M10 16. 7 SBJ1635-150L 35-41 23.9 Boring Accessories
BE30A M10 16‘ 7 SBJ1635-200L 35-41 28. 6 Boring Accessories
BE32A 10 190 SBJ1640-90 40-46 8.6 BR1606-21 (WBGT0601. . L) 6-9 23.9
BE34A Wo 190 SBJ1640-150L 40-46 | 23.9  BR1608-28 (TBGT0601. .L) 8-11 23.9
BE36A 10 239 SBJ1640-200L 40-46 | 28 6  BR1610-35(TBGT0601..L) | 10-13 | 23.9
BE38A W10 239 SBJ1645-90 45-51 8.6  BR1612-42(TP..09..L) 12-15 | 23.9
BEAOA Wo 239 SBJ1645-150L 45-51 23.9  BR1614-50(TP..09..L) 14-17 | 23.9
' SBJ1645-200L 45-51 28.6  BR1616-60 ETP. . 09. . Lg 16-20 | 23.9
Fpy—— - BR1620-65 (TP. . 11. . L 20-24 | 23.9
Yoo cryen Eg} g?g B 13 g KbiCKapTKbILL Kypanibl OpHaTbIfbI3 BR1624-68 (TP. . 11..L) 24-28 23.9
EC Conversion Sleeve EC1612 _ 14 3 BM5 35.7
CCinn N 14. N?ﬁéézwzeags 1of S—gg ; 3213 gRTszsg ETP..gg..L; 28-38 | 35.7
- - —55- = . RTP3652 (TP. . 09. . L 36-52 | 35.7
Bomtbpamae Gorar NT50-SBJ16-65-12P 8-50 | 233.3  SRTP4468(TP..09..L) 44-68 | 41.7
Bapaban 6ap | 9108-W5—100L M5 59.6 BT30-SBJ16-55-12P 8-50 | 233.3 BM8 9.6
Tungsten Stes S or e o2 BT40-SBU16-55-12P 8-50 | 309.6  SRTP7O110(TP..11..L) | 70-110 | 47.6
ST12-46-150L M6 107 1 2&28‘23312‘28‘1% g—gg %gg g SRTP110150 (TP. . 11..L) | 110-150 | 47.6
e | O[14WOTOO0L | M6 119.0 SK40-SBJ16-60-12P 8-50 | 278.6
STie1o-1800| W0 |is0 0  SKCOSBNIE6SIZP | 850 | 309.6

XKyk TacbimangayaaH, canblKTaH XXaHe anbiMHaH XXofapbl 6arara kKipmenai.

KbiTangarbl gonnapnbelk mamine 6aracol KelTanga. _
Er e p cisgecypakTap TyblHAaca, anekTpoHabIK nowTa: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

Terictey Kypanbl

Boring Tool

w  KaTTbl 6yprbinayuwbl keckilw Holder  BST/NBH kypacTbip Chl LBK kypacTbipyLibiCbl CK KypacTbipyLubiCbl
Rough Boring Cutter Holder BST/NBH Y / LBK Toolholder CK Toolholde e =
| TBS9..-L \\“& 90° Toolholder

Epekweniktep ‘Q Barachbl Epekweniktep Barachbl ‘

BSAOartTu 60pHenayws k 3
BSA Rough (
Bormgf)ut? P
|

TBS910-36-L | TP09| 11.9  BT30-NBH2084 35.7 Ny
Epekweniktep Barachbl TBS913-48-L 111 11,9 ﬁ;gg_ngngggj gg g Epekweniktep Barachl Epekweniktep Barachl
_ ) TBS913-65-L | TP11| 11.9 - . | BK1— _OK{—
STa0-bonsotag | 476  TBSOle-e0-L |Teii| 119 NTAG-NaNZ0s4 27 BmoiBio | oo emockize | s
BT40-BSA38-165 | 50.0  1BS716780-L 1 IP111 119 qeao-NBH2084 557 BT30-LBK2-80 | 21.0  BT30-CK2-80 35.7
TBS919-70-L | TC16| 19.0
BT40-BSA42-165 | 50.0  1peo19-90-L |T0ic| 16 0  SKeO-NBH2084 71.4  BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 gg.f TBS919-85-L | TC16| 19 0 Eg}ggjngngggﬁ ;?ﬂ BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BT40-BSA62-180 : TBS919-105-L |TC16| 23.9  CaTa0-NBH2084 .7 BT30-LBK5-70 21.0  BT30-CK5-70 35.7
BT40-BSA72-180 | 71.4  TBS925-100-L [TC16|31.0  GAT50-NBH2084 05 o BT30-LBK6-60 21.0  BT30-CK6-60 35.7
S%S‘Eiﬁgg‘}gg g?g e s 113K 00A_NBH2084 5745 BTAO-LBKI-7S 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 vl TesoR] S040-NBH2084 464 BT40-LBK1-105 | 21.0  BT40-CK1-105 35.7
BT50-BSA38-180 | 83.3 ~ (5050 MNEtigoo4 927 BT40-LBK1-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 tep . Barace MO SHTIS 95 ¢ BT40-LBK1-165 | 357  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R TPO9 9 MT4-NBH2084 47,9  BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TBS910-45-R | TPO9| 119  MT5-NBH2084 50.4  BT40-LBK2-85 21.0  BT40-CK2-130 4.7
BT50-BSA62-195 | 95.3  TBS913-48-R |TP11|11.9  MT6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1 TBS913-65-R  [TP11| 11.9  MTB3-NBH2084 42.9 BT40-LBK2-130 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 | 953 TBS916-60-R | TP11| 11.9  MIBA-NBHZ084 29 BT40-LBK2-185 | 35.7 BT40-CK3-135 | 44.7
BT50-BSA72-285 | 131.0  TBS916-80-R | TP11| 11.9  pom ohooed 45 7 BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
BT50-BSA90-210 | 164.3 }ggg] g:gg:g }8] 2 : 8 R8-NBH2084 357  BT40-LBK3-95 21.0  BT40-CK4-75 35.7
BT50-BSA90-300 | 208.3  13370d7J7R |01 170 BTAO-NBH2084-100L | 59.6  BT40-LBK3-125 | 28.3  BT40-CK4-100 35.7
BT50-BSA105-195| 297. 6 : BT40-NBH2084-150L | 90.4  BT40-LBK3-165 | 35.7 BT40-CK4-150 44.7
BT50-BSA105-285| 381.0 1333;2:183:5 }8]2 ;3 BTAO-NDro08a—200L | 7 BT40-LBK3-210 | 59.6  BT40-CK4-170 53.6
BSA (Jat Tu 6 pu naywkBS925-436rR |TC16] 38. 1 BT50-NBH2084-150L | 90 4  BT40-LBK4-85 21.0  BT40-CK5-60 35.7
———— BT50-NBH2084-200L | 119.0 BT40-LBK4-115 21.0  BT40-CK5-100 35.7
BSA Rough - . BT50-NBH2084-250L | 145.9 BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
Boring Cutt?":""‘: -  ——— BT40-BST—70 56,7  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
- B140-5ST-100 667 BIAOLBK4-175 | 357  BT4O-CKE-100 | 357
-BST- 4 BT40-LBK4-22 59.6  BT40-CK6-1 44.7
y ege st [C]] ) mewsm | o) suomers | o0~
SRR CBS910-36-L |CCO4| 119 BT30-BST-130 8- BT40-LBK5-125 | 28.3 BT50-CKI-115 | 75.0
£ e CBS910-45-L |CC06| 11.9  BT50-BST-200 833 BT40-LBK5-175 | 35.7 BT50-CK1-145 82.1
BSA30-42-LBK2 | 27.4  CBS913-48-L |CC09|11.9  BT50-BST-250 107.1 BT40-LBK5-235 | 59.6  BT50-CK1-200 95.3
BSA38-52-LBK3 | 28.6 8323}2—%4[ 8883 Hg BTS0-BST-300 1190 BT40-LBK6-65 21.0  BT50-CK2-105 75.0
BSA50-65-LBK4 | 33.3 ~60- : -BST- -6 BT40-LBK6-115 | 21.0  BT50-CK2-135 82.1
0BS916-80-L |CCO9| 11.9  BT50-BST-400 148.9 Syl e
BSA62-90-LBK5 | 41.7 S71 150 Br2o-psT-450 io0 % BT40-LBK6-150 | 28.3  BT50-CK2-165 78.6
BSA72-110-LBK6 | 51.1 cc12] 19°0 BT50-BST-500 738 1  BT40-LBK6-165 35.7  BT50-CK2-235 95.3
GBS 19+ cc12 0 SK40-BST-100 92.9  BT40-LBK6-240 59.6  BT50-CK3-110 75.0
BSB Llamme 6Lip e 1 ay udadrds C0i9| 250 SKA0-BST-150 123.9 BT50-CK3-140 82.1
) SK50-BST-100 92.9  BT50-LBK1-115 53.6  BT50-CK3-175 78.6
BSB Rough 0121310 oK50-BST-150 123.9
Boring Cutter CBS925-1 cc12] 38.1  3K20-Ret-200 1239 BIS0-LBK1-145 | 596  BT50-CK3-290 140.7
v —— SKB0_BST_250 155 7 BT50-LBK1-200 | 80.4  BT50-CK3-300 140.7
- : ————— BT50-LBK2-110 | 53.6 BT50-CK3-350 189. 3
— LBK y3apTkeiw Tiperi .« BT50-LBK2-140 59.6  BT50-CK4-100 75.0
LEK ExtonsiaRot - | BT50-LBK2-175 | 65 4  BT50-CK4—160 78.6
: CBS908-23-R 10 —_ BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
| 1.9 Epekweniktep iy BT50-LBK3-125 53.6  BT50-CK4-270 140.7
_ _ 47 1.9 e 710 BT50-LBK3-140 | 59.6  BT50-CK4-300 140.7
Sﬁg_ggggg_gg 47 2 19 T30 119 BT50-LBK3-155 | 59.6  BT50-CK4-350 189. 3
BT140-BSB50-125 | 53.6 1.9 LBK3-3-30 14.3  BT50-LBK3-185 | 65.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 62.6 1.9 LB 145 BT50-LBK3-215 | 75.0  BT50-CK5-165 | 78.6
BT40-BSB72-165 | 71.4 17 IBKe—a—d0 190 BT50-LBK3-255 | 91.7  BT50-CK5-210 | 101.0
BT40-BSB90-180 | 89,3 o0 LBKe-5-50 214 BT50-LBK3-290 | 108.3 BT50-CK5-270 | 140. 7
BT50-BSB25-135 | 80. 4 190 LBK&-6-60 21.4  BT50-LBK3-300 | 108.3 BT50-CK5-300 140.7
' ' LBK6-6-100 214" BT50-LBK3-350 | 148.9 BT50-CK5-350 189.3
ET8Oyesa3s-150 | 1.9 e (S5 05 LBKe=6-120 20/ BT50-LBK4-115 | 53.6 BT50-CK6-95 75.0
B0 Boney 20 | 924  OBS925-100-R |C012| 31  -EKTVneaRyxed BT50-LBK4-145 | 59.6  BT50-CK6-155 | 78.6
BT50-BSB62-105 | 95 3  CBS925-135-R |CC12] 38. 1 @ BT50-LBKA-160 | 65.4  BT50-CK6-215 101.0
—— BT50-LBK4-205 | 75.0  BT50-CK6-250 140.7
gy vy oa [1ese. \@hes LBK Conversion Slee BT50-LBK4-255 | 91.7 BT50-CK6-300 | 140.7
_ v ' : BT50-LBK4-305 | 108.3 BT50-CK6-350 189.3
BT50-BSB90-210 | 163.9 2 Pilas LBK2-1-36 310 BTR0-LRK5-108 36 CKysapru Bl
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 1.9 LBK3-1-41 31.0 53. V8apTibiL po
BT50-BSB105-195| 297.9 TBS410-50 TPO9| 11.9 LBK3-2-37 310 BT50-LBK5-180 65.4  CK ExtensionRod
BT50-BSB105-285| 383 1  IBS413-60 TP11| 11,9  LBK4-1-58 357  BT50-LBK5-240 | 75.0 —
: TBS416-75 TP11| 11,9  LBK4-2-50 35.7  BT50-LBK5-300 | 108.3 |
BSB-LBK [Ja 7 76l 6[1p[Jbl n FBSAEY-490 c kithTCT16| 19.0 tgﬁg—?—gg igz BT50-LBK5-350 148.9
TBS419-11 7616] 19.0 -1~ , L BK & —
BSB-LBK Rough TB§4ZZ—138 TC16] 38. 1 LBK5-2-54 40. 4 BT50-LBK6-95 53.6
Boring Cutter LBK5-2-74 40.4  BTS0-LBK6-155 | 65.4
LBK5-3-47 404 BT50-LBK6-170 | 65.4
LBK5-3-72 404 BTSO-LBK6-230 | 75.0  CK1-1-30 29.7
; a4 . BT50-LBK6-290 108.3  CK2-2-30 29.7
E
- LBKS4-¢7 0.4 BT50-LBK6-350 | 148.9  CK3-3-30 29.7
. CBS408-30 . L 19 0.3 CKA~4-45 35.7
Akl 08340835 : LBK6-2-93 500 HSK63A-LBK1-105| 148.9  (CKd-4-60 35.7
BSB25-52-LBK2 | 27-4  (BS410-50 ' LBK6-3-56 46,4  HSK63A-LBK2-115| 148.9  CK5-5-60 38.9
BSB38-70-LBK3 | 28.6  (BS413-60 j LBK6-3-96 56.0  HSK63A-LBK3-125| 148.9  GK5-5-90 44.7
BSB50-90-LBK4 | 32.9  CBSA16-75 g LBKema-St 200 HSK63A-LBKA-115| 1489 CK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS419-115 . CBKos—41 700 HSK63A-LBK5-125| 148.9  CK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 . LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

JKyk TacbimangayaaH, canblkTaH KoHe anbiMHaH XXofapbl 6arara Kipmenai.
KbiTangarbl gonnapnblk Mamine 6aracol KeiTanga.
E r e p cisgecypakTap TyblHOaca, aflekTpoHAblK nowTa: eva@mzgtool.cn

N
(@)

http://www.mzg.tw


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

ER Collet KypacTbIipyLwbicbl ER KkeHeilTiMiHiH 6araHacs! FMB Metric xy3i hpesepnik Kypanbl ycraywsl

Barachl
usb

EpekwenikT:

ER Collet Toolholder ER Extension Collet FMB_Metric Face Milling Tool Holder

NO. xColletxA/MxL

R8-ER25 17.1 Epekweniktep Barachbl
R8-ER32 17.1 NO. xdxL USD
R8-ER40 19.7 BT30-FMB22-45 14.6
MTB3-ER20 16.0 BT30-FMB22-60 14.6
mgg—gsgg 1(7’ (1) BT30-FMB22-100 18.6
- . , , ) BT30-FMB27-45 14.6
— Epexweniktep [Honaik  Oenaik  Oenaik . L
WTBA4-ER25 17.1 RSl BT30-FiB27-60 14.6
MTB4-ER32 18.6 BT30-FMB27-100 18.6
T WP MTB4-ER40 22.4 BT30-FMB32-45 16.0
NOT RGBS L U0 L o BT0-FWB72-4 R
BT30-ER11-70 16.0° NT30-ER32 17.1 BT40-FMB22-60 17.1
BT30-ER11-100 16.0 NT30-ER40 19.7 BT40-FMB22-100 18.6
BT30-ER16-70 18.6  NT40-ER25 17.1 BT40-FMB22-150 22.4
BT30-ER16-100 18.6  NT40-ER32 17.1 BT40-FMB22-200 37.1
BT30-ER16-150 19.7 _ NT40-ER40 19.7 BTig—FMB%%—ZSO 47.6
BT30-ER20-70 18. 6 1S020-ER16-35MS 40.4 BT40-FMB22-300 61.0
BT30-ER20-100 18. 6 1S025-ER20-35MS 40. 4 ER cabinaynaps! / kaHrakTapbi BT40-FMB22-350 74.0
BT30-ER20-150 197 1S030~ER32-42 27.4  ER wrench/ Nuts BT40-FMB27-45 17.1
BT30-ER25-70 18. 6 1S030—-ER32-60 27. 4 BT40-FMB27-60 17.1
: HSK32E-ER16-050MS 82. 1 BT40-FMB27-100 18.6
BT30-ER25-100 8.6 HSK32E-ER20-050MS 82. 1 ( V ’ BT40-FNB27-150 23.9
BT30-ER25-150 19.7 HSK32E-ER20-060MS 82.1 b BT40-FMB32-60 17.1
BT30-ER32-70 18.6 - — 82.1 A M ou N " BT40-FMB32-100 17.1
BT30-ER32-100 18.6 BT30-GER16-70 21.4 gﬁg—mgig—lgo ?g ‘;
BT30-ER32-150 19.7  BT30-GER16-100 21.4 : ~FNB40~ :
BT30-ER40-80 17 1 BT30-GER20-70 21. 4 Epekweniktep Wrench BT40-FMB40-100 21.1
BT30-ER40-100 171 BT30-GER20-100 21.4 Collet BT40-FMB40-150 26. 4
L e o Cmeww o |20 | 40 ORHERE
BT40-ER11-70 211 pTS0-BERae=100 o1 ERtIAM 1.4 -7 BT50-FMB22-150 50.3
BT40-ER11-100 21.1 BT40-GER16-100 21 4 ER16A/M 1.7 1.7 BT50-FMB22-200 61.0
BT40-ER16-70 21.1 BT40-GER20-70 23 9 ER20A/M 1.7 1.7 BT50-FMB22-250 81.9
BT40-ER16-100 21.1 BT40-GER20-100 23' 9 ER25UM 2.6 2.6 BT50-FMB22-300 100. 4
BT40-ER16-150 22.4  BT40-GER25-70 23.9  ER32UM 3.1 3.1 BT50-FMB22-350 119.0
' ' BT50-FMB22-400 132.4
BT40-ER16-200 37.1 BT40-GER25-100 23.9 ER40UM 4.0 4.0 BT20-FiBa7-490 e
BT40-ER20-70 21.1 BT40-GER32-70 23.9 ER50UM 15.3 BT50-FMB22-500 185 3
BT40-ER20-100 21.1 _BTAO-GERS2-100 2.9 BT50-FMB22-550 211.7
BT40-ER20-150 22.4  ERCollet Extension kypacTbipyLwbicsl BT50-FMB22-600 238.1
BT40-ER20-200 37.1 ER Collet Extension Toolholder FMB Inch BeT ®pesepnik KypanabiH ¥cTarbiwbl BT50-FMB27-60 39.7
BT40-ER25-70 211 Collet FMB Inch Face Milling Tool Holder BT50-FMB27-100 39.7
e S A —=— o eS| 0
BT40-ER25-150 22.4 : 8 - :
et B S e e AT
I i r
BT40-ER32-70 21.1 BT50-FMB27-350 119. 0
BT40-ER32-100 21.1 Epekweniktep BT50-FMB27-400 145. 4
BT40-ER32-150 22.4 DxColletxA/MxL BT50-FMB32-60 42.4
BT40-ER32-200 37.1 C10-ER8-100 . BT50-FMB32-100 45.0
BT40-ER32-250 50.3 C10-ER8-150 10. 4 BT50-FMB32-150 56.9
e | Lo i 5 e | o
E}ig:ﬁﬁ;‘gj‘go 1 g' ; C12-ER11-100 6.7 BT50-FMB32-300 119.0
BT40-ER40-150 i C12-ER11-150 6.7 BT50-FMB40-60 42.4
o 239 C16-ER11-100 6.7 BT50-FNB40-100 45.0
BT40-ER40-200 39.7 C16-ER11-150 6.7 Epekiieniktep Baracbl BT50-FMB40-150 58. 1
C16-ER16-100 6.7 0. xdxL usb BT50-FMB40-200 68.9
BT50-ER16-100 39.7 C16-ER16-150 6.7 R8-FMA25. 4 17.1 BT50-FMB40-250 90.0
BT50-ER16-150 50.3 C16-ER16-200 11.9 R8-FMA31. 75 17.1 BT50-FMB40-300 119.0
BT50-ER16-200 63.6 C16-ER16-250 16.0 CZO—FMBZ&S 4 17' 1 BT50-FMB60-75 84.7
BT50-ER20-100 39 7 C16-ER20~100 6.7 N L BTS0-FHBEO-150 145. 4
BT50-ER20-150 50.3  G16-ER20-150 6.7 ' '
BT50-ER20-200 1.0 C16-ER20-200 11.9 NT50-FMA38. 1-75 43. 6 R8-FMB22 16.0
BT50-ER : C20-ER20-100 6.7 NT50-FMA47. 625-75 92.6 R8-FMB27 16.0
20-ER20-250 819 620-ER20-150 6.7 NT50-FMA50. 8-75 554 R8-FMB32 17.1
BT50-ER20-300 100.4° 20-ER20-200 1.9 BT40-FMA25. 4-60 17.1  Re-FMB40 19.7
BT50-ER25-70 39.7 C20-ER20-250 16.0 BT40-FMA25. 4-100 19.7 C20-FMB22 16.0
BT50-ER25-100 39.7 C20-ER16-100 6.7 BT40-FMA31. 75-60 18.6  G207FMB27 160
BT50-ER25-150 50.3 C20-ER16-150 6.7 BT40-FMA31. 75-100 19.7 352:53532 17.1
BT50~ER25-200 61.0  G20-ER16-200 1.9 BTAO-FMA38. 1-60 197 a2 7
BT50-ER25-250 84.7 N 160 BT40-FMA38. 1-100 211 C25-FMB32 17.1
BT50-ER25-300 100.4 [N 77 BT50-FWA25. 4-60 4.4 C32-FHB22 18 6
AR 377 G20-ER25-100 104 BT50-FMA25.4-100 42.4  C32-FMB27 18.6
BT5 R3§'1 00 39.7 C20-ER25-150 10. 4 BT50-FMA25. 4-150 52.9 C3§:FMB§% 18.6
50-ER32-150 50.3 (£25-ER16-100 6.7 BT50-FMA25. 4-200 63.6  MISTFME2 1
BTS0-ER32-200 61.0 025-ER16-150 6.7 BT50-FMA25. 4-250 84.7 | \r3irvmes T
BT50-ER32-250 81.9 C25-ER16-200 1.9 BT50-FMA25. 4-300 1.1 | NTA-FNB22 o
BT50-ER32-300 97.9 C25-ER16-250 17.1 BT50-FMA31. 75-60 43. 6 MT4—FMB27 197
Bl g Zgo0 126.9 EEEEEE o7 BT50-FMA31.75-100 436 WT4-FWB32 19.7
BT50-ER32-400 158.9  C25-ER20-150 67 BT50-FMA31. 75-150 56.9  NT30-FNB22 18.6
BT50-ER40-100 42,40 I, 1 BT50-FMA31. 75-200 67.4  NT30-FMB27 18.6
BT50~ER40-150 52.9  G25-ER25-100 10.4 ' ' NT30-FMB32 18.6
: C25-ER25-150 11.9 BT50-FMA31. 75-250 87.4 :
BT50-ER40-200 63.6 : _ . NT40-FMB22 18.6
EeaE e C25-ER25-200 171 BT50-FMA31. 75-300 GLAN e
: 025-ER25-250 19.7  BT50-FMA38. 1-60 42.4 EEEELES e
BT50-ER40-300 105.7° 25-ER32-100 4.6 BT50-FMA38.1-100 450 NTAO-FMB4O 211
BT50-ER40-350 129.6  (¢25-ER32-150 17.1  BT50-FMA38.1-150 59.6  NT50-FMB22 42.4
ES0=Ei=I 158.9 C32-ER32-100 4.6 BT50-FMA47. 625-75 847 NT50-FMB27 42.4
BT50-ER50-150 81.9 |EHESEREZTAUD 18:6° BT50-FMA47. 625-200 198.3  NT50-FMB40-75 43.6
BT50-ER50-200 92.6 C32-ER32-250 22.4 BT50-FMA50. 8-75 55. 4 NT50-FMB32-150 52.9
BT50-ER50-250 121.7  CA0ZER40°100 177 BT50-FMA50. 8-100 8.9 [NLEIghMis g0l 63.6
BT50-ER50-300 158.9  CA40-ER32-100 17.1 : : NT50-FMB60-75 92.6
: ©32-ER40~100 18 6  BT50-FMA50.8-150 79.3

Erep

KbiTangarbl gonnapnblik Memine 6aracol KeiTanga.

ciage cypakTap TyblHOaca, afekTpoHAablK nowTa: eva@mzgtool.cn

YKyk TacbimangayaaH, canblKkTaH XXaHe anbiMHaH XXofapbl 6arara Kipmenai.

http://www.mzg.tw


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

GSK Xofapbl XblngamablKTbl XaHe C KyatThl Collet Toolholder SDC Back-Pull Collet Tool ycTaywbicbl SLN TapanblHaH TipkenreH ynrigeri kypan
YKorapbl 48NAIKTIH KypacTbIpyLbIChl

<
GSK High Speed And ;E'-‘.

High Oanaik Toolholder
Epekweniktep Baracel

NO. xCol letxL

C Powerful Collet Toolholder SDC Back-Pull Collet Toolholder SLN Side Fixed Type Toolholder

BT30-GSK10-60 20.3
g;gg:ggmg:zg %8 g Epexkweniktep Barachl Epexkweniktep Barachl
: NO. xCol letxL usbD NO. xCol letxL usb .
BT30-GSK16-90 20.3 Epekweniktep Baracbl
BT40-GSK10-60 23.9 R8-C32 63.6 BT30-SDC6-90 59.6 NO. xdxL usD
BT40-GSK10-100 23.9 NT30-C25 63.6 BT30-SDC8-90 59.6 =
BT40-GSK16-60 23.9  NI30-G32 63.6  BT30-SDC10-90 59.6 E¥§8_§tm§ 12: 8
BT40-GSK16-100 23.9  NT40-C25 636 BT30-SDC12-90 596 BT30-SLN20 16.0
NT40-C32-105 61.0 BT40-SDC6-90 63.6 BT30-SLN25 16.0
Collet SK10 7.1 MrAes2 (05", Br4o-spcg-90 3.6 BT30-SLN32 16.0
Collet SK16 9.0 MT6-C32 145. 4 BT40-SDC10-90 63.6 BT40-SLNO6-75 211
-4 BT40-SDC12-90 63.6 _LNOB—
MT6-C42 180.0 BT40-SLN08-75 21.1
Bearing Spanner 15.4 NT50-C32-105 92. 6 BT40-SDG6-120 79.3 BT40-SLN10-75 21.1
Dy ; BT40-SDC8-120 79.3 BT40-SLN12-7 171
NT50-C42-115 119.0 BT40-SDC10-120 793 S 5 >
MTA/ B Morse Taper kypacTbIpyLUbICbl BT30-C20-80 61.0 BT40—SDC1 2-1 20 79' 3 BT40-SLN16-75 17.1
MTA/B Morse Taper Toolholder BT30-C25-80 61.0 COLLET - BT40-SLN20-75 17.1
BT30-C32-105 61.0 BT40-SLN20-150 25.3
MITA ~ MTE Brao-c20-90 61.0  Collet SDC06 119 BT40-SLN25-100 17.1
- BT40-025-90 61.0  Collet SDCO8 119 BT40-SLN25-150 25.3
BT40-032-105 55.4 [EEEICEEIE 191 BT40-SLN32-100 17.1
- BT40-C42-100 105.7  Collet SDC12 131 BT40-SLN32-150 of 3
Epekweniktep Baracbl BT50-G20-105 92.6 BT40-SLN40-100 19.7
NO. xMT. . xL usb BT50-G25-105 92.6 TyTacTbIfFbIH yCTan TypaThiH Kypan BT50-SLN06-105 46.1
BT30-MTA2-75 16.0 g$gg:gg§:} (3)2 19025' 67 Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
BT30-MTA3-75 16.0 BT50-C32-165 119 0 BT50-SLN10-105 46.1
BT40-MTA1-120 26.4  BT50-G32-250 171.9 Ere o E
BT40-MTA1-45 18.6  BT50-632-300 224.7 S 5 39.
BT40-MTA2-120 25.3 BT50-C42-115 119.0 BT50-SLN25-105 39.7
BT40-MTA2-60 16.0 BT50-C42-135 132.4 BT50-SLN32-105 39.7
BT40-MTA3-135 25.3 BT50-C42-165 145. 4 > BT50-SLN40-105 42.4
BT40-MTA3-75 16.0 BT50-C42-200 171.9 o - BT50-SLN40-150 52.9
BT40-MTA4-165 31.7 BT50-C42-250 211.7 \ BT50-SLN40-200 63.6
BT40-MTA4-90 17.1 BT50-C42-300 259.3 BT50-SLN40-250 92.6
BT50-MTA1-120 55. 4 SK50-C32-110 171.9 : BT50-SLN40-300 105.7
BT50-MTA1-45 436 JT50-C32-110 171.9 Ne o S BT50-SLN50.8-120 5.4
BT50-MTA2-135 52.9 go::ei 8%2 g 2 BT50-J4112 119.0  G10-SLNA-100 s
—| — olle . . — - .
BTo0TA-150 2§ Cole032 3.6 EIbCelen 1324 C10-SLN4-150 22.4
BT50-MTA3-75 39.7  ColletC42 7.6 79.3 G10-SLN6-100 22.4
. Wrench 620/25/32/42 3.9 BT40-J4124 92.6 - _
BT50-MTA4-180 66. 1 MT3-J4112 74 0 C10-SLN6-150 22. 4
BT50-MTA4-90 39.7  Kypansi - MT4-34112 79' 3 C12-SLN4-100 22. 4
BT50-MTA5-105 43 ¢ OAirinenericreii Gypranay ugjugee . - C12-SLN4-150 22.4
5 MT5-J4124 100. 4 - —
BT50-MTA5-210 90.0 C12-SLN6-100 22. 4
Tool Shank Of . .
NT40-MTA2 18.6 2 C12-SLN6-150 22. 4
NT40-NTA3 18,6  Dil Chuek Tap Collets C12-SLN8-100 22.4
NT40-MTA4 18. 6 GT312 China Standard 16.0 C12-SLN8-150 224
_ _ \ GT312 Japanese Standard 18.6 C16-SLN10-100 22.4
NT50-MTA1-45 43.6 °
AT GT24 China Standard 197" C16-SLN10-150 22.4
NT50-MTA2-60 42.4 aT24 22 4
NT50-MTA3-75 42. 4 Japanese Standard . C16-SLN6-100 22. j
4
’ 4
.3
3
3
3
3
3

NT50-MTA4-90 42. Epekweniktep FELEISN Apanayiubl Xy3aepai yeTarbil yeTarbliibl G16-SLN6-150 22.
vsomis o | oo | iS00 2
BT40-MTB1-120 26,4 Abilie Dri Chuck 2 : C20-SLN10-100 25,
BT40-MTB1-45 18.6 BT30-APU08-80 37: 1 C20-SLN10-150 25.
BT40-MTB2-60 16.0 BT30-APU16-100 397 C20-SLN6-150 25.
BT40-MTB3-135 25.3 BT40-APU08-100 371 C20-SLN8-100 25.
BT40-MTB3-75 16,0 BT40-APU13-100 371 C20-SLN8-150 25.
BT40-MTB4-165 31.7 BT40-APU16-120 39.7

BT40-MTB4-90 17.1 BT50-APU13-110 58.1 . NT40-SLN12 19.7
BT50-MTB1-120 55.4 BT50-APU13-180 79.3 Ege"gﬁ’:'”ef Bau*':DC"' NT40-SLN16 19.7
BT50-MTB1-45 43. 6 BT50-APU16-130 62.1 - Moo\ o NT40-SLN25 19.7
BT50-MTB2-135 52.9 BT50-APU16-180 84.7 BT40-SCA22-90 65.4 NT40-SLN32 19.7
BT50-MTB2-60 39.7 NT30-APU13-100 39.7 BT40-SCA25. 4-90 65.4 NT50-SLN12 42.4
BT50-MTB3-150 52.9 NT40-APU13-100 39.7 BT40-SCA25. 4-120 83.3 NT50-SLN16 42. 4
BT50-MTB3-75 39.7 NT30-APU16-120 42,4 BT40-SCA27-90 65. 4 NT50-SLN20 4.4
BT50-MTB4-180 66. 1 NT40-APU16-120 42.4 BT40-SCA32-90 65.4 NT50-SLN25 42.4
BT50-MTB4-90 397 O3piriHeH TericTeiTiH Gyprbinay UieTkdce1- T NT50-SLN32 42. 4
BT50-MTB5-105 43. 6 OspiriHeH TericTenTiH Gypfbinay UleTza@% ~Mouwnna WNUHAENiH cbiHay poni NT50-SLN40-105 43. 6
BT50-MTB5-210 90.0 C20-APU13 gl g Machine Tool Spindle Test Rod NT50_SLN42—1 05 47.6
NT40-MTB2 18.6  S20-APUIS L g r —— 5 NT50-SLN50. 8-120 55. 4
NT40-MTB3 e 37 — J

NT40-MTB4 18.6 R8-APU16 343 . 18020-11. 3—Probe 40.4
NT50-MTB1-45 43. 6 - 30. 4 Epekweniktep Baracsl 1S025-11. 3—Probe 40. 4
NT50-MTB2-60 1.4 NS 30, 4 1, 20 UsD 15025-20~Probe 40. 4
NT50-MTB3-75 42. 4 - 33.1 BT30 92.9

NT50-MTB4-90 42.4 mi_ﬁiﬂlg 331 BT40 92.9  HSK32E-11. 3Probe 82.1
NT50-MTB5-105 43.6  APU Wrench (08/13/16) 1.9 BT50 131.0

XKyk TacbimangayaaH, canblKkTaH XaHe anblMHaH XXofapbl 6arafa Kipmenai.
KbiTangarbl gonnapnblk Mamine 6aracbl KbiTanaa.
E r e p cisgecypakTap TyblHOaca, aNekTpoHablk nowTa: eva@mzgtool.cn

N
oo

http://www.mzg.tw


http://www.mzg.tw

CNC kypanbl neciHiH akceccyapnapbl

CNC Tool Holder Accessories

CNC KypanblHblH yCTafbllWblH TAPTKbIW 6onT CNC KyparnblHbIH yCTafbIWbIH KyfbinTay CNC KyparnblHbIH yCTafbILWbIH K CNC KypanblHbIH yCTafblWbIH KybinTay
CNC Tool Holder Puller Bolt CNC Tool Holder Lockset CNC Tool Holder Lockset CNC Tool Holder Lockset
45 /60°/90°
BT DIN69872 1S MAZAK

Epekweniktep ETJFSaI;:bI Epekweniktep E%Fsal;:bl Epekweniktep ETJFSaDCbI Epekweniktep ETJFSQDCH
BT30-45° 1.4 NBT30 14.3 18020 59.6 BT30 17.9
BT30-60° 1.4 18025 59.6 BT40 19.0
g;?g_zgo 1 . Z HSK25 59.6 BT50 38.1

-45° . HSK32 59.6
BT40—45: Tecik apKbirb! 1.9 HSK40 71. 4
BT40-60° 1.9 HSK50 71.4
g%‘rg‘zgo 13 ‘1? HSK63 83.3
BT50—45° Tecik apKbinbi 3.6 0 9.0
BT50-60° 3.6 )
BT50-60° Tecik apkbirisl 3.9 Z-Axis Setter CNC Edge Finder Mauuha wnungenin Tasanay poni
BT50—90° 3.6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
DIN69872-30 3.6
DIN69872-40 3.6
DIN69872-50 6.0
1S07388-30 4.6
1507388-40 4.6
1S07388-50 6.0
J1586339-30 3.6
J1S6339-40 3.6
J1§6339-50 g 2 DoTOINEKTPAIK Kapanaiibim AHTUMamMuUTUkan&gramic doToanekTpnik
mx%ﬁﬁ_glgg 6: 0 Epexwenikrep Barachl Epexwenikep Barachl Epekweniktep Barachl
usb usb NO. usb
dotoanekTpnik Z-axis Setter 61. 9 Kapanaiibim type 2.4 BT30 3.9
T e p y Z-axis Setter 66.7 AHTUMaMUTUKanNbIK type 3.6 BT40 3.9
Kepamukarnsik marHut type | 10.7 BT50 5.4
doToanekTpik type 13.3

JKyk TacbiMangayaaH, canblKTaH XXaHe anbIMHaH XXofapbl barafra Kipmengi.

blTangarbl gonnapnblk Mamine 6aracoel KeiTanga.
- . . Bres A e http://www.mzg.tw

r e p cisgecypakrap TyblHAaca, anekTpoHAbIK nowTa: eva@mzgtool.cn


http://www.mzg.tw

LlaHblIWKakK akceccyapnapsbl

Lathe Chuck Accessories

Chuck T Block
[ nwempoe (PAFace

Chuck T Block UsSD
5 inch 10.7
6 inch 11.9
> 8 inch 15. 4
10 inch 19.0
12 inch 22.1
Yak sinoHbIH GekiTy nanTacs!
Epekweniktep AWS Barachbl 2 JAWS Barachbl 3 JAWS Barachbl 4 JAWS Baracbl Chuck Jaw Fixing Plate enwemaepi SaUFsaDCb
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS-204 | - 5 Tan 619
5 inch SBL-205 | 435.3 | SB-205 | 435.3 | SBS-205 | 482.9 ,ﬁ & inch e
LyHKbIpnb! ruapasnukaneik yal i nch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9 e 2 8 inch 107'1
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 > 10 Inch :
10inch SBL-210 | 697.6 | SB-210 | 697.6 | SBS-210 | 800.0 inc 115.4
Hollow Hydraulic Chuck | 12inch SBL-212 | 1190.4| SB-212 |1190.4| SBS-212 | 1326. 1
15inch SBL-215 | 2642.9| SB-215 |2642.9| SBS-215 |3000. (0  KarrelrmapasnucansikGypeineic uinuap
Yaken anadparma [ 4 jpch 2DTK-206 | 647.6 | 3DTK=206 | 647. 6 | 4ADTK=206| 714.3  solid Hydraulic enwemgepi
e T8 _inch 2DTK-208 | 782. 1 | 3DTK-208 | 782. 1 |4DTK=208 | 869.0  Retary Cylinder :
Hollow Hydraulic Chuck | 10inch 2DTK-210| 935. 7 | 3DTK-210| 935. 7 | 4DTK-210 | 1038. 1| e g !ncmgg;g;
Younotpecs |4 ingh 3JDB~206 | 988. 1 ) inc 131.0
T | A 3JDB-208 | 11214 , 8/10inch(1225) 150.0
Hollow Hydrautio Chuck | 101inch 3JDB-210 | 1258. 3 12 inch(1530) |197.6
uiw Half-Through |5 1MCh SBL-205KQ| 595. 3 | SB-205KQ | 547. 6 [SBS-205KQ| 666.7 = .
MueomatnnanaDdbeinch SBL-206KQ| 631.0 | SB-206KQ | 611.9 |SBS-206KQ| 714. 3 YHCIPIEl TMAPSRNUIAN L P Ri s AT D
Hollow Half-Through |8 inch SBL-208KQ| 714.3 | SB-208KQ | 681. 0 |SBS-208KQ| 788. 1 Hollow Hydraulic Onwempaepi
Pneumatic Chuck | 10 jnch SBL-210KQ| 785.7 | SB-210KQ | 750. 0 |SBS-210KQ| 908.6  Rotary Cylinder -
4 inch INL-04 | 428 .6 | JIN-04 | 401 1 g !ncﬂ(ﬁgg%
5 inch INL-05 | 452 4 | IN-05 | 409 6 inch(1036) 1273,
6 inch INL-06 | 500.0 | JIN-06 | 459 6 6 inch(1246) |306.0
Karel mapasnakansik sak| g oy INL-08 | 547.6 | JIN-08 | 511.9 8 inch(1552) |357.1
Solid Hydraulic Chuck 10inch JNL-10 714.3 JN-10 666. 7 10 |nch(1875) 647.6
12inch INL-12 | 1119.0| JN-12 | 1088.1 12 inch(2091) 1309.6
15inch INL-15 IN-15 | 2309. 6 TS p— -
5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3 .
Karrei pasnmansicuax| 6 inch| 1L-06 | 595.3 | 2-06 | 544.0 | 3L-06 | 6429 Chuck Gonnecting Disc
~Long Stroke 8 inch| 1L—08 619.0 2L-08 542.9 3L-08 666.7 4 inch
Solid Hydraulic Ghuck | 10inch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0 5 el 214
LUyHKblpntls:;ZgLii%ianbmug :222 jtg:ggg EZ(Z)Z g I:':]CC}';] %;‘71
Hol\ovl;ol—rl‘sdrsz:t:?ilt(:eChuck 10inch JLS-210 | 1038. 1 10 inch 47j6
12 inch 71.4

mapasnukaneik TpyGkanap yiiH KaTTel AXUHC

Hard Jaw For ©nwempaepi
Hydraulic Chucks
5 inch

6 inch 119.0
8 inch 131.0
». 10 inch 163.1
Epekweniktep Baracl Baracsl Bafackl 4 JAWS | Baracsl v 12 '.nCh 204.7
. 15 inch 369.0
Hatrs "o g":g:’g? Sontd" 6 H! B51| 3GB-06 | 720.3 T VM A pasnw«an s xinimwekrep ywik xenaeTkiwTin x
Hyzrauhc Chuck 8 inch 3GB-08 839.3 aracn, !
soprmcanas |5 inCh JYL-05 | 738.1 | JY-05 714.3 [JYS-05 [ 833.3  Fan Soituaw For ©nwemaepi 27
LUYHKbIpRbI rwnpaanwkanbmqa@ inch JYL—Oé 785.7 JY—06 761.9 JYS—Oé 904.7 5 inch
Vertical Hollow 8 inch JYL-08 928. 6 | JY-08 904.7 | JYS-08 976.1 6 inch
Hydraulie Chuck | 10jnch JYL-10 [ 1023.9|JY-10 988.1 |JYS-10 | 1107.1 . ',’:]Cch
\ i
’ 5 inch SBL-205KQL| 714.3 | SB-205KQL | 690.4 |SBS-205KQL| 785.7 .
T o 4 inch SBL-206KAL| 773 9 | SB-206KAL | 750 0 |SBS-206KGL| 857 1 U Tl
Hollow Half-Through |8 inch SBL-208KQL| 904.7 | SB-208KGL | 881.0 |SBS-208KAL| 952.4 12 inch
Vertical MueswatukanwCI04ach SBL-210KQL| 976.1 | SB-210KQL | 952.4 [SBS-210KQL| 1071. 4 15 inch
Fvwapa B[] TpPpYy gog1§0m ap DLUiH)IgME%RpraK 2°=120° 2°=120° a°=120°

Soft Jaw For
Hydraulic Chucks

5Twapacnnrany o n D x xinria n i ] XininwexTepre SPHBman RymoBIDKins a n o [ xininwex winria 1w O] apHanran xymc:

5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

Baracb ; Barach| ; Barach| ; Barach)| f
wemm H Onwemaepi H Onwewmaepi H ©nwempaepi H ©nwemaepi
A usD LEp usD A2 usD P usD D

5H40 40 | 13.6 6H50 50 | 17.1 8H40 40 | 204 10H50 50 | 23.9 12H60 60 | 346

5H50 50 | 17.1 6H60 60 | 20.4 8H50 50 | 20.4 10H60 60 | 27.4 12H70 70 | 404
5H60 60 |20.4 6H70 70 | 23.9 8H60 60 |23.9 10H70 70 | 31.0 12H80 80 (47.6
5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 | 27.4 10H80 80 | 34.6 12H90 90 | 59.6

A B R Bo T ek GHBBor B 303 6HIO 90 324 8H80 80 [31.0 10H90 | 90 | 417 12H100 | 100|739

5H90 90 | 453 BH100 | 100 |37.6 8H90 90 357 10H100 | 100 | 50.0 12H120 | 120 | 80.0
100 | 511 6H120 | 120|511 8H100 | 100 |42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0
6H130 | 130 | 56.0 8H120 | 120 |51.1 10H120 | 120 | 596 a°=120°
BH150 | 150 [619 BH130 | 130|547 10H130 | 130 |68.1 15 1%7 "o w0 iwercyecme
8H140 | 140 | 654 10H150 | 150 | 80.0
8H150 | 150 | 69.0 10H170 | 170 |102.4 CRTELLY
8H200 | 200 |135.7 10H180 | 180 |109.6

15H100 | 100 |154.7

10H200 | 200 |146.4 451120 | 120 |170.3

15H150 | 150 |257.1

YKyk TacbimangayaaH, canblkTaH XXeHe anbiMHaH Xofapbl 6arara Kipmenai.
KelTangarbl gonnapnbeik mamine 6aracbl KeiTanga.
E r e p cisgecypakrap TyblHAaca, 9aNeKTpoHAbIK NowTa: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Twitter

Linkedin

CkaHepney, bannaHbicy

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

